3
4 1/4"
7

RIDGE SUPPORT

BEAM (77B OR 5CB|2)
(9 (OPTIONAL STEEL INSERT INTO 7TB)

EXTRD ALUMINUM
SUPPORT BEAM POST

(TBP) OR (7TB) @&

SOLID OR (OPTIONAL FIXED GLASS)

TRAPEZOID PANEL

S0LID ROOF PANELS

ALUM "H" BEAMS

EXTRD ALUMINUM FIXED
OR ADJUSTABLE RIDGE

@ vty H (D H-CHANNEL A7el11

@ UTILITY-H COVER

FILL PANEL

NOTE!

CALCULATIONS SHALL BE PREPARED BY A DESIGN PROFESSIONAL
AND SUBMITTED TO THE BUILDING OFFICIAL DEMONSTRATING THE
DESIGN SNOW LOADS DO NOT EXCEED THE ALLOWABLE ROOF
SNOW LOADS SPECIFIED ON THE PLANS. AND THAT CALCULATIONS
SHALL ADDRESS THE SNOW LOAD PREVISION OF IBC SECTION 1608
INCLUDING, BUT NOT LIMITED TO, RAIN—ON—SNOW SURCHARGE LOAD,
UNBALANCED SNOW AND SNOW DRIFT. (AC 340 SECTION 5.5)

RIDGE FOR 4:12 UNITS ()@@
FOR ALL OTHER PITCHE.5

90 DEG CORNER (A#7C9 ) (B)

NOTE:

STANDARD SLIDING —\

WINDOW TYP.
L TO R AS VIEWED
FIROM OUTSIDE)

RIDGE

RDSE @

41/4" ®@

1

GUTTER FASCIA

ROLLED ALUM GUTTER

H— H-CHANNEL A7111 (D

[—utLirr eave @

(A7#144)

UTILITY EAVE COVER (A#56T)

N~ FILL PANEL

siLL (As7Cs ) (®

G6LASS OR SOLID
KICK PANEL

H-CHANNEL A7#111 (D)

SLIDER WINDOW

PR TR

IAPMO

UES ER-110

[

NOTE: EAVE
COULD ALSO

KICK PANEL

/ FRONT ELEVATION
FIXED 6LASS OR SOLID

EXTRD ALUMINUM
EAVE TOP @)

EXTRD ALUMINUM
EAVE BOTTOM (9)

OPTIONAL
DUAL SLIDING WINDOW
(AS VIEWED FROM OUTSIDE)

|. SEE DRAWINGS "GENERAL-03" THROUGH "GENERAL-O&"
FOR ALL ITEM NUMBERS. @

230 SUN & SHADE

CATHEDRAL MODEL

ROI1O

|APMO EVALUATION REPORT

VA

™S

! 2
FIXED 6LASS OR SOLID

KICK PANEL

RIGHT SIDE ELEVATION

IE

F3N— OPTIONAL

| Reverse sLbiNe
1 | winpow

5 | R TOL AS VIEWED
5] | FroM oursie)

4

===

FOUR SEASONS SOLAR PRODUCTS, LLIC.
5005 VETERANS MEMORIAL HIGHWAY
HOLBROOK, NEW YORK 11741
DESIGNERS AND MANUFACTURERS
OF FOUR SEASONS SUNROOMS

wl
<
Z
X
w & 9
| o N
= 1l
- OO
O S
Z| © éﬁ
= O
< 0/
V| N T
O\
W)
e <<
o O
[
W)
REV. No.| DATE | BY
1 Z—10— 1% R
/5\7—15—22 RD
REVIEWED BY: AS
DWG. BY: RD
DATE: 1-10-11
JOB4:

SHADECATH-01

1 o 22



AutoCAD SHX Text
92

AutoCAD SHX Text
94M

AutoCAD SHX Text
94F

AutoCAD SHX Text
2A

AutoCAD SHX Text
90

AutoCAD SHX Text
89

AutoCAD SHX Text
88

AutoCAD SHX Text
24

AutoCAD SHX Text
2

AutoCAD SHX Text
73

AutoCAD SHX Text
69

AutoCAD SHX Text
69

AutoCAD SHX Text
68

AutoCAD SHX Text
70

AutoCAD SHX Text
85

AutoCAD SHX Text
86

AutoCAD SHX Text
87

AutoCAD SHX Text
1

AutoCAD SHX Text
91

AutoCAD SHX Text
EXTR'D ALUMINUM FIXED  RIDGE FOR 4:12 UNITS OR ADJUSTABLE RIDGE  FOR ALL OTHER PITCHES

AutoCAD SHX Text
8

AutoCAD SHX Text
6

AutoCAD SHX Text
24

AutoCAD SHX Text
84

AutoCAD SHX Text
83

AutoCAD SHX Text
79

AutoCAD SHX Text
80

AutoCAD SHX Text
81

AutoCAD SHX Text
82

AutoCAD SHX Text
96M

AutoCAD SHX Text
96F

AutoCAD SHX Text
93

AutoCAD SHX Text
95M

AutoCAD SHX Text
95F

AutoCAD SHX Text
28

AutoCAD SHX Text
27

AutoCAD SHX Text
1

AutoCAD SHX Text
66

AutoCAD SHX Text
1

AutoCAD SHX Text
EXTR'D ALUMINUM EAVE TOP

AutoCAD SHX Text
EXTR'D ALUMINUM EAVE BOTTOM

AutoCAD SHX Text
NOTE:  EAVE COULD ALSO BE

AutoCAD SHX Text
UTILITY-H COVER  

AutoCAD SHX Text
FILL PANEL

AutoCAD SHX Text
SOLID OR (OPTIONAL FIXED GLASS) TRAPEZOID PANEL

AutoCAD SHX Text
UTILITY "H"  

AutoCAD SHX Text
ALUM "H" BEAMS 3"   4 1/4"   7"  

AutoCAD SHX Text
FASCIA 3"   4 1/4"   7"  

AutoCAD SHX Text
EXTR'D ALUMINUM SUPPORT BEAM POST (7BP) OR (7TB)

AutoCAD SHX Text
RIDGE SUPPORT BEAM (7TB OR 5CB12) (OPTIONAL STEEL INSERT INTO 7TB)

AutoCAD SHX Text
SOLID ROOF PANELS 3"   4 1/4"   7"  

AutoCAD SHX Text
UTILITY EAVE (A7*144)

AutoCAD SHX Text
H-CHANNEL A7*111

AutoCAD SHX Text
90 DEG CORNER (A*7C9 )

AutoCAD SHX Text
RIGHT SIDE ELEVATION

AutoCAD SHX Text
FRONT ELEVATION

AutoCAD SHX Text
ROLLED ALUM GUTTER

AutoCAD SHX Text
UTILITY EAVE  (A7*144)  UTILITY EAVE COVER (A*5GT)

AutoCAD SHX Text
STANDARD SLIDING WINDOW TYP. (L TO R AS VIEWED FROM OUTSIDE)

AutoCAD SHX Text
RIDGE  3"   4 1/4"   7"  

AutoCAD SHX Text
FILL PANEL

AutoCAD SHX Text
GLASS OR SOLID  KICK PANEL

AutoCAD SHX Text
SLIDER WINDOW

AutoCAD SHX Text
SILL (A*7CS )

AutoCAD SHX Text
H-CHANNEL A7*111

AutoCAD SHX Text
H-CHANNEL A7*111

AutoCAD SHX Text
GUTTER FASCIA

AutoCAD SHX Text
OPTIONAL DUAL SLIDING WINDOW (AS VIEWED FROM OUTSIDE) 

AutoCAD SHX Text
FIXED GLASS OR SOLID  KICK PANEL

AutoCAD SHX Text
FIXED GLASS OR SOLID  KICK PANEL

AutoCAD SHX Text
OPTIONAL REVERSE SLIDING WINDOW (R TO L AS VIEWED FROM OUTSIDE)

AutoCAD SHX Text
NOTE: 1.  SEE DRAWINGS "GENERAL-03" THROUGH "GENERAL-06"    FOR ALL ITEM NUMBERS. 

AutoCAD SHX Text
230 SUN & SHADE CATHEDRAL MODEL IAPMO EVALUATION REPORT R0110

AutoCAD SHX Text
X

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-01

AutoCAD SHX Text
1

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
SERIES 230 SUN & SHADE

AutoCAD SHX Text
CATHEDRAL DESIGN

AutoCAD SHX Text
SHALL ADDRESS THE SNOW LOAD PREVISION OF IBC SECTION 1608

AutoCAD SHX Text
INCLUDING, BUT NOT LIMITED TO, RAIN-ON-SNOW SURCHARGE LOAD,

AutoCAD SHX Text
DESIGN SNOW LOADS DO NOT EXCEED THE ALLOWABLE ROOF

AutoCAD SHX Text
AND SUBMITTED TO THE BUILDING OFFICIAL DEMONSTRATING THE

AutoCAD SHX Text
CALCULATIONS SHALL BE PREPARED BY A DESIGN PROFESSIONAL

AutoCAD SHX Text
SNOW LOADS SPECIFIED ON THE PLANS. AND THAT CALCULATIONS

AutoCAD SHX Text
%%UNOTE!

AutoCAD SHX Text
UNBALANCED SNOW AND SNOW DRIFT. (AC 340 SECTION 5.5)

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD


XX
92

O

X

VAN

TR

N

X

5! _0“ 5I _oll
SLIDING SLIDING
WINDOW WINDOW

e

VAN

X5
XX

XD

7

X0

e

X2

X2

X

e

X

e

VAN

RXXD

VAVAN

757

SRRRERRRARRRRK
RS

LRSS

LRRERLKERKS

—=— SEE CHART THIS PAGE

12'-0" MAXIMUM

12'-0" FRONT WALL

4" THICK ROOF PANELS (SHOWN)
4/12 SLOPE

XXX

VAVAN

OO

XXX

X

X
e

VAN

XXX

N

e

O
9

N
VAN

X

XX

X
e

VAN

O
@

X
e

AV
Q

O
AN

\Vg
X
7

X

VAN

XD

X
e

O

X

AV
Q

e

VAN

X>
X

= SEE CHART THIS PAGE

14-0" MAXIMUM

|4'-0" FRONT WALL

4" THICK ROOF PANELS (SHOWN)
4/12 SLOPE

S

3AT4LH

SLIDING
WINDOW

—

~— SEE CHART THIS PAGE

16'-0" MAXIMUM

|6'-0" FRONT WALL

4" THICK ROOF PANELS (SHOWN)
4/12 SLOPE

GLASS TRAPS ARE STANDARD /\
FOR 4/12 SLOPE ONLY. ! N
™~ o)
. 4AATARH 4ABT4RH 4BTALH 4ATALH E
0" I8 | ©
MAXIMUM 1 4-0" 0" Lo" Lo" E
OVERHANG M1 SLIDING SLIDING SLIDING SLIDING
WINDOW WINDOW WINDOW WINDOW ‘&
; . g
o N
N
TYPICAL g 0
ALL WINDOWS CAN BE—" | ] | R
DUAL SLIDING. 4 |
18'-0" MAXIMUM

18'-0" FRONT WALL

4" THICK ROOF PANELS (SHOWN)
4/12 SLOPE

|APMO
UES ER-110

SERIES 230 SUN ¢ CATHEDRAL

MODEL CONFIGURATION

FOUR SEASONS SOLAR PRODUCTS, LLC.

HOLBROOK, NEW YORK 11741
DESIGNERS AND MANUFACTURERS

5005 VETERANS MEMORIAL HIGHWAY
OF FOUR SEASONS SUNROOMS

ROOM o T | N FEiGr
MODEL NDmi- | PROJECTION | 4/12 SLOPE
4" ROOF PANEL

FROE"I:C\J/'\IIALL M&TSLM SEENOTE | | 9-3 7/l¢"
FIQOlstc\)ll\IIALL MlAﬁl_hale SEE NOTE | | 9-7 7/1e"
FI?Olrle'ch\)/l\IIALL MlA?<'I_hc/JIlIJM SEENOTE | | 9-11 7/1€"
FIQOlr?I'II:C\)I;;ALL MlA?;I_lale SEE NOTE | | 10-3 7/16"
Fraghﬁl:%\l_l_ Mf\%iﬁ’u"M SEE NOTE | | 10-7 7/16"
o220 | W20, | seENOTE 1| 10-11 7716
FRONT WAL | M | SEENOTE 1| 11-3 7/16"

20'-0" FRONT WALL

4" THICK ROOF PANELS (SHOWN)
4/12 SLOPE

TYPICAL
ALUMINUM, SLATE,
GLASS KICKS, AND CONSERVAWALL
ARE OPTIONAL.
STUCCO KICKS ARE STANDARD.

NOTE:
|. FOR UNIT WIDTH SEE DRAWING "4".

1)
SBTALH 2
Q
1 (] 1 1] 1 " 1 (] Q
SLIDNG sLDNG ! sLIDNG SLIDING (=
WINDOW WINDOW WINDOW WINDOW v
<
xI
| O
J1N)
ul
\
|
LKl | b
20'-0" MAXIMUM

2. ALL RIDGE HEIGHTS BASED ON 80-15/16" UNDERSIDE OF EAVE HEIGHT.

THESE HEIGHTS CAN VARY WITH THE USE OF TRANSOMS

¢ DIFFERENT SIZED KICK PANELS.

3. WHEN DETERMINING THE RIDGE HEIGHTS, USING THE 3" THICK ROOF PANEL

SUBTRACT |-1/4" FROM RIDGE HEIGHT. WHEN USING THE 7" THICK

ROOF PANEL ADD 3-5/16" TO RIDGE HEIGHT.

DRAWING TITLE
FRONT WALL ELEVATIONS
SUN ¢ SHADE CATHEDRAL

-31-15 RD

0—-1-18 RD

9-24—-19 RD

/5\7—15—22 RD

REVIEWED BY: AS

DWG. BY: RD

DATE: 1-10-11

JOB#:

SHADECATH-02

2 OF 22



AutoCAD SHX Text
24'-0" FRONT WALL

AutoCAD SHX Text
22'-0" FRONT WALL

AutoCAD SHX Text
20'-0" FRONT WALL

AutoCAD SHX Text
18'-0" FRONT WALL

AutoCAD SHX Text
16'-0" FRONT WALL

AutoCAD SHX Text
14'-0" FRONT WALL

AutoCAD SHX Text
12'-0" FRONT WALL

AutoCAD SHX Text
SERIES 230 SUN & CATHEDRAL MODEL CONFIGURATION

AutoCAD SHX Text
NOTE: 1.  FOR UNIT WIDTH SEE DRAWING "4". 2. ALL RIDGE HEIGHTS BASED ON 80-15/16" UNDERSIDE OF EAVE HEIGHT.    THESE HEIGHTS CAN VARY WITH THE USE OF TRANSOMS     & DIFFERENT SIZED KICK PANELS. 3. WHEN DETERMINING THE RIDGE HEIGHTS, USING THE 3" THICK ROOF PANEL    SUBTRACT 1-1/4" FROM RIDGE HEIGHT. WHEN USING THE 7" THICK    ROOF PANEL ADD 3-5/16" TO RIDGE HEIGHT.

AutoCAD SHX Text
3AT4RH

AutoCAD SHX Text
16'-0" FRONT WALL

AutoCAD SHX Text
 4" THICK ROOF PANELS (SHOWN) 4/12 SLOPE

AutoCAD SHX Text
6AT4RH

AutoCAD SHX Text
14'-0" FRONT WALL

AutoCAD SHX Text
 4" THICK ROOF PANELS (SHOWN) 4/12 SLOPE

AutoCAD SHX Text
5AT4RH

AutoCAD SHX Text
 4" THICK ROOF PANELS (SHOWN) 4/12 SLOPE

AutoCAD SHX Text
12'-0" FRONT WALL

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
3'-0"

AutoCAD SHX Text
4AT4RH

AutoCAD SHX Text
4'-0"

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
6'-0"

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
5'-0"

AutoCAD SHX Text
4AT4RH

AutoCAD SHX Text
4AT4RH

AutoCAD SHX Text
ALUMINUM, SLATE,  GLASS KICKS, AND CONSERVAWALL ARE OPTIONAL. STUCCO KICKS ARE STANDARD.

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
3'-0"

AutoCAD SHX Text
4AT4LH

AutoCAD SHX Text
3AT4LH

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
4'-0"

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
6'-0"

AutoCAD SHX Text
6AT4LH

AutoCAD SHX Text
4'-0"

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
TYPICAL

AutoCAD SHX Text
GLASS TRAPS ARE STANDARD FOR 4/12 SLOPE ONLY.

AutoCAD SHX Text
5AT4LH

AutoCAD SHX Text
5'-0"

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
4'-0"

AutoCAD SHX Text
TYPICAL

AutoCAD SHX Text
ALL WINDOWS CAN BE SINGLE SLIDING OR DUAL SLIDING.

AutoCAD SHX Text
4AT4LH

AutoCAD SHX Text
 4" THICK ROOF PANELS (SHOWN) 4/12 SLOPE

AutoCAD SHX Text
20'-0" FRONT WALL

AutoCAD SHX Text
5'-0"

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
5BT4LH

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
5'-0"

AutoCAD SHX Text
5BT4RH

AutoCAD SHX Text
4'-0"

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
4AT4LH

AutoCAD SHX Text
 4" THICK ROOF PANELS (SHOWN) 4/12 SLOPE

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
4'-0"

AutoCAD SHX Text
4BT4LH

AutoCAD SHX Text
4'-0"

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
4BT4RH

AutoCAD SHX Text
18'-0" FRONT WALL

AutoCAD SHX Text
4'-0"

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
ROOM MODEL

AutoCAD SHX Text
11'-3 7/16"

AutoCAD SHX Text
24'-0" MAXIMUM

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
9'-3 7/16"

AutoCAD SHX Text
RIDGE  HEIGHT 4/12 SLOPE 4" ROOF PANEL

AutoCAD SHX Text
9'-7 7/16"

AutoCAD SHX Text
9'-11 7/16"

AutoCAD SHX Text
10'-3 7/16"

AutoCAD SHX Text
10'-7 7/16"

AutoCAD SHX Text
10'-11 7/16"

AutoCAD SHX Text
 MAX. UNIT FRONT WALL  WIDTH

AutoCAD SHX Text
12'-0" MAXIMUM

AutoCAD SHX Text
UNIT PROJECTION

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
14'-0" MAXIMUM

AutoCAD SHX Text
16'-0" MAXIMUM

AutoCAD SHX Text
18'-0" MAXIMUM

AutoCAD SHX Text
20'-0" MAXIMUM

AutoCAD SHX Text
22'-0" MAXIMUM

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-02

AutoCAD SHX Text
2

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
FRONT WALL ELEVATIONS

AutoCAD SHX Text
SUN & SHADE CATHEDRAL

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD


|APMO

&)
-
|
UES ER-110 | &
o Ezfy
S SR ES
o 52
SIEPEE
GLASS TRAPS ARE STANDARD n SERIES 230 SUN ¢ CATHEDRAL o g S E A
FOR 4/12 SLOPE ONLY. |\ MODEL CONFIGURATION § He S22
— ~ <] o
w RIDGE ] ,Zan
) ROOM MAX, UNIT | iy HEIGHT PIEANE:
SAT4R T4 | SCTaH SATALH N & mobeL | PRONT WAL | prosecTion | 4/12 sLope zl 5w
~ > > » o 4 RocF PAEL S ESgw
" " o - 1 Ul ] " 4 m <3l
SLIDNG SLIDING SLIDING SLIDING 12'-0' 12'-0 | " o
WINDOW WINDOW | WINDOW WINDOW ‘g('c FRONT WALL | MAxMuM | SEENOTE I 9-37/l6 = E é E =
T n
S 140" 140" . ' B8 Ho
d i FRONT WALL | MAxmum | SEENOTE T} 9-77/16 28 A
TYPICAL J O =
ALL WINDOWS CAN BE 16-0" 16-0" \ "
SINGLE SLIDING OR (RIS FRONT WALL | Maximum | SEENOTE 1| 9-117/16
000’000000
PUAL SLIDING. 1g'-0" 18-0" | gep NnotE 1| 10-3 7/16"
20-0" 20-0" . "
SEE NOTE | | 10-7 7/16
22'_0” FRONT WALL FRONT WALL MAXIMUM
4" THICK ROOF PANELS (SHOWN) 22-0" 22-0" | geg NoTE || 10-11 7/16"
PICAL 4712 S5LOPE FRONT WALL | MAXIMUM
ALUMINUM, SLATE, 24-0" 24-0" | gep NoTE || 1143 /18"
GLASS KICKS, AND CONSERVAWALL FRONT WALL | MAXIMM
ARE OPTIONAL. 9 Z
STUCCO KICKS ARE STANDARD. | % o
NOTE: = 2
Nl . FOR UNIT WIDTH SEE DRAWING "4". — <>( I
2. ALL RIDGE HEIGHTS BASED ON 80-15/16" UNDERSIDE OF EAVE HEIGHT. — n \E
THESE HEIGHTS CAN VARY WITH THE USE OF TRANSOMS ) 1 O
Ry ¢ DIFFERENT 5IZED KICK PANELS. = n i
SDT4RH g 3. WHEN DETERMINING THE RIDGE HEIGHTS, USING THE 3" THICK. ROOF PANEL § j Y
» ” | » » 9 SUBTRACT I-1/4" FROM RIDGE HEIGHT. WHEN USING THE 7" THICK =l = <
SLIDING SLIDING SIDNG 5LIDING = ROOF PANEL ADD 3-5/16" TO RIDGE HEIGHT. v = %
WINDOW WINDOW WINDOW WINDOW \& O —
<< )
| % S 2
Y3
|
|
|
24'-0" MAXIMUM REV. No°_| DATE | BY
1
24""0" FQONT WALL 0-1-18  RD
4" THICK ROOF PANELS (SHOWN) NS
4/12 SLOPE
/5\7—15—22 RD
REVIEWED BY: AS
DWG. BY: RD
DATE: 1-10-11
JOB4:

SHADECATH-03

3 OF 22



AutoCAD SHX Text
ALUMINUM, SLATE,  GLASS KICKS, AND CONSERVAWALL ARE OPTIONAL. STUCCO KICKS ARE STANDARD.

AutoCAD SHX Text
GLASS TRAPS ARE STANDARD FOR 4/12 SLOPE ONLY.

AutoCAD SHX Text
6'-0"

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
TYPICAL

AutoCAD SHX Text
TYPICAL

AutoCAD SHX Text
ALL WINDOWS CAN BE SINGLE SLIDING OR DUAL SLIDING.

AutoCAD SHX Text
 4" THICK ROOF PANELS (SHOWN) 4/12 SLOPE

AutoCAD SHX Text
24'-0" FRONT WALL

AutoCAD SHX Text
 4" THICK ROOF PANELS (SHOWN) 4/12 SLOPE

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
6AT4RH

AutoCAD SHX Text
5'-0"

AutoCAD SHX Text
5DT4RH

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
6'-0"

AutoCAD SHX Text
6AT4LH

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
5'-0"

AutoCAD SHX Text
5DT4LH

AutoCAD SHX Text
22'-0" FRONT WALL

AutoCAD SHX Text
5CT4RH

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
5'-0"

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
5'-0"

AutoCAD SHX Text
5AT4RH

AutoCAD SHX Text
5'-0"

AutoCAD SHX Text
5CT4LH

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
5'-0"

AutoCAD SHX Text
5AT4LH

AutoCAD SHX Text
WINDOW

AutoCAD SHX Text
SLIDING

AutoCAD SHX Text
NOTE: 1.  FOR UNIT WIDTH SEE DRAWING "4". 2. ALL RIDGE HEIGHTS BASED ON 80-15/16" UNDERSIDE OF EAVE HEIGHT.    THESE HEIGHTS CAN VARY WITH THE USE OF TRANSOMS     & DIFFERENT SIZED KICK PANELS. 3. WHEN DETERMINING THE RIDGE HEIGHTS, USING THE 3" THICK ROOF PANEL    SUBTRACT 1-1/4" FROM RIDGE HEIGHT. WHEN USING THE 7" THICK    ROOF PANEL ADD 3-5/16" TO RIDGE HEIGHT.

AutoCAD SHX Text
24'-0" MAXIMUM

AutoCAD SHX Text
24'-0" FRONT WALL

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
11'-3 7/16"

AutoCAD SHX Text
 MAX. UNIT FRONT WALL  WIDTH

AutoCAD SHX Text
SERIES 230 SUN & CATHEDRAL MODEL CONFIGURATION

AutoCAD SHX Text
22'-0" MAXIMUM

AutoCAD SHX Text
20'-0" MAXIMUM

AutoCAD SHX Text
18'-0" MAXIMUM

AutoCAD SHX Text
16'-0" MAXIMUM

AutoCAD SHX Text
14'-0" MAXIMUM

AutoCAD SHX Text
12'-0" MAXIMUM

AutoCAD SHX Text
ROOM MODEL

AutoCAD SHX Text
12'-0" FRONT WALL

AutoCAD SHX Text
14'-0" FRONT WALL

AutoCAD SHX Text
16'-0" FRONT WALL

AutoCAD SHX Text
18'-0" FRONT WALL

AutoCAD SHX Text
20'-0" FRONT WALL

AutoCAD SHX Text
22'-0" FRONT WALL

AutoCAD SHX Text
10'-11 7/16"

AutoCAD SHX Text
RIDGE  HEIGHT 4/12 SLOPE 4" ROOF PANEL

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
UNIT PROJECTION

AutoCAD SHX Text
10'-7 7/16"

AutoCAD SHX Text
10'-3 7/16"

AutoCAD SHX Text
9'-11 7/16"

AutoCAD SHX Text
9'-7 7/16"

AutoCAD SHX Text
9'-3 7/16"

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-03

AutoCAD SHX Text
3

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
FRONT WALL ELEVATIONS

AutoCAD SHX Text
SUN & SHADE CATHEDRAL

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD


T OMINIMUM |

2l_oll

4|—Ol|

~—— 0.C. ROOF —

"H

UNDERSIDE OF EAVE
ELEV. 80 15/16”

|l_ol|
OVERHANG
MAXIMUM
(5EE NOTE "2") 5'-0"/6'-0" 2-6"/2-11"|||| 2-6"/2-11" 5'-0"/6-0"
/ SLIDER FIXED FIXED 5-0"/6-0" SLIDER
WALL FILL PANEL WINDOW WINDOW WINDOW SLIDING WINDOW
(8EE NOTE "2") |:> DOOR
ALL WINDOWS CAN BE ———
SINGLE SLIDING, DUAL SLIDING.
OR FIXED 5-0"/6-0" 2_%')@; " 2_%’)@; " 5-0"/6-0"
GLASS KICK. ok o GLASS KICK \
T.0. SUB—FLOOR C
{Po’—o” (DATUM) ,
~ 1 3/4 | 3/4" —{ | | 3/4" —{|— {1 3/4" | 3/4"
= 59 |/2"OR 7I-1/2" —| | 3/4" —||==— -— 59 |/2"0R T7I-1/2" ||~ " -1/2" -
2 9/16" MINIMUM / / 59 /2" OR 71-1/2
CORNER POST 28 7/8" OR 28 7/8" OR
34-7/8" 34-7/8"
—] 59 1/2" OR 71-1/2" |=—
OUT OF sILL TO FACE OF WALL
(5EE NOTE "I
A TYP. FRONT ELEVATION CONFIGURATION OPTIONS
SCALE: 3/8"=1'—O"
NOTE:

|. UNIT WIDTH VARIES DEPENDING UPON WINDOW/DOOR
WIDTH CONFIGURATIONS. ALSO IN COMBINATION WITH
ROOF PANEL OVERHANG RESTRICTIONS.
2. WALL FILL PANEL WIDTH CAN VARY TO ACCOMMODATE
THE MINIMUM AND MAXIMUM ROOF PANEL OVERHANGS.
3. ALL RIDGE HEIGHTS ARE BASED ON 80-15/16"
UNDERSIDE OF EAVE HEIGHT. THESE HEIGHTS CAN VARY
WITH THE USE OF TRANSOMS
¢ DIFFERENT SIZED KICK PANELS.
4. STANDARD FRONT WALL CONFIGURATION CAN BE
ANY COMBINATION AND QUANTITY OF OPTIONS
SHOWN IN ELEVATION "A".

7

|APMO

UES ER-110

I'-0" AND 2'-0" TALL
TRANSOMS ARE

AVAILABLE A5 AN OPTION.

WALL FILL PANEL
(SEE NOTE "2

—ALUMINUM, SLATE PANELS, AND

S R
!7 s.0/6.0" |

L GLASS TRANSOM

!:::::::!'!::: _____ :!
| I |
i 5|_o||/b|_ouii i
. SLIDER ,
| WINDOW I |
| |
i::::::éli:—:. ----- ﬁl

FOUR SEASONS SOLAR PRODUCTS, LLIC.
5005 VETERANS MEMORIAL HIGHWAY
HOLBROOK, NEW YORK 11741
DESIGNERS AND MANUFACTURERS
OF FOUR SEASONS SUNROOMS

GLASS KICKS ARE OPTIONAL.

STUCCO KICKS ARE STANDARD.

DRAWING TITLE
SIDE WALL ELEVATIONS
SUN ¢ SHADE CATHEDRAL

@
=

9-24—-19 RD

/5\7—15—22

REVIEWED BY: AS

DWG. BY: RD

DATE: 12-11-07

JOB#:

SHADECATH-04

4, OF 22



AutoCAD SHX Text
5'-0"/6'-0" GLASS KICK

AutoCAD SHX Text
TYP. FRONT ELEVATION CONFIGURATION OPTIONS

AutoCAD SHX Text
A

AutoCAD SHX Text
SCALE: 3/8"=1'-0"

AutoCAD SHX Text
NOTE: 1. UNIT WIDTH VARIES DEPENDING UPON WINDOW/DOOR    WIDTH CONFIGURATIONS. ALSO IN COMBINATION WITH    ROOF PANEL OVERHANG RESTRICTIONS. 2. WALL FILL PANEL WIDTH CAN VARY TO ACCOMMODATE    THE MINIMUM AND MAXIMUM ROOF PANEL OVERHANGS. 3. ALL RIDGE HEIGHTS ARE BASED ON 80-15/16"    UNDERSIDE OF EAVE HEIGHT. THESE HEIGHTS CAN VARY    WITH THE USE OF TRANSOMS     & DIFFERENT SIZED KICK PANELS. 4. STANDARD FRONT WALL CONFIGURATION CAN BE    ANY COMBINATION AND QUANTITY OF OPTIONS    SHOWN IN ELEVATION "A".

AutoCAD SHX Text
5'-0"/6'-0" SLIDER  WINDOW

AutoCAD SHX Text
WALL FILL PANEL (SEE NOTE "2")

AutoCAD SHX Text
T.O. SUB-FLOOR

AutoCAD SHX Text
0'-0" (DATUM)

AutoCAD SHX Text
ALL WINDOWS CAN BE SINGLE SLIDING, DUAL SLIDING. OR FIXED

AutoCAD SHX Text
UNDERSIDE OF EAVE

AutoCAD SHX Text
ELEV. 80 15/16"

AutoCAD SHX Text
ALUMINUM, SLATE PANELS, AND GLASS KICKS ARE OPTIONAL. STUCCO KICKS ARE STANDARD.

AutoCAD SHX Text
1'-0" AND 2'-0" TALL TRANSOMS ARE AVAILABLE AS AN OPTION. 

AutoCAD SHX Text
5'-0"/6'-0" SLIDER  WINDOW

AutoCAD SHX Text
5'-0"/6'-0" GLASS TRANSOM

AutoCAD SHX Text
5'-0"/6'-0" GLASS KICK

AutoCAD SHX Text
5'-0"/6'-0" SLIDER  WINDOW

AutoCAD SHX Text
2'-6"/2'-11" FIXED  WINDOW

AutoCAD SHX Text
5'-0"/6'-0" SLIDING DOOR

AutoCAD SHX Text
2'-6"/2'-11" FIXED  KICK

AutoCAD SHX Text
2'-6"/2'-11" FIXED  WINDOW

AutoCAD SHX Text
2'-6"/2'-11" FIXED  KICK

AutoCAD SHX Text
WALL FILL PANEL (SEE NOTE "2")

AutoCAD SHX Text
5'-0"/6'-0" GLASS KICK

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-04

AutoCAD SHX Text
4

AutoCAD SHX Text
22

AutoCAD SHX Text
12-11-07

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
SIDE WALL ELEVATIONS

AutoCAD SHX Text
SUN & SHADE CATHEDRAL

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD


|APMO

77 //J UES ER-1 10
A + T N - = = = = = - = = = = = = -5 \
\ N OUTSIDE FACE
! waLL coLumn © WALL ! EXISTING WALL
(SEE NOTE 4, TYP COLUMN (@ STRUCTURAL
~ @ WALL COLUMN) FRAMING)
W | |
S CEVFY
w 19 |9
{-\n-‘ I m I e, 1Y
NEVZNEY -
TYP. TYP
! {
|
A= I e I
I3 N uTLiTY H ® UTILITY m FLOOR PLAN SCALE=3/8"='-0"
XN N COLUMN ﬂ \y NOTE:
w— o ow || | |. DIM. TO OUTSIDE FACE OF WALL.
Qr W B \J9/ 2. COLUMN SPACING VARIES DEPENDING UPON
Lz ¥ 2 — WINDOW ¢ DOOR SIZES ¢ CONFIGURATION.
we Sy SEE NOTE 7 : 6-3," MAX. ON CENTER SPACING.
a5 W | (TYP) SEE NOTE 7 | 3. ACTUAL H- CHANNEL 15 SLIGHTLY LESS
by ) THAN | 3/4"USING | 3/4" IN CALCULATIONS OF
35 a WALL DIMENSIONS HELPS TO ACCOUNT FOR
MANUFACTURING TOLERANCES IN WINDOW
! N w AND DOOR DIMENSIONS.
C 1 4 _ _ _ _ - - - - - - - - e f e 4. IF H- CHANNEL 15 OMITTED EXPOSED WIDTH OF
U - CLOSED SILL 15 | 3/8" (THIS WILL NOT ALLOW
: | FOR AN OUT OF PLUMB HOUSE WALL).
STANDARD H (7) 5. MINIMUM FILL WIDTH | 1/8" (H-CHANNEL BUTTING
N COLUMN TO CORNER OR WINDOW/DOOR DIRECTLY INTO
(SEE NOTE 3, TYP) UTILITY CORNER). IFF APPLICABLE.
= | SEE NOTE 7 COLUMN | 6. MINIMUM FOUNDATION PROJECTION REQD TO
9 (TYP) ACHEIVE DESIRED ANCHOR BOLT CAPACITY (FOR
CONCRETE FOUNDATION ONLY).
it}
Il coiee 3 R B B conez . 7. 2O FOOTNG SIZE ¢ WO FEQueED, ot
COLUMN COLUMN \ COLUMN \ ;
w 8. FOOTING TYPE MAY VARY, COORDINATE FOOTING
[ (@EJorREY X TYPE WITH DETAILS ¢ CHARTS.
[ ™
ARIES t - = = H = = + é/g,— = = \Sl‘f = = — L o ﬂ
SEANEY
0 E ! TYP.
S
N
nzZz B SEE NOTE 2 SEE NOTE 2 SEE NOTE 2 SEE NOTE 2
SEE NOTE | SEE NOTE |
VARIES

| 3/4" S5EE NOTE 6 —

OuTSIDE IACE WALL

DIMENSIO

~— | 3/4" 5EE NOTE 6

+31/2"

N

FOUR SEASONS SOLAR PRODUCTS, LLIC.
5005 VETERANS MEMORIAL HIGHWAY
HOLBROOK, NEW YORK 11741
DESIGNERS AND MANUFACTURERS
OF FOUR SEASONS SUNROOMS

DRAWING TITLE

FOUNDATION PLAN
SUN ¢ SHADE CATHEDRAL

REV. No.| DATE

@
=<

2=To=t4—RD
-31-15 RD
0-1-18 RD

9-24-19

/5\7—16—22 RD

REVIEWED BY: AS

DWG. BY: RD

DATE: 1-10-11

JOB#:

SHADECATH-03

5 OF 22



AutoCAD SHX Text
WALL COLUMN (SEE NOTE 4, TYP @ WALL COLUMN)

AutoCAD SHX Text
STANDARD 'H' COLUMN (SEE NOTE 3, TYP)

AutoCAD SHX Text
SEE NOTE 7 (TYP)

AutoCAD SHX Text
TYP.

AutoCAD SHX Text
UTILITY 'H' COLUMN

AutoCAD SHX Text
TYP.

AutoCAD SHX Text
CORNER COLUMN

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
NOTE: 1. DIM. TO OUTSIDE FACE OF WALL. 2. COLUMN SPACING VARIES DEPENDING UPON     WINDOW & DOOR SIZES & CONFIGURATION.     6'-3 " MAX. ON CENTER SPACING. 14" MAX. ON CENTER SPACING. 3. ACTUAL H- CHANNEL IS SLIGHTLY LESS      THAN 1 3/4";USING 1 3/4" IN CALCULATIONS OF      WALL DIMENSIONS HELPS TO ACCOUNT FOR      MANUFACTURING TOLERANCES IN WINDOW     AND DOOR DIMENSIONS. 4. IF H- CHANNEL IS OMITTED EXPOSED WIDTH OF     CLOSED SILL IS 1 3/8" (THIS WILL NOT ALLOW     FOR AN OUT OF PLUMB HOUSE WALL). 5. MINIMUM FILL WIDTH 1 1/8" (H-CHANNEL BUTTING     TO CORNER OR WINDOW/DOOR DIRECTLY INTO     CORNER). IFF APPLICABLE. 6. MINIMUM FOUNDATION PROJECTION REQ'D TO     ACHEIVE DESIRED ANCHOR BOLT CAPACITY (FOR     CONCRETE FOUNDATION ONLY). 7. FOR FOOTING SIZE & WIDTH REQUIRED, SEE     GENERAL-16 THRU GENERAL-19 DRAWINGS. 8. FOOTING TYPE MAY VARY, COORDINATE FOOTING     TYPE WITH DETAILS & CHARTS.

AutoCAD SHX Text
SEE NOTE 7 (TYP)

AutoCAD SHX Text
UTILITY 'H' COLUMN

AutoCAD SHX Text
SEE NOTE 7 (TYP)

AutoCAD SHX Text
UTILITY 'H' COLUMN

AutoCAD SHX Text
CORNER COLUMN

AutoCAD SHX Text
RIDGE BEAM COLUMN

AutoCAD SHX Text
TYP.

AutoCAD SHX Text
TYP.

AutoCAD SHX Text
TYP.

AutoCAD SHX Text
TYP.

AutoCAD SHX Text
TYP.

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
WALL COLUMN

AutoCAD SHX Text
OUTSIDE FACE EXISTING WALL (@ STRUCTURAL FRAMING)

AutoCAD SHX Text
SCALE=3/8"=1'-0"

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-05

AutoCAD SHX Text
5

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
FOUNDATION PLAN

AutoCAD SHX Text
SUN & SHADE CATHEDRAL

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD


|APMO

UES ER-110

/A ROOF FRAMING PLAN

.5 SKYLIGHTS
D A B C SEE NOTE "7" ol
0Z -
a |3 |3 |3
A - - - - P ! : - - - - - - g CONTNU\ US RIDGE - - - OUTSIDE EACE
! EXISTING WALL
WALL COLUMN — ¥ H-BEAM RAFTER ' (@ 5TRUCTURAL
1 _ _ _ _ _ A _ S READ) _ _ il FRAMING)
) | ) |
o | / \ | —— WALL COLUMN
: | NV
4 | |
w I ! 19 A9
i}
N 1 ! SMTYP  SIMTYP
| |
| IRV
! H-BEAM RAFTER I
' (A5 REQD) A \—_//
b - - - - S - N - S - - - - - B 1% TYP. 8EE
/u>:I ) /D\ UTILITY H —| NOTE 2
[ '4 < Q '
UTLITY W 31 sz  {<ZF N3 sz com v |
0 C o8 OPTIONAL g I ﬂ
9 W = = o~ ADJUSTABLE || |Z 1, |
w = QL RIDGE o H w
¥y 9 = T - <| ") S& STANDARD H — | SIMTYP
T o 3 ) H-BEAM RAFTER ~ COLUMN (TYP) | '
) ! (A5 REQD) '
| |
| |
c B B B B P B B B ~ B B B B B B SMTYP
., 12 2, | '
STANDARD H — i i
COLUMN (TYP) o™ e M
———————— —_—
|
© I H-BEAM RAFTER | \\ly \\IZJ
w 1] _ _ _ _ _ _ (AS REQD) _ H
2 :
1 CORNER |
W COLUMN (TYP) I RIDGE BEAM SEE NOTE 4
n
}I COLUMN 7
|
|
ARIES = = = = = — - - ——— -t - ——— - - — m
- . 9/
SIM,TYP
5 3 / '
ol W | CONT. UTILITY EAVE
1| S ia]
m | D |
wl
° SEE NOTE 6 I I SEE NOTE 6
SEE NOTE 3 —==——9%EE NOTE 3 —==———5EE NOTE 3 —=—=——5EE NOTE 3
| | |
SEENOTE | |, || sEE NOTE |

VARIES

N

NG

SCALE=3/8"=1"-0"

NOTE:
I. DIM. TO OUTSIDE FACE OF WALL.

2. WALL SECTIONS VARY DEPENDING UPON MODEL
CONFIGURATION, SEE DRAWINGS 7 THRU || FOR

40 O N

ADDITIONAL OPTIONS

. COLUMN SPACING VARIES DEPENDING UPON

WINDOW ¢ DOOR SIZES ¢ CONFIGURATION.
6-34" MAX. ON CENTER SPACING.

. HATCH DENOTES ROOF PANELS,

COORDINATE W/ H-BEAM A5 REQD.

"FLOOR PLAN".

SEE DRAWINGS 17 ¢ 18.

. FOR NOTES NOT SHOWN SEE DRAWING 5

. ROOF OVERHANG VARIES I'-0" MAX.
. FOR ALL SKYLIGHT INFORMATION

NOTE!

VARIATIONS

SEE DRAWINGS |5 ¢ 16
FOR ROOF PANEL TYPE

FOUR SEASONS SOLAR PRODUCTS, LLIC.
5005 VETERANS MEMORIAL HIGHWAY
HOLBROOK, NEW YORK 11741
DESIGNERS AND MANUFACTURERS
OF FOUR SEASONS SUNROOMS

£33
ste

ROOF PLAN
SUN ¢ SHADE CATHEDRAL

DRAWING TITLE

REV. No.| DATE

@
=<

Z=T6=1# RD
-31-15 RD
0-1-18 RD

9-24—-19

/5\7—18—22 RD

REVIEWED BY: AS

DWG. BY: RD

DATE: 1-10-11

JOB#:

SHADECATH-06

O o 22



AutoCAD SHX Text
SIM,TYP

AutoCAD SHX Text
OUTSIDE FACE EXISTING WALL (@ STRUCTURAL FRAMING)

AutoCAD SHX Text
WALL COLUMN

AutoCAD SHX Text
SEE NOTE 4

AutoCAD SHX Text
SEE NOTE 6

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
CORNER COLUMN (TYP)

AutoCAD SHX Text
STANDARD 'H' COLUMN (TYP)

AutoCAD SHX Text
UTILITY 'H' COLUMN (TYP)

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
SEE NOTE 6

AutoCAD SHX Text
WALL COLUMN

AutoCAD SHX Text
TYP.

AutoCAD SHX Text
OPTIONAL ADJUSTABLE RIDGE

AutoCAD SHX Text
12

AutoCAD SHX Text
4 (STD.)

AutoCAD SHX Text
CONT. UTILITY EAVE

AutoCAD SHX Text
RIDGE BEAM/ COLUMN

AutoCAD SHX Text
CONT. UTILITY EAVE

AutoCAD SHX Text
CONTINUOUS RIDGE BEAM

AutoCAD SHX Text
SIM,TYP

AutoCAD SHX Text
SIM,TYP

AutoCAD SHX Text
SIM,TYP

AutoCAD SHX Text
TYP. SEE NOTE 2

AutoCAD SHX Text
H-BEAM RAFTER (AS REQ'D)

AutoCAD SHX Text
12

AutoCAD SHX Text
4 (STD.)

AutoCAD SHX Text
STANDARD 'H' COLUMN (TYP)

AutoCAD SHX Text
H-BEAM RAFTER (AS REQ'D)

AutoCAD SHX Text
H-BEAM RAFTER (AS REQ'D)

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
SEE NOTE 6

AutoCAD SHX Text
CONTINUOUS RIDGE

AutoCAD SHX Text
SKYLIGHTS SEE NOTE "7"

AutoCAD SHX Text
H-BEAM RAFTER (AS REQ'D)

AutoCAD SHX Text
NOTE: 1. DIM. TO OUTSIDE FACE OF WALL. 2. WALL SECTIONS VARY DEPENDING UPON MODEL    CONFIGURATION, SEE DRAWINGS 7 THRU 11 FOR    ADDITIONAL OPTIONS 3. COLUMN SPACING VARIES DEPENDING UPON     WINDOW & DOOR SIZES & CONFIGURATION.     6'-3 " MAX. ON CENTER SPACING. 14" MAX. ON CENTER SPACING. 4. HATCH DENOTES ROOF PANELS,     COORDINATE W/ H-BEAM AS REQ'D. 5. FOR NOTES NOT SHOWN SEE DRAWING 5     "FLOOR PLAN". 6. ROOF OVERHANG VARIES 1'-0" MAX. 7. FOR ALL SKYLIGHT INFORMATION    SEE DRAWINGS 17 & 18.

AutoCAD SHX Text
%%UNOTE!

AutoCAD SHX Text
SCALE=3/8"=1'-0"

AutoCAD SHX Text
TYP.

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-06

AutoCAD SHX Text
6

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
ROOF PLAN

AutoCAD SHX Text
SUN & SHADE CATHEDRAL

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD


IAPMO
#8 x |/2" TEK SCREW UES ER—, IO

@8 2" 0C. (7#150)
(TYP. ALL ELEVATIONS)

#8 x 1/2" TEK SCREW
e 12" 0C. (7#150)
(TYP. ALL ELEVATIONS)

NOTE!

THE ADJUSTABLE EAVE 15 SHOWN.
SEE SPECIFIC EAVE DETALS FOR
THE CORESPONDING MODELS.

#8 x 1/2" TEK SCREW
e 12" 0C. (7#150)
(TYP. ALL ELEVATIONS)

EXTRD ALUMINUM
EAVE TOP (A«7EB)
EAVE BOTTOM (A«TETB)

EXTRD ALUMINUM
EAVE TOP (A+7EB)
EAVE BOTTOM (ATETB)

EXTRD ALUMINUM
EAVE TOP (A=TEB)
EAVE BOTTOM (A+7ETE)

NOTE!

THE ADJUSTABLE EAVE |5 SHOWN.
SEE SPECIFIC EAVE DETAILS FOR
THE CORESPONDING MODELS.

NOTE!

THE ADJUSTABLE EAVE |5 SHOWN.
SEE SPECIFIC EAVE DETALS FOR
THE CORESPONDING MODELS.

—{ [~—5/l1&"
— |~—5/16"

FOUR SEASONS SOLAR PRODUCTS, LIC.
5005 VETERANS MEMORIAL HIGHWAY
HOLBROOK, NEW YORK 11741
DESIGNERS AND MANUFACTURERS
OF FOUR SEASONS SUNROOMS

#8 x 1/2" TEK SCREW

#8 x 1/2" TEK SCREW

#8 x 1/2" TEK SCREW

= e 16" 0.C. (7#150) = 2 16" 0C. (7+150) = e 16" 0.C. (7+150)
8 (TYP. ALL ELEVATIONS) 8 (TYP. ALL ELEVATIONS) 8 (TYP. ALL ELEVATIONS)
£ Z p L S
= = A T =
B 5 g R 5 R 5
gé gé gé
w O N w [UR) wm [URY)
2 9 g 2 g 3 te 9
w = X w v X w = X N Q|
L ol . o L ol wl <(
o O o O, o O a o/
u = <L 1N} = < 11} = <
o 09 8 09 a 09 wl © A
o >
: 8~ 5 8~ ¢ 3> =
5 5 5 JA <C
© © ® L
2 3 2 oY = 5 8
Q Z Q Q 0N <| X2 <
S & s S S y = T
“““““ a - O -2 oY QA )
o} Oy ) W o
o . S
N NS 3 K z - 4 5
m < \N
N Z =
A}
% REV. No| DATE | BY
m 1 IIIIII L'"J
=7/ Lo Al o
| |
!! ?Q ﬁ !| / fQ & 5-24-19 RD
/l o ¥ /l —/ oY /\/—15—22 RD
FOR DETAILS m ARE SHOWN ON DRAWNG FOR DETAILS m R SO ON DRAWNG FOR DETAILS m >
REVIEWED BY: AS
NOT SHOWN SEE |9 |9 gglEzellE:lEfAL DRAWING 7" NOT SHOWN SEE 19 19 2&22&:1322& DRAWING 7" NOT SHOWN SEE 19 19 DWG. BY: RD
DATE: 1-10-11
NOT TO SCALE
JOB#:
/“A\ SOLID KICK PANELWINDOW  woroscns (A 22" GLASS KICK PANEL-WINDOW woroscne A\ | 1" SOLID KICK. PANEL- | 2" GLASS KICK. SHADECKTH-W
\Z;/ NO TRANSOM  (FX MODEL) \QL/ NO TRANSOM  (FX MODEL) \<Z/HMH1WWDOWNOT&%BOM (FX MODEL)

] oF 22



AutoCAD SHX Text
EXTR'D ALUMINUM EAVE TOP (A*7EB)  EAVE BOTTOM (A*7ETB) 

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 16" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
EXTR'D ALUMINUM EAVE TOP (A*7EB)  EAVE BOTTOM (A*7ETB) 

AutoCAD SHX Text
%%UNOTE!

AutoCAD SHX Text
THE ADJUSTABLE EAVE IS SHOWN.

AutoCAD SHX Text
SEE SPECIFIC EAVE DETAILS FOR

AutoCAD SHX Text
THE CORESPONDING MODELS.

AutoCAD SHX Text
%%UNOTE!

AutoCAD SHX Text
THE ADJUSTABLE EAVE IS SHOWN.

AutoCAD SHX Text
SEE SPECIFIC EAVE DETAILS FOR

AutoCAD SHX Text
THE CORESPONDING MODELS.

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 16" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
5/8" SHIM BY INSTALLER

AutoCAD SHX Text
%%UNOTE!

AutoCAD SHX Text
THE ADJUSTABLE EAVE IS SHOWN.

AutoCAD SHX Text
SEE SPECIFIC EAVE DETAILS FOR

AutoCAD SHX Text
THE CORESPONDING MODELS.

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 16" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
EXTR'D ALUMINUM EAVE TOP (A*7EB)  EAVE BOTTOM (A*7ETB) 

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 12" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 12" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 12" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
CONNECTIONS ARE SHOWN ON DRAWING 20, 21, & 22. SEE GENERAL DRAWING "7"

AutoCAD SHX Text
CONNECTIONS ARE SHOWN ON DRAWING 20, 21, & 22. SEE GENERAL DRAWING "7"

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-07

AutoCAD SHX Text
7

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
 WALL SECTIONS (FX MODELS)

AutoCAD SHX Text
SUN & SHADE CATHEDRAL

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD


#8 x /2" TEK SCREW
e 2" 0C. (7+150)
(TYP. ALL ELEVATIONS)

EXTRD ALUMINUM
EAVE TOP (A«7EB)
EAVE BOTTOM (A+7ETB)

NOTE!

THE ADAISTABLE EAVE [5 SHOWN.
% SEE SPECIFIC EAVE DETALS FOR
N THE CORESPONDNG MODELS.
0
o3
59
02 i
V']
\— —
1
2 5
s L ge]
w #8 x |/2" TEK SCREW Ty
8 % e 16" 0C. (7+150) \f g
A P (TYP. ALL ELEVATIONS) b X
9 Z O
v = = <
i . 05
Q N
Z
3 0 -
o ©”
>
N
[\o}
N
= 9
oy 5/8" SHIM
39 BY INSTALLER
0
=<
|
(U]
. 2V
. =
—— ,
CONNECTIONS — B o
ARE SHOWN ON DRAWING S
20,21, ¢ 22. >~ oY
SEE GENERAL DRAWNG "7* m
FOR DETAILS
NOT SHOWN SEE | 9 | 9

/A 12" 50LID KICK PANEL-WINDOW o 0 scue
\f?/ | 2" GLASS TRANSOM (FH MODELS)

#8 x 1/2" TEK SCREW
e 2" 0.C. (7#I50)
(TYP. ALL ELEVATIONS)

EXTRD ALUMINUM
EAVE TOP (A«7EB)
EAVE BOTTOM (A+7ETB)

NOTE!

THE ADLUSTABLE EAVE 15 SHOWN.
Y SEE SPECIFIC EAVE DETALS FOR
N THE CORESPONDING MODELS,
")
03
8 s
< _
-
\— —
1
g So
N £S5
&9
o) 48 x |/2" TEK SCREW ug
S % e 16" 0C. (7+150) \f 152
8 g (TYP. ALL ELEVATIONS) Lo
i Z o
v = = <
u % ROES)
2 N
s >
:
0 ©
>
o
[\8)

|
]

| /2"

~— 12 1/4" 50LID PANEL

_/iL 4 f
CONNECTIONS — 1

ARE SHOWN ON DRAWING 3

20, 2, ¢ 22.
SEE GENERAL DRAWING 7' m
FOR DETAILS

NOT SHOWN SEE | 9 | 9

3/&"
REF

/A 12" SOLID KICK PANEL-WINDOW ror 10 scae
\f?/ | 2" GLASS TRANSOM (FH MODELS)

|APMO
UES ER-1 10

FOUR SEASONS SOLAR PRODUCTS, LLIC.
5005 VETERANS MEMORIAL HIGHWAY
HOLBROOK, NEW YORK 11741
DESIGNERS AND MANUFACTURERS
OF FOUR SEASONS SUNROOMS

DRAWING TITLE

WALL SECTIONS (FH MODELS)
SUN ¢ SHADE CATHEDRAL

B
=
o
=
=
m
@
=

9-24—-19 RD

/5\7—18—22

REVIEWED BY: AS

DWG. BY: RD

DATE: 1-10-11

JOB#:

SHADECATH-08

8 o 22



AutoCAD SHX Text
EXTR'D ALUMINUM EAVE TOP (A*7EB)  EAVE BOTTOM (A*7ETB) 

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 16" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
THE CORESPONDING MODELS.

AutoCAD SHX Text
SEE SPECIFIC EAVE DETAILS FOR

AutoCAD SHX Text
THE ADJUSTABLE EAVE IS SHOWN.

AutoCAD SHX Text
%%UNOTE!

AutoCAD SHX Text
EXTR'D ALUMINUM EAVE TOP (A*7EB)  EAVE BOTTOM (A*7ETB) 

AutoCAD SHX Text
%%UNOTE!

AutoCAD SHX Text
THE ADJUSTABLE EAVE IS SHOWN.

AutoCAD SHX Text
SEE SPECIFIC EAVE DETAILS FOR

AutoCAD SHX Text
THE CORESPONDING MODELS.

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 16" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
5/8" SHIM BY INSTALLER

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 12" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 12" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
CONNECTIONS ARE SHOWN ON DRAWING 20, 21, & 22. SEE GENERAL DRAWING "7"

AutoCAD SHX Text
CONNECTIONS ARE SHOWN ON DRAWING 20, 21, & 22. SEE GENERAL DRAWING "7"

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-08

AutoCAD SHX Text
8

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
 WALL SECTIONS (FH MODELS)

AutoCAD SHX Text
SUN & SHADE CATHEDRAL

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD


#8 x /2" TEK SCREW IAPMO

e 12" 0.C. (7#150)

(TYP. ALL ELEVATIONS) UES ER— l l O

NOTE!

THE ADJUSTABLE EAVE 1S SHOWN.
SEE SPECIFIC EAVE DETAILS FOR
THE CORESPONDING MODELS.

#8 x 1/2" TEK SCREW EXTRD ALUMINUM
e 12" 0.C. (7#150) EAVE TOP (A+7EB)
(TYP. ALL ELEVATIONS) EAVE BOTTOM (AsTETB)

#8 x /2" TEK SCREW
e 12" 0C. (7»150)
(TYP. ALL ELEVATIONS)

EXTRD ALLMINUM
EAVE TOP (A#7EB)
EAVE BOTTOM (AsTETB)

EXTRD ALUMINUM
EAVE TOP (A+T7EB)
EAVE BOTTOM (As7ETB)

NOTE!

THE ADJUSTABLE EAVE 1S SHOWN.
SEE SPECFIC EAVE DETALS FOR
THE CORESPONDING MODELS.

Il 5/8"

;'@/5“
‘ G
FOUR SEASONS SOLAR PRODUCTS, LLC

TRANSOM
HOLBROOK, NEW YORK 11741

DESIGNERS AND MANUFACTURERS
OF FOUR SEASONS SUNROOMS

N 5/8"

TRANSOM
5005 VETERANS MEMORIAL HIGHWAY

-— /8"
| Il 5/8"
| TRANSOM

©
Wz
oo
© =z 8 16" 0C. (7¢150) =9
u Wz w w o (Y. ALL ELEVATIONS) — 5 ¥
ofe] 9 > 8 U
< =~ >
ul ) < w z < Z W X<
S w [eXe) w = ITiu
5 s YAt T Lz -- o9 5 = |
. (7#150) b o e 16' 0C. (7150) £S5 o] © 5% N9
wl 8 (TYP. ALL ELEVATIONS) “IJ X 8 (TYP. ALL ELEVATIONS) O E w Ny (SN I |
9 Z il a Z — W > a Ny ul =
& = 3 6 @ = A T \:E i ) o W O ¥
o) 0 g i £ 23 a w5
Z 0 o (v [a ) o9 i
5 [ e 5 = =
b W Z NE 5 — X
N O > S —
3 1 <C
\ Y () Nt
A ) L) O
¢ N & X9
o Z = (11
= 8 9
gl = T
V] 48 x 1/2" TEK SCREW O QO ¥
4 B _ N . O = 2 16" 0.C. (7+150) (1 <
QN W)
=,
Qg 48 x 1/2" TEC SCREW R o <L
- < e 16" 0C. (74150) =< D
o N (TYP. ALL ELEVATIONS ® <C N
Qa - QO - - ;
o) LY 5/8" SHIM ‘ P4
R > BY INSTALLER W
. q 9 iy REV. No.| DATE | BY
R N 6‘ ‘ % t)[ N RD
~ = 3 ‘ % v -31-15  RD
o L J ) 'A"‘ ""“"’(‘5 Q 0-1-18  RD
l 02 0%0 %20 %% | MY
f 26%% %% %% e
_— — 4 — 7-18-22 RD
I _T |i i _T ' i B £\
| Q " =Q ! Q n ! 7& - REVIEWED BY: AS
&’ R =’ o ¥ &’ oy

Aa CONNECTIONS Aa Aa DWG. BY: RD
FOR DETAILS ARE SHOWN ON DRAWING FOR DETAILS N DRAWING FOR DETAILS DATE: 1—=10—11

20, 21, ¢ 22.
NOT SHOWN SEE ww SEE GENERAL DRAWING "7 NOT SHOWN SEE wv 20,21, 622, NOT SHOWN SEE ww
SEE GENERAL DRAWING 7" JOB#

(A SOLID KICK PANELWINDOW _sorroscas (A 22" GLASS KICK PANEL-WINDOW _yor 10 scae (A | I SOLID KICK PANEL-1 2" GLASS KICK SHADECATH-09
\5_3/ I 2" GLASS TRANSOM (FT MODELS) \?/ | 2" GLASS TRANSOM (FT MODELS) 9 JWITH WINDOW /1 2" GLASS TRANSOM NOT TO SCALE
(FT MODELS) 9 o 22



AutoCAD SHX Text
%%UNOTE!

AutoCAD SHX Text
THE ADJUSTABLE EAVE IS SHOWN.

AutoCAD SHX Text
SEE SPECIFIC EAVE DETAILS FOR

AutoCAD SHX Text
THE CORESPONDING MODELS.

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 16" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
EXTR'D ALUMINUM EAVE TOP (A*7EB)  EAVE BOTTOM (A*7ETB) 

AutoCAD SHX Text
5/8" SHIM BY INSTALLER

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 16" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
EXTR'D ALUMINUM EAVE TOP (A*7EB)  EAVE BOTTOM (A*7ETB) 

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 16" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 16" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
%%UNOTE!

AutoCAD SHX Text
THE ADJUSTABLE EAVE IS SHOWN.

AutoCAD SHX Text
SEE SPECIFIC EAVE DETAILS FOR

AutoCAD SHX Text
THE CORESPONDING MODELS.

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 16" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
EXTR'D ALUMINUM EAVE TOP (A*7EB)  EAVE BOTTOM (A*7ETB) 

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 12" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 12" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 12" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
CONNECTIONS ARE SHOWN ON DRAWING 20, 21, & 22. SEE GENERAL DRAWING "7"

AutoCAD SHX Text
CONNECTIONS ARE SHOWN ON DRAWING 20, 21, & 22. SEE GENERAL DRAWING "7"

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-09

AutoCAD SHX Text
9

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
 WALL SECTIONS (FT MODELS)

AutoCAD SHX Text
SUN & SHADE CATHEDRAL

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD

Brian
Highlight

Brian
Highlight


EXTRD ALUMINUM
EAVE TOP (A«7EB)
EAVE BOTTOM (A%7ETB)

#8 x 1/2" TEK SCREW
@ 12" 0C. (7»150)
(TYP. ALL ELEVATIONS)

NOTE!

THE ADJUSTABLE EAVE 15 SHOWN.
SEE SPECIC EAVE DETAILS FOR
THE CORESPONDING MODELS.

102 7/8" UNDERSIDE OF EAVE

-—1/8"
| 22 1/8"
| TRANSOM
i J

58" WINDOW

22 /8"
GLASS KICK

#8 x /2" TEK SCREW

@ 16" 0.C. (7w150)

(TYP. ALL ELEVATIONS)

5/8" SHIM
BY INSTALLER

102 1/2" CUT HEIGHT OF
VERTICAL EXTRUSIONS

CONNECTIONS —
ARE SHOWN ON DRA}

20, 21, ¢ 22.

SEE GENERAL DRAWING "7"

P i i
WING _g/:: g é
FOR DETAILS m

NOT SHOWN SEE

|9

A\ 22" GLASS KICK. PANEL-WINDOW

NI

22" GLASS TRANSOM

NOT TO SCALE

EXTRD ALUMI

EAVE TOP (A«7EB)
EAVE BOTTOM (A+7ETB)

NUM

8 12" 0.C. (7#150)

(TYP. ALL ELEVATIONS)

102 7/8" UNDERSIDE OF EAVE

22 /8"
TRANSOM

58" WINDOW

#8 x /2" TEK SCREW

@ 16" 0.C. (7+150)

(TYP. ALL ELEVATIONS)

|
]

102 1/2" CUT HEIGHT OF
VERTICAL EXTRUSIONS

CONNECTIONS —
ARE S5HOWN ON DR
20, 21, ¢ 22.

SEE GENERAL DRAWING "7"

=,
g

- <

Q

o)

|

o

\

Ny

©

N

(q]

I A
I O WL
AWING N u
& P

FOR DETAILS m

NOT SHOWN SEE

|9

/A" S0LID KICK PANEL-WINDOW

NOT TO SCALE

NI

22" GLASS TRANSOM

#8 x /2" TEK SCREW

|APMO

UES ER-1 10

HOLBROOK, NEW YORK 11741
DESIGNERS AND MANUFACTURERS

5005 VETERANS MEMORIAL HIGHWAY
OF FOUR SEASONS SUNROOMS

FOUR SEASONS SOLAR PRODUCTS, LLC.

o
b=
z

wm| w QA

S A R

cl o &

d N

= o8

<| 9 <

QY OI

Q| & 9V
ﬁw
B2
X
<
=

REV. No.| DATE | BY

1 ‘‘‘‘‘‘ L'"J
9-24-19 RD

/5\7—18—22 RD

REVIEWED BY: AS

DWG. BY: RD

DATE: 1-10-11

JOB#:

SHADECATH-10

10 o 22



AutoCAD SHX Text
%%UNOTE!

AutoCAD SHX Text
THE ADJUSTABLE EAVE IS SHOWN.

AutoCAD SHX Text
SEE SPECIFIC EAVE DETAILS FOR

AutoCAD SHX Text
THE CORESPONDING MODELS.

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 16" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
EXTR'D ALUMINUM EAVE TOP (A*7EB)  EAVE BOTTOM (A*7ETB) 

AutoCAD SHX Text
5/8" SHIM BY INSTALLER

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 16" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
EXTR'D ALUMINUM EAVE TOP (A*7EB)  EAVE BOTTOM (A*7ETB) 

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 12" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 12" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
CONNECTIONS ARE SHOWN ON DRAWING 20, 21, & 22. SEE GENERAL DRAWING "7"

AutoCAD SHX Text
CONNECTIONS ARE SHOWN ON DRAWING 20, 21, & 22. SEE GENERAL DRAWING "7"

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-10

AutoCAD SHX Text
10

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
WALL SECTIONS (102 7/8" EAVE HT)

AutoCAD SHX Text
SUN & SHADE CATHEDRAL

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD


EXTRD ALUMINUM

EAVE TOP (A+7EB)

EAVE BOTTOM (As7ETB)

#8 x 1/2" TEK SCREW
8 12" 0.C. (7#150)
(TYP. ALL ELEVATIONS)

NOTE!

THE ADMSTABLE EAVE 15 SHOWN.

2| 3/4"

~—— BASE WALL
HEIGHT

58" WINDOW

- SEE SPECIFIC EAVE DETALS FOR
© THE CORESPONDING MODELS,
o3
52
‘n< .
-
\_
!
L
c9
+ O
w )
> $w
<C |
i v
T e
w X
o \51_\_\
w O
a - <
i 48 x 1/2" TEK SCREW {g
1 @ 16" 0C. (7150) >N
a (TYP. ALL ELEVATIONS) ol
4 =
35
©
S
()
o
o

BASEWALL BY OTHERS

OR
FS5P CONSERVAWALL
(SEE ER-XXXX FOR
ALL INFORMATION)

REF

— 1" NSULATED FILL
PANEL SHIM.

FOR DETAILS
NOT SHOWN SEE

A\ BASE WALL-WINDOW

L CONNECTIONS
ARE

NOT TO SCALE

W | 2" TRANSOM (BASE WALL MODEL BT)

EXTRD ALUMINUM
EAVE TOP (AwTEB)
EAVE BOTTOM (A+T7ETE)

#8 x 1/2" TEK SCREW
2 12" 0.C. (7#150)
(TYP. ALL ELEVATIONS)

NOTE!

THE ADJUSTABLE EAVE |5 SHOWN.
SEE SPECFIC EAVE DETAILS FOR
THE CORESPONDING MODELS.

80 15/16" UNDERSIDE OF EAVE

10 1/8"

~—— BASE WALL
HEIGHT

Il 5/8"
TRANSOM

58" WINDOW

#8 x 1/2" TEK SCREW
2 16" 0.C. (7#150)
(TYP. ALL ELEVATIONS)

70 7/16" CUT HEIGHT OF
VERTICAL EXTRUSIONS

_—BASEWALL BY OTHERS

OR
FS5P CONSERVAWALL
(SEE ER-XXXX FOR
ALL INFORMATION)

EXTRD ALUMINUM

EAVE TOP (A«TEB)

EAVE BOTTOM (A«7ETB)

#8 x 1/2" TEK SCREW
8 12" 0.C. (7+150)
(TYP. ALL ELEVATIONS)

|APMO
UES ER-1 10

NOTE!

THE ADJUSTABLE EAVE 15 SHOWN.
SEE SPECFIC EAVE DETALLS FOR
THE CORESPONDNG MODELS.

80 15/16" UNDERSIDE OF EAVE

2| 3/4"

~—— BASE WALL
HEIGHT

#8 x 1/2" TEK SCREW
e 6" 0.C. (7#150)
(TYP. ALL ELEVATIONS)

58" WINDOW

58 13/16" CUT HEIGHT OF
VERTICAL EXTRUSIONS

—CONNECTIONS

ARE SHOWN ON DRAWING

20, 21, ¢ 22.

SEE GENERAL DRAWING "7"

FOR DETAILS
NOT SHOWN SEE

/A BASE WALL-WINDOW

NOT TO SCALE

FOR DETAILS
NOT SHOWN SEE

/A BASE WALL-WINDOW

1" NSULATED FILL
PANEL SHM.

CONNECTIONS

ARE SHOWN ON DRAWING
20, 21, ¢ 22.

SEE GENERAL DRAWING "“7"

NOT TO SCALE

w | 2" TRANSOM (BASE WALL MODEL BH)

\ |/ NOTRANSOM (BASE WALL MODEL BX)

HOLBROOK, NEW YORK 11741
DESIGNERS AND MANUFACTURERS

5005 VETERANS MEMORIAL HIGHWAY
OF FOUR SEASONS SUNROOMS

FOUR SEASONS SOLAR PRODUCTS, LLC.

DRAWING TITLE
SUN ¢ SHADE CATHEDRAL

REV. No.[ DATE

2| WALL SECTIONS (BT, BH ¢ BX)

@
=

Z=T6=1%  RD
-31-15 RD
0-1-18 RD

9-24-19 RD

/5\7—18—22 RD

REVIEWED BY: AS

DWG. BY: RD

DATE: 1-10-11

JOB#:

SHADECATH-11

1o 22



AutoCAD SHX Text
1" NSULATED FILL PANEL SHIM.

AutoCAD SHX Text
BASEWALL BY OTHERS           OR FSSP CONSERVAWALL (SEE ER-XXXX FOR ALL INFORMATION)

AutoCAD SHX Text
BASEWALL BY OTHERS           OR FSSP CONSERVAWALL (SEE ER-XXXX FOR ALL INFORMATION)

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 16" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
EXTR'D ALUMINUM EAVE TOP (A*7EB)  EAVE BOTTOM (A*7ETB) 

AutoCAD SHX Text
%%UNOTE!

AutoCAD SHX Text
THE ADJUSTABLE EAVE IS SHOWN.

AutoCAD SHX Text
SEE SPECIFIC EAVE DETAILS FOR

AutoCAD SHX Text
THE CORESPONDING MODELS.

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 16" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
THE CORESPONDING MODELS.

AutoCAD SHX Text
SEE SPECIFIC EAVE DETAILS FOR

AutoCAD SHX Text
THE ADJUSTABLE EAVE IS SHOWN.

AutoCAD SHX Text
%%UNOTE!

AutoCAD SHX Text
EXTR'D ALUMINUM EAVE TOP (A*7EB)  EAVE BOTTOM (A*7ETB) 

AutoCAD SHX Text
%%UNOTE!

AutoCAD SHX Text
THE ADJUSTABLE EAVE IS SHOWN.

AutoCAD SHX Text
SEE SPECIFIC EAVE DETAILS FOR

AutoCAD SHX Text
THE CORESPONDING MODELS.

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 16" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
EXTR'D ALUMINUM EAVE TOP (A*7EB)  EAVE BOTTOM (A*7ETB) 

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 12" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 12" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
#8 x 1/2" TEK SCREW @ 12" O.C.  (7*150) (TYP. ALL ELEVATIONS)

AutoCAD SHX Text
1" NSULATED FILL PANEL SHIM.

AutoCAD SHX Text
CONNECTIONS ARE SHOWN ON DRAWING 20, 21, & 22. SEE GENERAL DRAWING "7"

AutoCAD SHX Text
CONNECTIONS ARE SHOWN ON DRAWING 20, 21, & 22. SEE GENERAL DRAWING "7"

AutoCAD SHX Text
CONNECTIONS ARE SHOWN ON DRAWING 20, 21, & 22. SEE GENERAL DRAWING "7"

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-11

AutoCAD SHX Text
11

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
 WALL SECTIONS (BT, BH & BX)

AutoCAD SHX Text
SUN & SHADE CATHEDRAL

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD


#14A x 4", 5" OR 8" ROOF SCREW

ALUMINUM SKIN ROOF PANELS

WITH WASHER (HK2135)
SIX SCREWS PER PANEL 9" 0.C.

#14A x 4", 5" OR &" ROOI
SCREW WITH WASHER
(HK2135) SIX SCREWS
PER PANEL 89" 0.C.

SEALANT

. (EXTERIOR ONLY)
#8 x |/2" TEK SCREW

(H7#150) e12" 0.C.

MAX. 12" 0.C. MAX.
3" 4 1/4" R 7" THK:
#10 x 3/4" SCREW ROOF PANEL
He2027 (USE PROPER GUTTER, FASCIA
PANEL

¢ RIDGE PARTS TO MATCH
SIze)

EXTRD ALUMINUM
3" ROOF FASCIA (A+73RF)

C

/l A
TRD ALUM LADDER
SUPPORTS CNLADCLP P
SEALANT

(EXTERIOR ONLY)

7" FASCIA (A«TTRF)
EXTRD ALUMINUM

FIXED EAVE (A*T7E3B)

(4/12 PITCH COMES W/STD.

TRAPEZOID GLASS IN PEAKED

WALL. ANY OTHER PITCH WILL

J
\—UNIVEIQSAL GUTTER

(A%K56) RECEIVE ADJ. EAVE ¢ TRANSOM

u FRAME ¢ L-ANGLE. CUSTOM
WEEP HOLE 1/4 GLASS TO BE ORDERED ONCE
PANEL EDGE FRAMED)
BY INSTALLER 48 x 1/2" TEK SCREW

X

EXTRD ALUMINU (H7#150) 5IX AT
4" SNAP-ON GUTTER FASCIA EACH COLUMN

(A»46GF5) (SHOWN) OR
3" SNAP-ON GUTTER FASCI
(A#3GF5)

#8 x /2" TEK SCRE!
(H7#150) 812" 0.C. MAX.

AND @l6" 0.C. MAX.

m FRONT EAVE ¢ ROOF CONNECTION

NOT TO SCALE
2/

#14A x 4", 5" OR 8" ROOF SCRE
WITH WASHER (HK2135)
SIX SCREWS PER PANEL 89" 0.C.

#& x 1/2" TEK SCREW
(H7*150) @12"O.C.
MAX.

#10 x 3/4" SCREW
H#2027

C

4112'0 ALUM LADDER 5UPP(@

CNLADCLP
EXTRD ALUMINUM
EAVE TOP (A+7ETB)
SEALANT
(EXTERIOR ONLY)

EXTRD ALLUMINUM

\—UNIVERSAL GUTTER EAVE BOTTOM (A«7EB)

(AsK56)

EXTRD ALUMINUM
4" SNAP-ON GUTTER FASCIA
(A#4GFS) (SHOWN) OR
3" BNAP-ON GUTTER FASCIA
(A%3GFS)

WEEP HOLE /4"
@ PANEL EDGE
BY INSTALLER

#® x /2" TEK SCRE
(H7#150) @12" 0.C. MAX.

#8 x /2" TEK SCREW
H7#150) SIX AT
EACH COLUMN

AND @16" 0.C. MAX.

m FRONT EAVE ¢ ROOF CONNECTION

NOT TO SCALE
2/

#8 x 1/2" TEK SCREW (H7#|

4 1/4" FASCIA (A«74RF) (SHOWN)

APPLY STRUCTURA
SEALANT

/B \ FAVE FASCIAON GABLE

NOT TO SCALE
&/

|APMO
UES ER-110

COUNTER FLASHING
(BY OTHERS)

#8 x 1/2" TEK SCREW (H7#|
SIX ON TOP ¢ BOTTOM OF
PANEL (MINIMUM)

OUTSIDE FACE OF
EXISTING WALL
(@ STRUCTURAL FRAMING)

SEALANT
(EXTERIOR ONLY)

3 4 1/4" OR 7" THE
ROOF PANEL “N
(USE PROPER GUTTER,
FASCIA ¢ RIDGE PARTS T8

FIT YOUR SIZE PANEL)

CONNECTIONS

ARE SHOWN ON DRAWING
20,21, ¢22.0R
GENERAL DRAWING "8"

UNIT HEIGHT

EXTRD ALUMINUM

4" RIDGE (A#74RR)
(SHOWN)

OR 3" RIDGE (A+73RR)
OR 7" RIDGE (A«TTRR)

TRD ALUMINUM
EAVE COVER (A#56T)

EXTRD ALUMINUM
UTILITY EAVE (A7%144)

# UNIT PROJECTION —

/" C\ RIDGE DETAIL

NOT TO SCALE
@/

HOLBROOK, NEW YORK 11741
DESIGNERS AND MANUFACTURERS

5005 VETERANS MEMORIAL HIGHWAY
OF FOUR SEASONS SUNROOMS

FOUR SEASONS SOLAR PRODUCTS, LLC.

£33
Ite

DRAWING TITLE

ROOF DETAILS
SUN ¢ SHADE CATHEDRAL

REV. No.| DATE

@
=

Z=T6=1%  RD
-31-15 RD
0-1-18 RD

9-24-19 RD

/5\7—18—22 RD

REVIEWED BY: AS

DWG. BY: RD

DATE: 1-10-11

JOB#:

SHADECATH-12

12 o 22



AutoCAD SHX Text
WEEP HOLE 1/4" @ PANEL EDGE BY INSTALLER

AutoCAD SHX Text
#10 x 3/4" SCREWS

AutoCAD SHX Text
SEALANT (EXTERIOR ONLY)

AutoCAD SHX Text
EXTR'D ALUMINUM 4" SNAP-ON GUTTER FASCIA (A*4GFS) (SHOWN) OR 3" SNAP-ON GUTTER FASCIA (A*3GFS)

AutoCAD SHX Text
UNIVERSAL GUTTER (A*K5G)

AutoCAD SHX Text
WEEP HOLE 1/4" @ PANEL EDGE BY INSTALLER

AutoCAD SHX Text
#8 x 1/2" TEK SCREW  (H7*150) @12" O.C. MAX.

AutoCAD SHX Text
#8 x 1/2" TEK SCREW (H7*150) @12" O.C. MAX.

AutoCAD SHX Text
EXTR'D ALUM LADDER SUPPORTS

AutoCAD SHX Text
SEALANT (EXTERIOR ONLY)

AutoCAD SHX Text
#8 x 1/2" TEK SCREW  (H7*150) @12" O.C. MAX.

AutoCAD SHX Text
#14A x 4", 5" OR 8" ROOF SCREW WITH WASHER (HK2135) SIX SCREWS PER PANEL @9" O.C.

AutoCAD SHX Text
UNIVERSAL GUTTER (A*K5G)

AutoCAD SHX Text
EXTR'D ALUMINUM 4" SNAP-ON GUTTER FASCIA (A*4GFS) (SHOWN) OR 3" SNAP-ON GUTTER FASCIA (A*3GFS)

AutoCAD SHX Text
H*2027

AutoCAD SHX Text
H*2027

AutoCAD SHX Text
#10 x 3/4" SCREWS

AutoCAD SHX Text
CNLADCLP

AutoCAD SHX Text
#14A x 4", 5" OR 8" ROOF SCREW WITH WASHER (HK2135) SIX SCREWS PER PANEL @9" O.C.

AutoCAD SHX Text
#8 x 1/2" TEK SCREW (H7*150) SIX AT EACH COLUMN  AND @16" O.C. MAX.

AutoCAD SHX Text
EXTR'D ALUMINUM EAVE BOTTOM (A*7EB)

AutoCAD SHX Text
EXTR'D ALUMINUM EAVE TOP (A*7ETB)

AutoCAD SHX Text
#8 x 1/2" TEK SCREW (H7*150) SIX AT EACH COLUMN  AND @16" O.C. MAX.

AutoCAD SHX Text
EXTR'D ALUMINUM FIXED EAVE (A*7E3B) (4/12 PITCH COMES W/STD. TRAPEZOID GLASS IN PEAKED WALL.  ANY OTHER PITCH WILL RECEIVE ADJ. EAVE & TRANSOM FRAME & L-ANGLE.  CUSTOM  GLASS TO BE ORDERED ONCE FRAMED)

AutoCAD SHX Text
VARIES

AutoCAD SHX Text
12

AutoCAD SHX Text
OUTSIDE FACE OF EXISTING WALL (@ STRUCTURAL FRAMING)

AutoCAD SHX Text
EXTR'D ALUMINUM 4" RIDGE (A*74RR) (SHOWN) OR 3" RIDGE (A*73RR) OR 7" RIDGE (A*77RR)

AutoCAD SHX Text
SEALANT (EXTERIOR ONLY)

AutoCAD SHX Text
#14A x 4", 5" OR 8" ROOF SCREW WITH WASHER (HK2135) SIX SCREWS PER PANEL @9" O.C. 

AutoCAD SHX Text
EXTR'D ALUMINUM 3" ROOF FASCIA (A*73RF) 4 1/4" FASCIA (A*74RF)  (SHOWN) 7" FASCIA (A*77RF)

AutoCAD SHX Text
3", 4 1/4" OR 7" THK. ROOF PANEL (USE PROPER GUTTER, FASCIA & RIDGE PARTS TO MATCH PANEL SIZE)

AutoCAD SHX Text
APPLY STRUCTURAL  SEALANT

AutoCAD SHX Text
#8 x 1/2" TEK SCREW (H7*150) @12" O.C. MAX.

AutoCAD SHX Text
SEALANT (EXTERIOR ONLY)

AutoCAD SHX Text
EXTR'D ALUMINUM EAVE COVER (A*5GT)

AutoCAD SHX Text
EXTR'D ALUMINUM UTILITY EAVE (A7*144)

AutoCAD SHX Text
COUNTER FLASHING (BY OTHERS)

AutoCAD SHX Text
3", 4 1/4" OR 7" THK. ROOF PANEL (USE PROPER GUTTER,  FASCIA & RIDGE PARTS TO  FIT YOUR SIZE PANEL)

AutoCAD SHX Text
#8 x 1/2" TEK SCREW (H7*150) SIX ON TOP & BOTTOM OF PANEL (MINIMUM)

AutoCAD SHX Text
EXTR'D ALUM LADDER  SUPPORTS CNLADCLP

AutoCAD SHX Text
CONNECTIONS ARE SHOWN ON DRAWING 20, 21, & 22. OR  GENERAL DRAWING "8"

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-12

AutoCAD SHX Text
12

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
ROOF DETAILS

AutoCAD SHX Text
SUN & SHADE CATHEDRAL

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD

Brian
Highlight

Brian
Highlight

Brian
Highlight

Brian
Highlight

Brian
Highlight

Brian
Highlight

Brian
Highlight

Brian
Highlight

Brian
Highlight

Brian
Highlight


FILL CAVITY WITH
INSULATION (OPTIONAL)

4 |/4" ROOF PANEL

3/8" x 3" 5.5. —/E

THRU BOLT

(HOW10085)

(SEE DRAWING 20, 2|, 22
FOR QUANTITIES) E__

EXTRD ALUMINUM
4 1/4" RIDGE (A%746R)
(ONLY FOR 4:12 PITCH)

#10 x | 1/4" TEK SCREW
(H#2026) 9" 0.C.

RIDGE SEE

FOR ALTERNATE a
3/

#10 x | 1/4" TEK SCREW
(H#2026) @12" 0.C.

EXTRD ALUMINUM

2x2x1/4" RIDGE CLIP (CN13007)

@ POST SEE

FOR BEAM SUPPORT A
NEY,

m 7" RIDGE BEAM @ EXISTING STRUCTURE

NOT TO SCALE
3/

3" ROOF
PANEL

#10 x | 1/4" TEK SCREW—
(H#2026) 9" OC.

3/8" x 3" 5.5.
THRU BOLT
(HDWI0085)
(SEE DRAWING 20, 21, 22
FOR QUANTITIES)

X

(AT HOUSE WALL)
MINIMUM CONNECTIONS
QTY MN. (4) 8' FASTENERS. | _ |
OR ‘I' _:
GENERAL DRAWING "8" | V4
ALL CONNECTIONS TO | %
EXISTING STRUCTURES MUST N
BE DESIGN BY A LOCAL A\
PROFESSIONAL. | ~=
s
EXTRD ALUMINUM | = /
BEAM (A#7TB) I ) /
10
/
| N\=2 | /
[ Ny
I 1
I )
3" FIXED RIDGE ! (O/\ L
(73GR) | N2 /
| FE
[ [ /
__I__ZZZZIZ

EXISTING
STRUCTURE

@ SECTION X"

#10 x | 1/4" TEK SCREW
(H#2026) @12" 0.C.

EXTRD ALUMINUM

2x2x /4" RIDGE CLIP (CNI3007)
(AT HOUSE WALL)

MINIMUM CONNECTIONS
QTY MIN. (4) &' FASTENERS.
OR

GENERAL DRAWING "8"

ALL CONNECTIONS TO
EXISTING STRUCTURES MUST
BE DESIGN BY A LOCAL
PROFESSIONAL .

EXTRD ALUMINUM
BEAM (As7TB)

m 7" RIDGE BEAM @ EXISTING STRUCTURE

NOT TO SCALE
NE%

FOR DETAILS
NOT SHOWN SEE

! SN beAM (772)

™
[ N—— STEEL TUBE INSERT
(CN7144)
MAKE SURE THAT STEEL
IS PRIMED BEFORE
INSTALLED TO PREVENT
ELECTROLOSIS.

3

3/8" x | 7/8"
ALUMINUM SHIM
FIT TIGHT WITH 6"
MINIMUM BEARING
BY INSTALLER

m 7" RIDGE BEAM w/STEEL INSERT

NOT TO SCALE
3/

#8 X 1/2" TEK SCREW
@ 9" 0.C. MAX. (7#150)

>

[

I N
(@) Hmd
<P
2N

(@D N
\/\ By
|

J7=N M.
(@D)1NinD .|
=P
7NN )
g

FOR DETAILS

NOT SHOWN SEE w

/ “ZT

/

|APMO

@ UES ER-1 10

INSERT SHIMS ON EITHER
SIDE OF (2" BEAM TO
ENSURE SNUG FIT

EXTRD ALUMINUM
12" BEAM SUPPORT CLIP

(CN7207)
(AT HOUSE WALL)

EXTRD ALUMINUM
12" BEAM (5CB12)

3/8" x 3" 5.5.

THRU BOLT

(HDW10085)

(SEE DRAWING 20, 2|, 22
FOR QUANTITIES)

MINIMUM CONNECTIONS
QTY MN. (5) &' FASTENERS.
OR

GENERAL DRAWING "&"

ALL CONNECTIONS TO
EXISTING S5TRUCTURES MUST
BE DESIGN BY A LOCAL
PROFESSIONAL.

7/ C\ | 2" RIDGE BEAM

NOT TO SCALE
3/

MALE RIDGE
3" (A%T73M)
4 1/4" (A%74M)

#10 x | 1/4" TEK SCREW
(H#2026) 89" OC.

/ D\ ALTERNATE RIDGE DETAIL

NOT TO SCALE
&/

NOTE:

DETAIL APPLYS FOR
2:12 THRU 3.5:12,
4.5:12 THRU 7:12
ROOF PITCH

HOLBROOK, NEW YORK 11741
DESIGNERS AND MANUFACTURERS

5005 VETERANS MEMORIAL HIGHWAY
OF FOUR SEASONS SUNROOMS

FOUR SEASONS SOLAR PRODUCTS, LIC.

A
4}
v

DRAWING TITLE
ROOF DETAILS
SUN ¢ SHADE CATHEDRAL

REV. No.| DATE

@
=

Z=T6=1% RD
-31-15 RD
0-1-18 RD

9-24-19 RD

/5\/—15—22 RD

REVIEWED BY: AS

DWG. BY: RD

DATE: 1-10-11

JOB#:

SHADECATH-13

15 o 22



AutoCAD SHX Text
FOR DETAILS NOT SHOWN SEE

AutoCAD SHX Text
#10 x 1 1/4" TEK SCREW  (H*2026) @9" O.C.

AutoCAD SHX Text
MALE RIDGE 3" (A*73M) 4 1/4" (A*74M)

AutoCAD SHX Text
INSERT SHIMS ON EITHER SIDE OF 12" BEAM TO ENSURE SNUG FIT

AutoCAD SHX Text
EXTR'D ALUMINUM  12" BEAM SUPPORT CLIP (CN7207)

AutoCAD SHX Text
EXTR'D ALUMINUM 12" BEAM (5CB12)

AutoCAD SHX Text
NOTE: DETAIL APPLYS FOR 2:12 THRU 3.5:12,  4.5:12 THRU 7:12  ROOF PITCH

AutoCAD SHX Text
FOR DETAILS NOT SHOWN SEE

AutoCAD SHX Text
#8 X 1/2" TEK SCREW @ 9" O.C. MAX. (7*150)

AutoCAD SHX Text
FEMALE RIDGE 3" (A*73F) 4 1/4" (A*74F)

AutoCAD SHX Text
BEAM (7TB)

AutoCAD SHX Text
3/8" x 1 7/8" ALUMINUM SHIM  FIT TIGHT WITH 6"  MINIMUM BEARING BY INSTALLER

AutoCAD SHX Text
STEEL TUBE INSERT (CN7144) 

AutoCAD SHX Text
FOR ALTERNATE RIDGE SEE

AutoCAD SHX Text
2x2x1/4" RIDGE CLIP (CN13007)

AutoCAD SHX Text
EXTR'D ALUMINUM

AutoCAD SHX Text
#10 x 1 1/4" TEK SCREW  (H*2026) @12" O.C.

AutoCAD SHX Text
#10 x 1 1/4" TEK SCREW  (H*2026) @9" O.C.

AutoCAD SHX Text
EXTR'D ALUMINUM 4 1/4" RIDGE (A*74GR) (ONLY FOR 4:12 PITCH)

AutoCAD SHX Text
EXTR'D ALUMINUM BEAM (A*7TB)

AutoCAD SHX Text
EXTR'D ALUMINUM BEAM (A*7TB)

AutoCAD SHX Text
2x2x1/4" RIDGE CLIP (CN13007)

AutoCAD SHX Text
EXTR'D ALUMINUM

AutoCAD SHX Text
#10 x 1 1/4" TEK SCREW  (H*2026) @12" O.C.

AutoCAD SHX Text
3" ROOF PANEL

AutoCAD SHX Text
FOR BEAM SUPPORT @ POST SEE

AutoCAD SHX Text
FILL CAVITY WITH INSULATION (OPTIONAL)

AutoCAD SHX Text
4 1/4" ROOF PANEL

AutoCAD SHX Text
#10 x 1 1/4" TEK SCREW  (H*2026) @9" O.C.

AutoCAD SHX Text
3

AutoCAD SHX Text
MINIMUM CONNECTIONS  QTY MIN. (4)  " FASTENERS. 38" FASTENERS. OR GENERAL DRAWING "8"  ALL CONNECTIONS TO EXISTING STRUCTURES MUST BE DESIGN BY A LOCAL PROFESSIONAL. 

AutoCAD SHX Text
3

AutoCAD SHX Text
MINIMUM CONNECTIONS  QTY MIN. (4)  " FASTENERS. 38" FASTENERS. OR GENERAL DRAWING "8"  ALL CONNECTIONS TO EXISTING STRUCTURES MUST BE DESIGN BY A LOCAL PROFESSIONAL. 

AutoCAD SHX Text
3

AutoCAD SHX Text
MINIMUM CONNECTIONS  QTY MIN. (5)  " FASTENERS. 38" FASTENERS. OR GENERAL DRAWING "8"  ALL CONNECTIONS TO EXISTING STRUCTURES MUST BE DESIGN BY A LOCAL PROFESSIONAL. 

AutoCAD SHX Text
3/8" x 3" S.S. THRU BOLT (HDW10085) (SEE DRAWING 20, 21, 22 FOR QUANTITIES)

AutoCAD SHX Text
3/8" x 3" S.S. THRU BOLT (HDW10085) (SEE DRAWING 20, 21, 22 FOR QUANTITIES)

AutoCAD SHX Text
3/8" x 3" S.S. THRU BOLT (HDW10085) (SEE DRAWING 20, 21, 22 FOR QUANTITIES)

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-13

AutoCAD SHX Text
13

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
ROOF DETAILS

AutoCAD SHX Text
SUN & SHADE CATHEDRAL

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD

Brian
Highlight

Brian
Highlight

Brian
Highlight


SUPPORT T”

BEAM \

TOP OF

UTILITY 'H' |-~

prds q~<
I I

I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I |
I I
I I
I I
I I
I I
I I
I I
I |
I I
I I
I I
I I
- :
Co || R A |
|\ J |
I I
B I
| | It J CJ |
I I
I I
I I
I |
I I
I I
| | |

- ___

/—RIDGE BEAM

s
POST
N 3\ //_ (7BP)
4
] ] —_—
2 [

J

N\ %
\— POST CLIP (CN13005)
SECTION X

/C\ POST TO | 2" BEAM CONNECTION DETAIL

NOT TO SCALE
4/

FOR DETAILS NOT

SHOWN SEE

RIDGE BEAMx

TOP OF
UTILITY 'H' \

SUPPORT
BEAM
(VARIES)

POST CLIP

BEAM POST
(7BP, 7TB)

174" X 1 174" SCREW
(AN20&0) TYPICAL

N~<

- __

SECTION @ RIDGE

BEAM

X

PLAN @ COLUMN

/— RIDGE BEAM

2 5/8"
—————————————————— CONNECTIONS = siLL cutouT
ARE SHOWN ON DRAWING _—rosT cup
20, 21, ¢ 22. _ (CN 1 3005)
SEE GENERAL DRAWING "7 | /
|
—= 00 = |
r !
=) | =
3 =
T S lee °°
N 3 S | <
® |
|
1
_ 1 __ ! 5
| I ™~
' }
— PosT CLOSED sm—/ !
3 3 (A*7C9) o | SILL PREPERATION
L __ S ______//_ S Cl: FOR GABLE POST
4
T T 3-1/4"X | 1/4" PLAN [VIEW
/ SCREW (HN2080) ,
[ > < } TYPICAL EACH CLIP
(6) TOTAL o5t
| | L] (75?)\
\\ g,'l;m; (HN2080) TYPICAL
POST CLIP (CN I 3005) EACH CLIP
SECTION X #8& X 1/2" TEK ﬁ
_ SCREW (H7* 1 50)
- @ 100.C.
UTILITY ' VERTICALLY
FOR CONNECTION (TYPICAL)
@ FOUNDATION @@ A

SEE

JAMB OF GLASS
TRAPEZOID TRANSOMS

4 -#10X | 1/4" SCREW
(AN2026) THRU ELECTRIC
"H" INTO POST AND
SUPPORT BEAM @ 10" OC

m POST TO 7" BEAM CONNECTION DETAIL

NOT TO SCALE
4/

UES ER-110

|APMO

(OXN®)

/POST CLP

(CN1300¢)

/ B\ POST BASE DETAILS

HOLBROOK, NEW YORK 11741
DESIGNERS AND MANUFACTURERS

5005 VETERANS MEMORIAL HIGHWAY
OF FOUR SEASONS SUNROOMS

FOUR SEASONS SOLAR PRODUCTS, LLC.

3-1/4"X 1 1/4" SCREW

POST CLIP (CN13006¢)

NOT TO SCALE
4/

WITH POST INSTALLED

DRAWING TITLE

RIDGE BEAM DETAILS
SUN ¢ SHADE CATHEDRAL

REV. No.| DATE | BY

Z=T6=1%  RD
-31-15 RD
0-1-18 RD

9-24-19 RD

/5\7—18—22 RD

REVIEWED BY: AS

DWG. BY: RD

DATE: 1-10-11

JOB#:

SHADECATH-14

14 o 22



AutoCAD SHX Text
CONNECTIONS ARE SHOWN ON DRAWING 20, 21, & 22. SEE GENERAL DRAWING "7"

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-14

AutoCAD SHX Text
14

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
RIDGE BEAM DETAILS

AutoCAD SHX Text
SUN & SHADE CATHEDRAL

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD

Brian
Highlight

Brian
Highlight

Brian
Highlight

Brian
Highlight

Brian
Highlight

Brian
Highlight


SEALANT
(EXTERIOR ONLY)

ALUMINUM SKIN
| BOTH SIDES

EPS FOAM

/A 7' ALUM/ALUM ROOF PANEL W/SNAP LOCK

<
N
ALUMINUM SKIN

BOTH SIDES

NOT TO SCALE
5/

#8 x /2" TEK SCREW (H7#150)
el2" 0.C. STAGGERED

SIDE TO SIDE

(ON TOP ¢ BOTTOM)

EXTRD ALUMINUM

7" ROOF BEAM (A+77RB)

) 4

SEALANT

(EXTERIOR ONLY)

ALUMINUM SKIN
BOTH SIDES

EPS FOAM

ALUMINUM SKIN
BOTH SIDES

m 7" ALUM/ALUM ROOF PANEL W/BEAMS

NOT TO SCALE
5/

SEALANT
(EXTERIOR ONLY)

ALUMINUM SKIN
; BOTH SIDES

EPS FOAM

1
\ ALUMINUM SKIN

BOTH SIDES

m 4-1/4" ALUM/ALUM ROOF PANEL W/SNAP LOCK

NOT TO SCALE
5/

#8 x 1/2" TEK SCREW (H7#150)

el12" 0.C. 5TAGGERED
SIDE TO SIDE
(ON TOP ¢ BOTTOM)

EXTRD ALUMINUM ———
4" ROOF BEAM (A#74RB)

-

b

/A 4- 14" ALUM/ALUM ROOF PANEL W BEAMS

SEALANT
(EXTERIOR ONLY)

ALUMINUM SKIN
BOTH SIDES

EPS FOAM

ALUMINUM SKIN
BOTH SIDES

NOT TO SCALE
5/

#8 x 1/2" TEK SCREW (H7#150)

el2" 0.C. STAGGERED
SIDE TO SIDE
(ON TOP ¢ BOTTOM)

EXTRD ALUMINUM

3" ROOF BEAM (A*73RB)

|APMO
UES ER-1 10

SEALANT
(EXTERIOR ONLY)

ALUMINUM SKIN
, " BOTH SIDES

EPS FOAM

f 1
\ ALUMINUM SKIN

BOTH SIDES
/ A\ 3" ALUM/ALUM ROOF PANEL W/SNAP LOCK.

NOT TO SCALE
5/

SEALANT
(EXTERIOR ONLY)
ALUMINUM &KIN
BOTH SIDES

EPS FOAM

ALUMINUM SKIN
BOTH SIDES

m 3" ALUM/ALUM ROOF PANEL WITH BEAMS

NOT TO SCALE
5/

HOLBROOK, NEW YORK 11741
DESIGNERS AND MANUFACTURERS

5005 VETERANS MEMORIAL HIGHWAY
OF FOUR SEASONS SUNROOMS

FOUR SEASONS SOLAR PRODUCTS, LLC.

DRAWING TITLE
ROOF DETAILS
SUN ¢ SHADE CATHEDRAL

||||||
-31-15 RD
0-1-18 RD

9-24-19 RD

/5\7—18—22 RD

REVIEWED BY: AS

DWG. BY: RD

DATE: 1-10-11

JOB#:

SHADECATH-13

5o 22



AutoCAD SHX Text
EXTR'D ALUMINUM 3" ROOF BEAM (A*73RB)

AutoCAD SHX Text
#8 x 1/2" TEK SCREW (H7*150) @12" O.C. STAGGERED SIDE TO SIDE  (ON TOP & BOTTOM)

AutoCAD SHX Text
ALUMINUM SKIN BOTH SIDES

AutoCAD SHX Text
EPS FOAM

AutoCAD SHX Text
SEALANT (EXTERIOR ONLY)

AutoCAD SHX Text
ALUMINUM SKIN BOTH SIDES

AutoCAD SHX Text
ALUMINUM SKIN BOTH SIDES

AutoCAD SHX Text
EPS FOAM

AutoCAD SHX Text
SEALANT (EXTERIOR ONLY)

AutoCAD SHX Text
ALUMINUM SKIN BOTH SIDES

AutoCAD SHX Text
ALUMINUM SKIN BOTH SIDES

AutoCAD SHX Text
EPS FOAM

AutoCAD SHX Text
SEALANT (EXTERIOR ONLY)

AutoCAD SHX Text
ALUMINUM SKIN BOTH SIDES

AutoCAD SHX Text
ALUMINUM SKIN BOTH SIDES

AutoCAD SHX Text
EPS FOAM

AutoCAD SHX Text
SEALANT (EXTERIOR ONLY)

AutoCAD SHX Text
ALUMINUM SKIN BOTH SIDES

AutoCAD SHX Text
#8 x 1/2" TEK SCREW (H7*150) @12" O.C. STAGGERED SIDE TO SIDE  (ON TOP & BOTTOM)

AutoCAD SHX Text
EXTR'D ALUMINUM 4" ROOF BEAM (A*74RB)

AutoCAD SHX Text
ALUMINUM SKIN BOTH SIDES

AutoCAD SHX Text
EPS FOAM

AutoCAD SHX Text
SEALANT (EXTERIOR ONLY)

AutoCAD SHX Text
ALUMINUM SKIN BOTH SIDES

AutoCAD SHX Text
ALUMINUM SKIN BOTH SIDES

AutoCAD SHX Text
EPS FOAM

AutoCAD SHX Text
ALUMINUM SKIN BOTH SIDES

AutoCAD SHX Text
SEALANT (EXTERIOR ONLY)

AutoCAD SHX Text
EXTR'D ALUMINUM 7" ROOF BEAM (A*77RB)

AutoCAD SHX Text
#8 x 1/2" TEK SCREW (H7*150) @12" O.C. STAGGERED SIDE TO SIDE  (ON TOP & BOTTOM)

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-15

AutoCAD SHX Text
15

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
ROOF DETAILS

AutoCAD SHX Text
SUN & SHADE CATHEDRAL

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD


/ 0SB PANEL

Q

5
S

Q

S
SRKK
SRR
RS

RS

9%

VAN

Q
Q

IS
553
2R

K

K
K

%

RRHRRKK
XS
XX

RS

|
X
KRS
S

Q

38
&S
00
&

KK

XXX
QK

RS

Q
<

TR

XX

LS
D
PORS

R

A’A

R

SRS
XX

EPS FOAM

ALUMINUM SKIN
INSIDE

m 7" OSB/ALUM ROOF PANEL W/SNAFP LOCK

NOT TO SCALE
e/

#8 x 1/2" TEK SCREW (H7+150)
el2" 0.C. 5STAGGERED

SIDE TO SIDE

(ON TOP ¢ BOTTOM)

SEALANT
(EXTERIOR ONLY)

/ 0%B PANEL

EXTRD ALUMINUM
7" ROOF BEAM (A*77RB)

.S

TRIM OUT
FOAM

~—EPS FOAM

ALUMINUM SKIN
INSIDE

/A 7' OSB/ALUM ROOF PANEL W/BEAMS

NOT TO SCALE
e/

/ 0SB PANEL

ALUMINUM SKIN
INSIDE

|APMO

UES ER-1 10

/ 0SB PANEL

NV

~—EPS FOAM

— —

V7

\055 PANEL

/A 4-1/4' OSB/OSB ROOF PANEL WO/BEAMS

NOT TO SCALE
e/

/A 4-1/4" OSBJ/ALUM ROOF PANEL W/SNAP LOCK.

NOT TO SCALE
e/

#8 x 1/2" TEK S5CREW (H7#150)
el2" 0.C. 5TAGGERED

SIDE TO SIDE

(ON TOP ¢ BOTTOM)

SEALANT
(EXTERIOR ONLY)

/055 PANEL

EXTRD ALUMINUM ]

4" ROOF BEAM (A#T74RB)

&4 ——TRM ouT
FOAM

ALUMINUM SKIN
INSIDE

/A 4-1/4" OSBJ/ALUM ROOF PANEL W/BEAMS

NOT TO SCALE
e/

#8 x 1/2" TEK 5CREW (H7#150)

el2" 0.C. 5STAGGERED
SIDE TO SIDE
(ON TOP ¢ BOTTOM)

SEALANT

/ 0SB PANEL

EXTRD ALUMNIM ——— |

4" ROOF BEAM (A#T74RB)

—

|_——TRM oUT
FOAM

~—EPS FOAM

—

: SN

0SB PANEL

[ A\ 4-1/4' OSB/OSB ROOF PANEL W/BEAMS

NOT TO SCALE
NI,

HOLBROOK, NEW YORK 11741
DESIGNERS AND MANUFACTURERS

5005 VETERANS MEMORIAL HIGHWAY
OF FOUR SEASONS SUNROOMS

FOUR SEASONS SOLAR PRODUCTS, LLC.

(EXTERIOR ONLY)

DRAWING TITLE

ROOF DETAILS
SUN ¢ SHADE CATHEDRAL

||||||
-31-15 RD
0-1-18 RD

9-24-19 RD

/5\7—18—22 RD

REVIEWED BY: AS

DWG. BY: RD

DATE: 1-10-11

JOB#:

SHADECATH-16

16 o 22



AutoCAD SHX Text
ALUMINUM SKIN INSIDE

AutoCAD SHX Text
EPS FOAM

AutoCAD SHX Text
OSB PANEL

AutoCAD SHX Text
ALUMINUM SKIN INSIDE

AutoCAD SHX Text
EPS FOAM

AutoCAD SHX Text
OSB PANEL

AutoCAD SHX Text
SEALANT (EXTERIOR ONLY)

AutoCAD SHX Text
#8 x 1/2" TEK SCREW (H7*150) @12" O.C. STAGGERED SIDE TO SIDE  (ON TOP & BOTTOM)

AutoCAD SHX Text
EXTR'D ALUMINUM 4" ROOF BEAM (A*74RB)

AutoCAD SHX Text
EPS FOAM

AutoCAD SHX Text
OSB PANEL

AutoCAD SHX Text
SEALANT (EXTERIOR ONLY)

AutoCAD SHX Text
#8 x 1/2" TEK SCREW (H7*150) @12" O.C. STAGGERED SIDE TO SIDE  (ON TOP & BOTTOM)

AutoCAD SHX Text
EXTR'D ALUMINUM 4" ROOF BEAM (A*74RB)

AutoCAD SHX Text
EPS FOAM

AutoCAD SHX Text
OSB PANEL

AutoCAD SHX Text
ALUMINUM SKIN INSIDE

AutoCAD SHX Text
EPS FOAM

AutoCAD SHX Text
OSB PANEL

AutoCAD SHX Text
ALUMINUM SKIN INSIDE

AutoCAD SHX Text
EPS FOAM

AutoCAD SHX Text
OSB PANEL

AutoCAD SHX Text
SEALANT (EXTERIOR ONLY)

AutoCAD SHX Text
#8 x 1/2" TEK SCREW (H7*150) @12" O.C. STAGGERED SIDE TO SIDE  (ON TOP & BOTTOM)

AutoCAD SHX Text
EXTR'D ALUMINUM 7" ROOF BEAM (A*77RB)

AutoCAD SHX Text
OSB PANEL

AutoCAD SHX Text
OSB PANEL

AutoCAD SHX Text
TRIM OUT FOAM

AutoCAD SHX Text
TRIM OUT FOAM

AutoCAD SHX Text
TRIM OUT FOAM

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-16

AutoCAD SHX Text
16

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
ROOF DETAILS

AutoCAD SHX Text
SUN & SHADE CATHEDRAL

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD

Brian
Highlight

Brian
Highlight


3 FULL PANELS

FIGURE 1

FRONT VIEW
46 118" O0.C. ——————

TOP VIEW

4 FT PANEL

21 1/2
R.O.

7772722222777

41316

Lz@ 13/1¢6" "
MIN. MAX.

\ \
\ 3" WALL PANEL
ROUGH "

OPENING

— 117 |~ |15-5"=] 4 FULL PANELS
I I Iﬁﬂ NI
=193~ 5 FuLL PANELS
I M (N IN NI
YN
23" ¢ PANELS OTE: SEF DET
NOTE: SEE DETAILS
TTTs : I IN N| |m i g.lm
| o LN,
- 27° | 7 FULL PANELS
I I 15 ¢ | FOR SNAPLOCK £ r-BEAN
0 010 [N N 0 & orrions.
I N M (N I 0| I
|~— 30-10" ——| & FULL PANELS
1T, : I I al || s I IN g NI
I I I NN I IN I I (N I
34—  sruLPanES
I I i Wi (M| (¥ ¥ I I |
g |n B (B[ |8 I B | |8 I I ; d
I I Wy (6| (¥ IN | |N NI

GABLE WALL

NOTES:

2.

OPENINGS ARE ALLOWED FOR 4'-O" WIDE PANELS ONLY.

SKYLIGHTS CAN ONLY BE CENTERED IF

YOU CHOOSE A ROOF LENGTH

SHOWN BELOW WHERE FOUR SEASONS SHIPS
ALL FULL PANELS.

SKYLIGHTS ARE TO BE CENTERED IN THE
ROOF PANEL

SKYLIGHTS CAN NOT BE INSTALLED IN
ADJACENT BAYS

. NO MORE THAN ONE SKYLIGHT INSTALLED

PER ROOF PANEL

SKYLIGHTS MAY BE INSTALLED IN THE
TWO GABLE END PANELS ONLY IF

THEY ARE FULL PANELS AND THERE IS

A MAXIMUM OVERHANG OF | 2"

OR IF THERE 1S NO GABLE END WALL
(SEE FIGURE ).

DIMENSIONS SHOWN ARE ACTUAL ROOF
LENGHTS. YOU MUST SUBTRACT

THE OVERHANG BY 2 TO DETERMINE THE
LENGTH OF THE FRONT WALL.

HALF PANELS TO BE CREATED IN FIELD BY
CUTTING FULL PANELS.

OVERALL ROOF CAPACITY MUST BE REDUCED
BY 25% WHEN USING ROOF VENTS.

|APMO

UES ER-1 10

HOLBROOK, NEW YORK 11741
DESIGNERS AND MANUFACTURERS

5005 VETERANS MEMORIAL HIGHWAY
OF FOUR SEASONS SUNROOMS

FOUR SEASONS SOLAR PRODUCTS, LLC.

DRAWING TITLE
ROOF VENT LOCATIONS
SUN ¢ SHADE CATHEDRAL

||||||
-31-15 RD
0-1-18 RD

9-24-19 RD

/5\7—18—22 RD

REVIEWED BY: AS

DWG. BY: RD

DATE: 1-10-11

JOB#:

SHADECATH-17

17 o 22



AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-17

AutoCAD SHX Text
17

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
ROOF VENT LOCATIONS

AutoCAD SHX Text
SUN & SHADE CATHEDRAL

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD


OSB SKYLIGHT ASSEMBLY
(BF2246M78)

STEP FLASHING TYPICAL BOTH
SIDES BY OTHERS

LEXEL(TM) SEALANT SUPPLIED
BY OTHERS

ROOF SHINGLES TYPICAL
BY OTHERS

22 1/4" ROUGH OPENING

22" GLASS WIDTH

1/8" — |=— —] |— | /8"

v
— 78" |—
A

LIRS

L
—
=
—
VA
A‘

BUTYL TAPE INSTALLED AT FACTORY
AT FLANGE PERIMETER,
TOP AND BOTTOM.

0SB ROOF

PANEL x

NOTE:

ROOFING NAILS INSTALLED
&" ON CENTER. DO NOT NAIL
THROUGH FLANGE. THE HEAD
OF THE NAIL SHOULD CATCH
THE EDGE OF THE FLANGE.

INSTALL TOP AND SIDES ONLY.

o L ]

SILICONE
SEALANT

A7*172-165U CUT TO FIT, 45
DEGREE AT CORNERS

#8x1/2" TEK SCREW
(7*150) TYPICAL

/“ A\ SKYLIGHT DETAIL w/ 4" OSB ROOF PANEL

NOT TO SCALE
g/

22" GLASS WIDTH

[——22 3/4" ROUGH OPENING

7" ROOF PANEL

22 3/4" ROUGH

38— OPENING

22" GLASS WIDTH

[=—23/8"

|APMO
UES ER-1 10

ALUMINUM
SKYLIGHT ASSEMBLY
(7MO9 IM78)

SEALANT TAPE
(CN4907)

#8x1/2" TEK SCREWS
(7*150) (TYPICAL)

ALUMINUM
SKYLIGHT ASSEMBLY
(7TMO9 I M78)

SEALANT TAPE
(CN4907)

#8x1/2" TEK SCREWS
(7*150) (TYPICAL)

FIELD CAULK BEFORE ¢
AFTER INSTALLATION

T

CAULK CORNER JOINTS

BETWEEN TRIM

(SEE DRAWING ABOVE)

SKYLIGHT TRIM

(BREAK OFF PROVIDED

FOR 3" ¢ 3 1/2"
ROOF PANELS)

FIELD CAULK BEFORE &
AFTER INSTALLATION

[=— 3" ROOF PANEL —=

#6x1/2" TEK SCREW
(77 150) TYPICAL

m SKYLIGHT DETAIL w/ 3" ALUMINUM ROOF PANEL

NOT TO SCALE
N

22" GLASS WIDTH
3/8"— =22 3/4" ROUGH OFENING [—23/8"
A} Fa:
] [
i

DEII:‘”:

4 1/4" ROOF PANEL

X

ALUMINUM
SKYLIGHT ASSEMBLY
(7TM9O9 1 M78)

SEALANT TAPE
(CN4907)

#8x1/2" TEK SCREWS
(7*150) (TYPICAL)

FIELD CAULK BEFORE #
AFTER INSTALLATION

4 1/4" ROOF PANEL

-/

CAULK CORNER JOINTS
BETWEEN TRIM

SKYLIGHT
TRIM

/~ A"\ SKYLIGHT DETAIL w/ 7" ALUMINUM ROOF PANEL

NOT TO SCALE
\g/

#8x1/2" TEK SCREW
(77 150) TYPICAL

CAULK CORNER JOINTS
BETWEEN TRIM

SKYLIGHT
TRIM

#8x1/2" TEK SCREW
(7*150) TYPICAL

m SKYLIGHT DETAIL w/ 4" ALUMINUM ROOF PANEL

NOT TO SCALE

NI

HOLBROOK, NEW YORK 11741
DESIGNERS AND MANUFACTURERS

5005 VETERANS MEMORIAL HIGHWAY
OF FOUR SEASONS SUNROOMS

FOUR SEASONS SOLAR PRODUCTS, LLC.

£33
Ite

DRAWING TITLE

ROOF VENT DETAILS
SUN ¢ SHADE CATHEDRAL

REV. No.| DATE

@
=

Z=T6=1%  RD
-31-15 RD
0-1-18 RD

9-24-19 RD

/5\7—18—22 RD

REVIEWED BY: AS

DWG. BY: RD

DATE: 1-10-11

JOB#:

SHADECATH-18

18 o 22



AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-18

AutoCAD SHX Text
18

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
ROOF VENT DETAILS

AutoCAD SHX Text
SUN & SHADE CATHEDRAL

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD


SILICONE SEALANT

CONT. EXTR'D ALUMINUM

CLOSED SILL (A*7CS) BELOW

BY INSTALLER

OUTSIDE

FLASHING

#8 x 1/2" TEK SCREW (H7#150)

EXTRD ALUMINUM

FLOOR SHEATHING

PROFESSIONAL)

N ;
®Y OTHEE5)—/

T—— | CONNECTIONS

20, 21, ¢ 22.

6= .42 MINIMUM)

@ 16" 0.C. MAX. EACH SIDE

CLOSED 5ILL (A%7C5)
2x6 DECKING OR 3/4" PLYWOOD

(TO BE EVALUATED BY A DESIGN

ARE SHOWN ON DRAWING

SEE GENERAL DRAWING "7"
-\S
— DOUBLE 2Xé JOIST ROOM PERIMETER

(TO BE EVALUATED BY A DESIGN

EXTR'D ALUMINUM

WINDOW JAMB (A7* 13 1U)

#8 x 1/2" TEK SCREW (H7*150)
SIX AT EACH COLUMN

NOTE:
CONNECTION
@ EAVE SIMILAR

exrro aovinom INSIDE ROOM

CORNER COLUMN

NOTE:
2 LAG BOLTS @ TOP 6" OF CONNECTION
COLUMN SPACE & 3" 0.C. @ EAVE SIMILAR
VERTICALLY ¢ @ 18" 0.C.

INSIDE ROOM

OUTSIDE FACE OF
EXISTING STRUCTURE
(@ STRUCTURAL
FRAMING)

APPLY CAULKIN
BETWEEN SILL ¢ WALL

#8 x 1/2" TEK S5CREW
(H7=150) SIX AT EACH
COLUMN

EXTRD ALUMINUM
STD. H-COLUMN (A7#111)

|APMO
UES ER-110

EXTRD ALUMINUM

CLOSED 3sILL (A#7C5)
PLACED VERTICALLY AGAINST
WALL (SHOWN) OR EXTENSION
SILL (A#7XS)

#8 x 1/2" TEK SCREW
(H7+150) @ 16" O.C.

EACH SIDE VERTICALLY

PROFESSIONAL)

12X PLOCKING

6= .42 MINIMUM)
IF REQUIRED FOR LAGS.

(TO BE EVALUATED BY A DESIGN

NOTE:
|. 8EE

PROFESSIONAL)

UNIT WIDTH / LENGTH ————

FOR ALTERNATE
DETAILS

2. CONNECTION TO FOUR SEASONS
"CONSERVA DECK" SAME AS SHOWN

/A SILL TO DECK. CONNECTION DETAIL

NOT TO SCALE
2/

le—2 1/2" MIN.——|
Vv

T
INSIDE &

3 1/2" EXPOSED

.

[——3 1/2" EXPOSED

PLAN VIEW

EXTRD ALUMINUM
H-CHANNEL (A*7 11 1)

CONNECTIONS

ARE SHOWN ON DRAWING
20, 21, ¢ 22.

SEE GENERAL DRAWING "7"

/" C™\ CORNER POST CONNECTION AT SILL

NOT TO SCALE
NEY

o
X
-
FLASHING—] 3
®Y OTHERS) = | STRUCTURAL CONCRETE SLAB NOTE:
—— —————1<4 MINIMUM OF 2500 pei CONNECTION
A NP I / .| (IO BE EVALUATED BY A DESIGN @ EAVE SMILAR
T PN a W 4T PROPESSIONAL)
SV s N AT s e ] CoNNECTIONS
Qe e [3  T, T ET ARE SHOWN ON DRAWNG
ol T e el 20,21, 22, .
4 ra- L. q . 4. < PR . Nt 5
e T St a1 | SEE GENERAL DRAWING 7
3 : A . q-..__ . ‘ . < - .4.-4: a “‘.-7:4‘
L RPN R | D A e -7
| 3/4" ] 3/4" -
—{FOUNDATION - UNIT WIDTH / LENGTH——~| T ‘1’////’/////
PROJECTION A o
FOR DETAILS —
NOT SHOWN SEE L _

/Eﬁ\ SILL TO CONCRETE SLAB CONNECTION DETAIL

NEY,

NOT TO SCALE

(D

PLAN VIEW

#8 x 1/2" TEK 5CREW
(H7#150) SIX AT
EACH COLUMN

NOTE:
CONNECTION
@ EAVE SIMILAR

INSIDE ROOM

2 7/8" THK. WALL PANEL
EXTRD ALUMINUM
UTILITY COVER (A%56T)

#8 x /2" TEK SCREW (H7#150)
SIX AT EACH COLUMN

EXTRD ALUMINUM
UTILITY H-COLUMN (A7#145)

EXTRD ALUMINUM
WINDOW JAMB (A7#131U)

CONNECTIONS

ARE SHOWN ON DRAWING
20, 21, ¢ 22.

SEE GENERAL DRAWING "7"

CONT. EXTRD ALUMINUM
CLOSED SILL (A%7C5)

UTILITY H-CHANNEL CONNECTION AT SILL

NOT TO SCALE
2/

NOTE:
|. 5EE

#8 x 1/2" TEK SCREW
H7+150) el&" 0.C.
MAX. VERTICALLY

FOR DETAILS

v EXCEPT AT TOP 9"
ﬂ PLAN VIEV\/\ PROVIDE 3 EACH SIDE
FOR ALTERNATE — (5PACE 3" 0.C)
DETAILS

EXTRD ALUMINUM
WINDOW JAMB (A7#I31V)

/" E "\ GABLE ATTACHMENT AT HOUSEWALL w/WINDOW

NOT TO SCALE
2/

NOT SHOWN SEE

2 7/8" THK. WALL PANEL

A
PLAN VIEW

/f_:\ GABLE ATTACHMENT AT HOUSEWALL w/SOLID PANEL

NOT TO SCALE
2/

EXTRD ALUMINUM
STD. H-COLUMN (A7111)

CONNECTIONS

ARE SHOWN ON DRAWING
20, 21, ¢ 22.

SEE GENERAL DRAWING "7"

FOUR SEASONS SOLAR PRODUCTS, LLC.

A
<}
v

HOLBROOK, NEW YORK 11741
DESIGNERS AND MANUFACTURERS

5005 VETERANS MEMORIAL HIGHWAY
OF FOUR SEASONS SUNROOMS

2 7/8" THK. WALL PANEL

PLAN VIEW
/"G \ H-CRANNEL CONNECTION AT SILL

NOT TO SCALE
2/

A
<C
=
1l
A Tl
el Bl e
< <
Ol L ©
2 By
g 2T
a) <g( \
W)
Z
D)
o)
REV. No.| DATE | BY
/5\7—15—22 RD
REVIEWED BY: AS
DWG. BY: RD
DATE: 1-10-11
JOBY:

SHADECATH-19

19 o 22



AutoCAD SHX Text
#8 x 1/2" TEK SCREW (H7*150) SIX AT EACH COLUMN 

AutoCAD SHX Text
EXTR'D ALUMINUM UTILITY H-COLUMN (A7*145)

AutoCAD SHX Text
EXTR'D ALUMINUM UTILITY COVER (A*5GT)

AutoCAD SHX Text
EXTR'D ALUMINUM WINDOW JAMB (A7*131U)

AutoCAD SHX Text
CONT. EXTR'D ALUMINUM CLOSED SILL (A*7CS)

AutoCAD SHX Text
2 7/8" THK. WALL PANEL

AutoCAD SHX Text
FLASHING  (BY OTHERS)

AutoCAD SHX Text
FLASHING  (BY OTHERS)

AutoCAD SHX Text
INSIDE OF ROOM

AutoCAD SHX Text
NOTE: 1. SEE                   FOR ALTERNATE                            DETAILS

AutoCAD SHX Text
2. CONNECTION TO FOUR SEASONS "CONSERVA DECK" SAME AS SHOWN

AutoCAD SHX Text
OUTSIDE OF ROOM

AutoCAD SHX Text
INSIDE OF ROOM

AutoCAD SHX Text
FOR DETAILS NOT SHOWN SEE

AutoCAD SHX Text
OUTSIDE OF ROOM

AutoCAD SHX Text
NOTE: CONNECTION @ EAVE SIMILAR

AutoCAD SHX Text
#8 x 1/2" TEK SCREW (H7*150) @ 16" O.C. MAX. EACH SIDE

AutoCAD SHX Text
EXTR'D ALUMINUM CLOSED SILL (A*7CS)

AutoCAD SHX Text
2x6 DECKING OR 3/4" PLYWOOD FLOOR SHEATHING (TO BE EVALUATED BY A DESIGN PROFESSIONAL)

AutoCAD SHX Text
DOUBLE 2X6 JOIST ROOM PERIMETER G= .42 (MINIMUM) (TO BE EVALUATED BY A DESIGN PROFESSIONAL)

AutoCAD SHX Text
2X BLOCKING G= .42 (MINIMUM) IF REQUIRED FOR LAGS. (TO BE EVALUATED BY A DESIGN PROFESSIONAL)

AutoCAD SHX Text
STRUCTURAL CONCRETE SLAB MINIMUM OF 2500 psi (TO BE EVALUATED BY A DESIGN PROFESSIONAL)

AutoCAD SHX Text
2 LAG BOLTS @ TOP 6" OF COLUMN SPACE @ 3" O.C. VERTICALLY & @ 18" O.C. 

AutoCAD SHX Text
FOR DETAILS NOT SHOWN SEE

AutoCAD SHX Text
#8 x 1/2" TEK SCREW  (H7*150) @16" O.C. MAX. VERTICALLY

AutoCAD SHX Text
OUTSIDE FACE OF EXISTING STRUCTURE (@ STRUCTURAL FRAMING)

AutoCAD SHX Text
APPLY CAULKING BETWEEN SILL & WALL

AutoCAD SHX Text
#8 x 1/2" TEK SCREW  (H7*150) SIX AT EACH  COLUMN

AutoCAD SHX Text
EXTR'D ALUMINUM STD. H-COLUMN (A7*111)

AutoCAD SHX Text
NOTE: 1. SEE                   FOR ALTERNATE                            DETAILS

AutoCAD SHX Text
NOTE: CONNECTION @ EAVE SIMILAR

AutoCAD SHX Text
2 7/8" THK. WALL PANEL

AutoCAD SHX Text
#8 x 1/2" TEK SCREW (H7*150) SIX AT EACH COLUMN 

AutoCAD SHX Text
EXTR'D ALUMINUM WINDOW JAMB (A7*131U)

AutoCAD SHX Text
EXTR'D ALUMINUM CLOSED SILL (A*7CS) PLACED VERTICALLY AGAINST WALL (SHOWN) OR EXTENSION SILL (A*7XS)

AutoCAD SHX Text
EXTR'D ALUMINUM STD. H-COLUMN (A7*111)

AutoCAD SHX Text
2 7/8" THK. WALL PANEL

AutoCAD SHX Text
NOTE: CONNECTION @ EAVE SIMILAR

AutoCAD SHX Text
#8 x 1/2" TEK SCREW  (H7*150) @ 16" O.C. EACH SIDE VERTICALLY EXCEPT AT TOP 9" PROVIDE 3 EACH SIDE (SPACE 3" O.C.)

AutoCAD SHX Text
SILICONE SEALANT BY INSTALLER

AutoCAD SHX Text
CONNECTIONS ARE SHOWN ON DRAWING 20, 21, & 22.  SEE GENERAL DRAWING "7"

AutoCAD SHX Text
CONNECTIONS ARE SHOWN ON DRAWING 20, 21, & 22.  SEE GENERAL DRAWING "7"

AutoCAD SHX Text
CONNECTIONS ARE SHOWN ON DRAWING 20, 21, & 22.  SEE GENERAL DRAWING "7"

AutoCAD SHX Text
CONNECTIONS ARE SHOWN ON DRAWING 20, 21, & 22.  SEE GENERAL DRAWING "7"

AutoCAD SHX Text
CONNECTIONS ARE SHOWN ON DRAWING 20, 21, & 22.  SEE GENERAL DRAWING "7"

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-19

AutoCAD SHX Text
19

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
WALL DETAILS

AutoCAD SHX Text
SUN & SHADE CATHEDRAL

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD

Brian
Highlight

Brian
Highlight

Brian
Highlight


AVEVEVAVEN

LOAD: 20 PSF / V3s 90 MPH WIND LOAD EXP. B 2012 IRC
LOAD: 20 P3F / Vult |18 MPH WIND LOAD EXP. B (2012) IBC, (2015) (2018) (2021) IBC/IRC ¢ (2019)/(2022) CBC

FOUR SEASONS SUNROOMS 230 SUN ¢ SHADE CATHEDRAL DESIGN

V3s 90 MPH WIND LOAD EXP. B 2012 IRC
Vult 118 MPH WIND LOAD EXP. B (2012) IBC, 2015/201862021 IBC/IRC ¢ 2019/2022 CBC

ROOF PITCH : 4 ON 12
LOAD: 60 PSF / V3s 90 MPH WIND LOAD EXP. B 2012 IRC

LOAD: 60 P5F / Vult 118 MPH WIND LOAD EXP. B (2012) IBC, (2015) (2018) (2021) IBC/IRC ¢ (2019)/(2022) CBC

|APMO
UES ER-1 10

WALL ¢ ROOF FRAMING CONFIGURATION WALL ¢ ROOF FRAMING CONFIGURATION
FRONT WALL LENGTH, FT. FRONT WALL LENGTH, FT.
PROJECTION, FT. PROJECTION, FT.
2' 14' &' &' 20' 22' 24 2' 14' &' &' 20' 22' 24
10 WA-PI-CIRI WAPICIRI WA-PI-CIRI WA-PI-CIRI WAPICIRI WA-PI-CIRI WA-P2-CIRI 10 WA-PI-CIRI WAPICIRI WA-P2-CIRI WAP4—CI-RI WA-P5-CIRI WB-P6—CIRI WB-P6-C-R2
Il WA-PI-CIRI WAP|-CIRI WA-PI-CIRI WA-PI-CIRI WAPICIRI WA-PI-CIRI WA-P2-CIRI Il WA-PI-CIRI WAP|-CIRI WA-P2-CIR| WA-P4CI-R2 WA-P5-C1R2 WB-P6—CI-R3 WB—P6-C|-R3
12 WA-PI-CIRI WAPI-CIRI WA-PI-CIRI WA-PI-CIRI WAPICIRI WA-PI-CIRI WA-P2-CIRI 12 WA-PI-CIRI WAP1CIR2 WA-P2-CIR2 WA-P4-C|-R3 WA-P5-C|-R3 WB-P&-CI-R3 WB-P6-C|-R3
13 WAPI-CIRI WAPI-CIRI WAPI-CIRI WAPI-CIRI WAPICIRI WA-PI-CIRI WA-P2-CIRI 13 WA-PI-CI-R2 WAPI-CIR2 WA-P2-CI-R3 WA-P4-CIR3 WA-P5-C|-R3 WB-P6-CI-R3 WB-P6-C|-R3
14 WA-PI-CIRI WAPI-CIRI WA-PI-CIRI WA-PI-CIRI WAPICIRI WA-PI-CIR2 WA-P2-CIR2 14 WA-PI-CI-R2 WA-PI-CIR3 WA-P2-CI-R3 WA-P4-C|-R3 WA-P5-C|-R3 WB-P&-CI-R3 WB-P6-C-R3
16 WAPI-CIRI WAPICIRI WA-PI-CI-R2 WAPI-CIR2 WA-PI-CIR2 WA-PI-CI-R2 WAP2-CIR3 16 WAPI-CI-R3 WAPI-CIR3 WA-P2-CI-R3 WAP4-CI-R3 WAPS-CI-R4 WB-P6-C |-R4 WB-P6—C R4
B WA-PI-CI-R2 WAP1-CIR2 WA-PI-CI-R2 WAPI-CI-R3 WA-PI-CI-R3 WA-PI-CI-R3 WA-P2-CIR3 B WA-PI-CI-R3 WA-PI-CIR3 WA-P2-CI-R4 WA-P4-C A5 C | -RoE P6CI-R5 5
20 WA-PI-CIR3 WA-PI-CIR3 WA-PI-CI-R3 WAPI-CI-R3 WAPI-CI-R3 WA-PI-CI-R3 WAP2-CIR3 20 WAPI-CI-R3 WAPI-CI-R4 | WAP2-CIR4 WAPA-C 1 AP5C|-R5: B6-C
22 WA-P|-C|R3 WA-PI-C|R3 WA-PI-CI-R3 WAP|-CI-R3 WA-PI-CI-R3 WA-P|-C|-R3 WA-P2-C|-R4 2 [ wA-PI-CIR4 WAPI-C RETER O WA-PA-C |-B5 APS-CI-R P6-C
24 WA-PI-CIR3 WA-PI-CIR3 WA-PI-CI-R3 WA-PI-C|-R4 WA-P -CI-R4 WAP|-CI-R4 WA-P2-C|-R4 24 ERWAP-C-R58 WAPI-C g5 WA-P4-C|-RS AP5C P6-C

LOAD: 40 P5F / V3s 90 MPH WIND LOAD EXP. B 2012 IRC
LOAD: 40 PSF / Vult 11& MPH WIND LOAD EXP. B (2012) IBC, (2015) (2018) (2021) IBC/IRC ¢ (2019)/(2022) CBC

LOAD: 80 PSF / V3s 90 MPH WIND LOAD EXP. B 2012 IRC
LOAD: 80 PSF / Vult 118 MPH WIND LOAD EXP. B (2012) IBC, (2015) (2018) (2021) IBC/IRC ¢ (2019)/(2022) CBC

WALL ¢ ROOF FRAMING CONFIGURATION

WALL ¢ ROOF FRAMING CONFIGURATION

HOLBROOK, NEW YORK 11741
DESIGNERS AND MANUFACTURERS

5005 VETERANS MEMORIAL HIGHWAY
OF FOUR SEASONS SUNROOMS

FOUR SEASONS SOLAR PRODUCTS, LLC.

FRONT WALL LENGTH, FT. FRONT WALL LENGTH, FT.
PROJECTION, FT. PROJECTION, FT.
12 14' B B 20' 22 24 12 14' B B 20' 22 24
10 WA-PI-CI-RI WA-PI-CI-RI WAPI-CI-RI WA-P2-C|RI WA-P3-CIRI WA-P4-CIRI WA-PS-CIRI 10 WA-PI-CI-RI WA-P2-C|RI WA-P4-CIRI WA-P6-CI-R2 WA-P6-CI-R3 WB-P7-C|-R3 WB-P7-CI-R3
11 WA-PI-CI-RI WA-PI-CI-RI WAPI-CI-RI WA-P2-C|RI WA-P3-CIRI WA-P4-CIRI 11 WA-PI-CI-RI WA-P2-C|-R2 WA-P4-CI-R3 WA-P6-CI-R3 WA-P6-CI-R3 WB-P7-C|-R3 WB-P7-CI-R3
12 WA-PI-CI-RI WA-PI-CI-RI WA-PI-CI-RI WA-P2-C|-RI WA-P3-C |-R2 WA-P4-C1-R2 12 WA-P|-C1-R2 WA-P2-C|-R3 WA-P4-CI-R3 WA-P6-C1-R3 WA-P&-CI-R3 WB-P7-C|-R3 WB-P7-C|-R3
13 WA-PI-CI-RI WA-PI-CI-RI WA-P|-CI-R2 WA-P2-C|-R2 WA-P3-C |-R2 WA-P4-C1-R2 13 WA-P|-C1-R2 WA-P2-C|-R3 WA-P4-CI-R3 WA-P6-C1-R3 WA-P&-CI-R3 WB-P7-C|-R3 WB-P7-C|-R4
14 WA-PI-CI-RI WA-PI-CI-R2 WA-P|-CI-R2 WA-P2-C|-R2 WA-P3-CI-R3 WA-P4-CI-R3 14 WA-PI-CI-R3 WA-P2-C|-R3 WA-P4-C|-R3 WA-P6-CI-R3 WA-P6-Cl-R4 WB-P7-C|-R4 WB-P7-C|-R4
16 WA-PI-CI-R2 WA-P|-CI-R3 WA-P|-CI-R3 WA-P2-C|-R3 WA-P3-CI-R3 WA-P4-CI-R3 16 WA-PI-CI-R3 WA-P2-C|-R3 WA-P4-C |-R4 _WA-P6-C1-R4 WA-P6-C R WB-P7-C |-
18 WA-PI-C|-R3 WA-P|-CI-R3 WA-P|-CI-R3 WA-P2-C|-R3 WA-P3-CI-R3 WA-P4-CI-R3 18 WA-P|-C|-R4 WA-P2-C |-R4 : TS 6-C | -R5! WA-P6-C EWB-P7-C
20 WA-PI-CI-R3 WAPI-CIR3 WA-PI-CI-R3 WA-P2-C|-R4 WA-P4-C |-R4 20 WA-PI-CI-R4 EEWA-P2-CI-RSE 6-C |-RS IWA-P6-C WB-P7-C
22 WA-PI-CI-R3 WA-P|-C|-R4 WA-PI-CI-R4 WA-P2-C|-R4 X 3 22 WAP -C|-R5% A-P2-C | -RSZ 6-C |-RS! WA-P6-C WB-P7-C
24 WAP|-Cl|-R4 WA-P|-C|-R4 WA-PI-CI-R4 @A—PZ—GI—R’) 24 WA-P |-C |-R5. WA-P2-C | -R5:! 6-C |-RS CWA-P6-C sWB-P7-C |-
CONNECTION OPTIONS ROOF PANEL SELECTION
OPTION SILL TO FON | POST TO SILL | EAVE TO POST | PANEL TO EAVE |RIDGE TO PANEL | RIDGE TO POST | RIDGE TO BLDG. PI
(2) 3/8" DIA. AT (BY48 CORNER POST 4) 3/ P2 Vult 1 18 MPH
" . 4) 3/8" RIDGE TO "
. EAGH PoST ¢ 306" | (o6 LITE posT | (BB CORERPOST | 414 g oo | e/ PaEL ()  RE @ /8! RDGE T0 53 SEE SEPARATE EVALUATION
DIA. AT l6"0C. | ©#8UTLITY POST | (RO TERSSl | #i4e 12" (5DB) (o¥8/ PANEL (B) @ 3/8'CLPTO | g pRAWNG 13" REPORT
MAX. (4) 3/8" 7BP POST POST P4 FOR ALL ROOF PANEL SIZING L g
s Projection ft 14 -top left
(2) 3/8" DIA. AT | (B#IO CORNER POST 1/4" @ 9" (FRONT) @) 3/8" RIDGE TO ]
2 EACH POST ¢ 3/8 | (W10 LITE POST ORI0 SORMERSIST | /4" 12" DB oMo/ PR () cLP (©) 3/8 RDee 10 P6 box
DIA. AT 16" OC. OMW10 UTILITY POST (HIGH WIND 6X10/ PANEL 4) 3/8" CLIP TO wqn P7
MAX. (4) 3/8" TBP POST (6)X10 UTILITY POST CONDITION) POST SEE DRAWING "13
(9 RIDGE BEAM SELECTION Connection Options Cl
RI 77B
WALL FRAMING OPTIONS R2 7TB WITH STEEL TUBE INSERT Roof Panel Selection P1
PO DESIGNATION R3 12LW
R4 |2LW-4R5B . .
WA CORNER COLUMN LITE "H" LITE H' UTILITY "o UTILITY "H'/78P | ADJUSTABLE EAVE | _UTILITY EAVE 25 5TEEL BY OTHERS Rldge Beam Selection R1
W CORNER COLUMN LITE "H"/4RsP LITE "H" UTILITY "H"/7BP UTILITY "H'/7BP | ADJUSTABLE EAVE UTILITY EAVE
Notes:

| . The ultimate (Vult) wind loading are as per

3.

|91

7. The values indicated on the chart are for uniform loads and do not include special load conditions created by attachment to the existing structure.

. H-beams to be 74RB.
. aluminum alloy 15 6005-t5, panel alloy 15 3105-H25.

1. 2012 1BC, 2015/2018/202 1 IBC/IRC and 2019/2022 CBC.
2. The V-3s wind loading are as per 2012 IRC.
Shaded areas represents that steel ridge beam and post (to be designed by others) 1s required.

This summary pertains to the structural integrity of our unit up to, but not including, the connections to the existing structure and/or any new
construction. All substructure design requirements, and connections to the existing structure are not included in the scope of work for the four
seasons product and must be designed by a local design professional.

These may include snow drifting or unbalanced snow loading. Any special loading conditions must be evaluated by a local design professional.

Wall Framing Option WA

DRAWING TITLE
90 MPH LOAD CHARTS

2| 230 SUN ¢ SHADE CATHEDRAL

REV. No.| DATE

@
=<

Z=T6=1# RD
-31-15 RD
0-1-18 RD

9-24—-19 RD

/5\7—18—22 RD

REVIEWED BY: AS

DWG. BY: RD

DATE: 1-10-11

JOB4:

SHADECATH-20

20 o 22



AutoCAD SHX Text
WALL & ROOF FRAMING CONFIGURATION

AutoCAD SHX Text
FRONT WALL LENGTH, FT.

AutoCAD SHX Text
PROJECTION, FT.

AutoCAD SHX Text
12'

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
10

AutoCAD SHX Text
14'

AutoCAD SHX Text
16'

AutoCAD SHX Text
18'

AutoCAD SHX Text
20'

AutoCAD SHX Text
22'

AutoCAD SHX Text
24'

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
16

AutoCAD SHX Text
18

AutoCAD SHX Text
20

AutoCAD SHX Text
22

AutoCAD SHX Text
24

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P2-C1-R2

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P2-C1-R4

AutoCAD SHX Text
WA-P2-C1-R4

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WALL & ROOF FRAMING CONFIGURATION

AutoCAD SHX Text
FRONT WALL LENGTH, FT.

AutoCAD SHX Text
PROJECTION, FT.

AutoCAD SHX Text
12'

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
10

AutoCAD SHX Text
14'

AutoCAD SHX Text
16'

AutoCAD SHX Text
18'

AutoCAD SHX Text
20'

AutoCAD SHX Text
22'

AutoCAD SHX Text
24'

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
16

AutoCAD SHX Text
18

AutoCAD SHX Text
20

AutoCAD SHX Text
22

AutoCAD SHX Text
24

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P2-C1-R2

AutoCAD SHX Text
WA-P2-C1-R2

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P3-C1-R3

AutoCAD SHX Text
WA-P3-C1-R2

AutoCAD SHX Text
WA-P3-C1-R2

AutoCAD SHX Text
WA-P3-C1-R1

AutoCAD SHX Text
WA-P3-C1-R1

AutoCAD SHX Text
WA-P4-C1-R2

AutoCAD SHX Text
WA-P4-C1-R2

AutoCAD SHX Text
WA-P4-C1-R1

AutoCAD SHX Text
WA-P4-C1-R1

AutoCAD SHX Text
WA-P5-C1-R2

AutoCAD SHX Text
WA-P5-C1-R2

AutoCAD SHX Text
WA-P5-C1-R1

AutoCAD SHX Text
WA-P5-C1-R1

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P3-C1-R3

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P5-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P2-C1-R4

AutoCAD SHX Text
WA-P2-C1-R4

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P3-C1-R3

AutoCAD SHX Text
WA-P3-C1-R4

AutoCAD SHX Text
WA-P3-C1-R5

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R4

AutoCAD SHX Text
WA-P4-C1-R5

AutoCAD SHX Text
WA-P5-C1-R5

AutoCAD SHX Text
WA-P5-C1-R4

AutoCAD SHX Text
WA-P5-C1-R3

AutoCAD SHX Text
WA-P5-C1-R5

AutoCAD SHX Text
WA-P5-C1-R5

AutoCAD SHX Text
WA-P4-C1-R5

AutoCAD SHX Text
WA-P3-C1-R5

AutoCAD SHX Text
WA-P2-C1-R5

AutoCAD SHX Text
WALL & ROOF FRAMING CONFIGURATION

AutoCAD SHX Text
FRONT WALL LENGTH, FT.

AutoCAD SHX Text
PROJECTION, FT.

AutoCAD SHX Text
12'

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
10

AutoCAD SHX Text
14'

AutoCAD SHX Text
16'

AutoCAD SHX Text
18'

AutoCAD SHX Text
20'

AutoCAD SHX Text
22'

AutoCAD SHX Text
24'

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
16

AutoCAD SHX Text
18

AutoCAD SHX Text
20

AutoCAD SHX Text
22

AutoCAD SHX Text
24

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P2-C1-R2

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P4-C1-R1

AutoCAD SHX Text
WA-P5-C1-R1

AutoCAD SHX Text
WB-P6-C1-R1

AutoCAD SHX Text
WB-P6-C1-R2

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P2-C1-R4

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R5

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R5

AutoCAD SHX Text
WA-P1-C1-R5

AutoCAD SHX Text
WA-P2-C1-R4

AutoCAD SHX Text
WA-P2-C1-R5

AutoCAD SHX Text
WA-P2-C1-R5

AutoCAD SHX Text
WA-P4-C1-R2

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R4

AutoCAD SHX Text
WA-P4-C1-R5

AutoCAD SHX Text
WA-P4-C1-R5

AutoCAD SHX Text
WA-P4-C1-R5

AutoCAD SHX Text
WA-P5-C1-R2

AutoCAD SHX Text
WA-P5-C1-R3

AutoCAD SHX Text
WA-P5-C1-R3

AutoCAD SHX Text
WA-P5-C1-R3

AutoCAD SHX Text
WA-P5-C1-R4

AutoCAD SHX Text
WA-P5-C1-R5

AutoCAD SHX Text
WA-P5-C1-R5

AutoCAD SHX Text
WA-P5-C1-R5

AutoCAD SHX Text
WA-P5-C1-R5

AutoCAD SHX Text
WB-P6-C1-R3

AutoCAD SHX Text
WB-P6-C1-R3

AutoCAD SHX Text
WB-P6-C1-R3

AutoCAD SHX Text
WB-P6-C1-R3

AutoCAD SHX Text
WB-P6-C1-R4

AutoCAD SHX Text
WB-P6-C1-R5

AutoCAD SHX Text
WB-P6-C1-R5

AutoCAD SHX Text
WB-P6-C1-R5

AutoCAD SHX Text
WB-P6-C1-R5

AutoCAD SHX Text
WB-P6-C1-R3

AutoCAD SHX Text
WB-P6-C1-R3

AutoCAD SHX Text
WB-P6-C1-R3

AutoCAD SHX Text
WB-P6-C1-R3

AutoCAD SHX Text
WB-P6-C1-R4

AutoCAD SHX Text
WB-P6-C1-R5

AutoCAD SHX Text
WB-P6-C1-R5

AutoCAD SHX Text
WB-P6-C1-R5

AutoCAD SHX Text
WB-P6-C1-R5

AutoCAD SHX Text
WALL & ROOF FRAMING CONFIGURATION

AutoCAD SHX Text
FRONT WALL LENGTH, FT.

AutoCAD SHX Text
PROJECTION, FT.

AutoCAD SHX Text
12'

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
10

AutoCAD SHX Text
14'

AutoCAD SHX Text
16'

AutoCAD SHX Text
18'

AutoCAD SHX Text
20'

AutoCAD SHX Text
22'

AutoCAD SHX Text
24'

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
16

AutoCAD SHX Text
18

AutoCAD SHX Text
20

AutoCAD SHX Text
22

AutoCAD SHX Text
24

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WB-P7-C1-R3

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R5

AutoCAD SHX Text
WA-P1-C1-R5

AutoCAD SHX Text
WB-P7-C1-R3

AutoCAD SHX Text
WB-P7-C1-R3

AutoCAD SHX Text
WB-P7-C1-R3

AutoCAD SHX Text
WB-P7-C1-R4

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P2-C1-R2

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P2-C1-R4

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P2-C1-R5

AutoCAD SHX Text
WA-P2-C1-R5

AutoCAD SHX Text
WA-P2-C1-R5

AutoCAD SHX Text
WA-P4-C1-R1

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R4

AutoCAD SHX Text
WA-P4-C1-R5

AutoCAD SHX Text
WA-P4-C1-R5

AutoCAD SHX Text
WA-P4-C1-R5

AutoCAD SHX Text
WA-P4-C1-R5

AutoCAD SHX Text
WA-P6-C1-R2

AutoCAD SHX Text
WA-P6-C1-R3

AutoCAD SHX Text
WA-P6-C1-R3

AutoCAD SHX Text
WA-P6-C1-R3

AutoCAD SHX Text
WA-P6-C1-R3

AutoCAD SHX Text
WA-P6-C1-R4

AutoCAD SHX Text
WA-P6-C1-R5

AutoCAD SHX Text
WA-P6-C1-R5

AutoCAD SHX Text
WA-P6-C1-R5

AutoCAD SHX Text
WA-P6-C1-R5

AutoCAD SHX Text
WA-P6-C1-R3

AutoCAD SHX Text
WA-P6-C1-R3

AutoCAD SHX Text
WA-P6-C1-R3

AutoCAD SHX Text
WA-P6-C1-R3

AutoCAD SHX Text
WA-P6-C1-R4

AutoCAD SHX Text
WA-P6-C1-R5

AutoCAD SHX Text
WA-P6-C1-R5

AutoCAD SHX Text
WA-P6-C1-R5

AutoCAD SHX Text
WA-P6-C1-R5

AutoCAD SHX Text
WA-P6-C1-R5

AutoCAD SHX Text
WB-P7-C1-R3

AutoCAD SHX Text
WB-P7-C1-R3

AutoCAD SHX Text
WB-P7-C1-R3

AutoCAD SHX Text
WB-P7-C1-R4

AutoCAD SHX Text
WB-P7-C1-R4

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WALL FRAMING OPTIONS

AutoCAD SHX Text
DESIGNATION

AutoCAD SHX Text
OPTION

AutoCAD SHX Text
1

AutoCAD SHX Text
CORNER COLUMN

AutoCAD SHX Text
WA

AutoCAD SHX Text
LITE "H"

AutoCAD SHX Text
UTILITY "H"

AutoCAD SHX Text
WB

AutoCAD SHX Text
ADJUSTABLE EAVE

AutoCAD SHX Text
UTILITY EAVE

AutoCAD SHX Text
CORNER COLUMN

AutoCAD SHX Text
LITE "H"/4RSB

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
LITE "H"

AutoCAD SHX Text
LITE "H"

AutoCAD SHX Text
UTILITY "H"/7BP

AutoCAD SHX Text
ADJUSTABLE EAVE

AutoCAD SHX Text
UTILITY EAVE

AutoCAD SHX Text
CONNECTION OPTIONS

AutoCAD SHX Text
OPTION

AutoCAD SHX Text
SILL TO FDN

AutoCAD SHX Text
(2) 3/8" DIA. AT EACH POST & 3/8" DIA. AT 16" O.C. MAX.

AutoCAD SHX Text
C1

AutoCAD SHX Text
POST TO SILL

AutoCAD SHX Text
(8)#8 CORNER POST (6)#8 LITE POST (6)#8 UTILITY POST (4) 3/8" 7BP POST

AutoCAD SHX Text
EAVE TO POST

AutoCAD SHX Text
PANEL TO EAVE

AutoCAD SHX Text
#14 @ 9" (FRONT) #14 @ 12" (SIDE)

AutoCAD SHX Text
RIDGE TO PANEL

AutoCAD SHX Text
RIDGE TO POST

AutoCAD SHX Text
(4) 3/8" RIDGE TO CLIP (4) 3/8" CLIP TO POST

AutoCAD SHX Text
(8)#8 CORNER POST (6)#8 LITE POST (6)#8 UTILITY POST

AutoCAD SHX Text
(6)#8/ PANEL (T) (6)#8/ PANEL (B)

AutoCAD SHX Text
(2) 3/8" DIA. AT EACH POST & 3/8" DIA. AT 16" O.C. MAX.

AutoCAD SHX Text
C2

AutoCAD SHX Text
1/4" @ 9" (FRONT) 1/4" @ 12" (SIDE) (HIGH WIND CONDITION)

AutoCAD SHX Text
(8)#10 CORNER POST (6)#10 LITE POST (6)#10 UTILITY POST

AutoCAD SHX Text
(6)#10/ PANEL (T) (6)#10/ PANEL (B)

AutoCAD SHX Text
ROOF PANEL SELECTION

AutoCAD SHX Text
8

AutoCAD SHX Text
P1

AutoCAD SHX Text
SEE SEPARATE EVALUATION REPORT FOR ALL ROOF PANEL SIZING

AutoCAD SHX Text
P2

AutoCAD SHX Text
P3

AutoCAD SHX Text
P4

AutoCAD SHX Text
P5

AutoCAD SHX Text
P6

AutoCAD SHX Text
P7

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
6

AutoCAD SHX Text
9

AutoCAD SHX Text
8

AutoCAD SHX Text
3

AutoCAD SHX Text
UTILITY "H"/7BP

AutoCAD SHX Text
UTILITY "H"/7BP

AutoCAD SHX Text
RIDGE TO BLDG.

AutoCAD SHX Text
(4) 3/8" RIDGE TO CLIP SEE DRAWING "13"

AutoCAD SHX Text
(6) 3/8" RIDGE TO CLIP SEE DRAWING "13"

AutoCAD SHX Text
(4) 3/8" RIDGE TO CLIP (4) 3/8" CLIP TO POST

AutoCAD SHX Text
RIDGE BEAM SELECTION

AutoCAD SHX Text
9

AutoCAD SHX Text
R1

AutoCAD SHX Text
7TB

AutoCAD SHX Text
R2

AutoCAD SHX Text
7TB WITH STEEL TUBE INSERT

AutoCAD SHX Text
R3

AutoCAD SHX Text
R4

AutoCAD SHX Text
R5

AutoCAD SHX Text
12LW

AutoCAD SHX Text
12LW-4RSB

AutoCAD SHX Text
STEEL BY OTHERS

AutoCAD SHX Text
(8)#10 CORNER POST (6)#10 LITE POST (6)#10 UTILITY POST (4) 3/8" 7BP POST

AutoCAD SHX Text
FOUR SEASONS SUNROOMS 230 SUN & SHADE CATHEDRAL DESIGN

AutoCAD SHX Text
V3s 90 MPH WIND LOAD EXP. B 2012 IRC

AutoCAD SHX Text
Vult 118 MPH WIND LOAD EXP. B (2012) IBC, 2015/20182021 IBC/IRC & 2019/2022 CBC

AutoCAD SHX Text
2

AutoCAD SHX Text
ROOF PITCH : 4 ON 12 

AutoCAD SHX Text
LOAD: 20 PSF / V3s 90 MPH WIND LOAD EXP. B 2012 IRC

AutoCAD SHX Text
LOAD: 20 PSF / Vult 118 MPH WIND LOAD EXP. B (2012) IBC, (2015) (2018) (2021) IBC/IRC & (2019)/(2022) CBC

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
LOAD: 40 PSF / V3s 90 MPH WIND LOAD EXP. B 2012 IRC

AutoCAD SHX Text
LOAD: 40 PSF / Vult 118 MPH WIND LOAD EXP. B (2012) IBC, (2015) (2018) (2021) IBC/IRC & (2019)/(2022) CBC

AutoCAD SHX Text
LOAD: 60 PSF / V3s 90 MPH WIND LOAD EXP. B 2012 IRC

AutoCAD SHX Text
LOAD: 60 PSF / Vult 118 MPH WIND LOAD EXP. B (2012) IBC, (2015) (2018) (2021) IBC/IRC & (2019)/(2022) CBC

AutoCAD SHX Text
LOAD: 80 PSF / V3s 90 MPH WIND LOAD EXP. B 2012 IRC

AutoCAD SHX Text
LOAD: 80 PSF / Vult 118 MPH WIND LOAD EXP. B (2012) IBC, (2015) (2018) (2021) IBC/IRC & (2019)/(2022) CBC

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-20

AutoCAD SHX Text
20

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
230 SUN & SHADE CATHEDRAL

AutoCAD SHX Text
90 MPH LOAD CHARTS

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD

Brian
Highlight

Brian
Highlight

Brian
Highlight


|APMO
UES ER-1 10

FOUR SEASONS SUNROOMS 230 SUN & SHADE CATHEDRAL DESIGN
AAAAA V3s 110 MPH WIND LOAD EXP. C 2012 IRC
Vult 140 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) IBC/IRC ¢ 2019/2022 CBC

ROOF PITCH : 4 ON 12

LOAD: 20 PSF / V3s 110 MPH WIND LOAD EXP. C 2012 IRC
LOAD: 20 PSF / Vult 140 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) IBC/IRC ¢ (2019)/(2022) CBC

LOAD: 60 PSF / V3s |10 MPH WIND LOAD EXP. C 2012 IRC
LOAD: 60 PSF / Vult 140 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) IBC/IRC ¢ (2019)/(2022) CBC

&)
—
=
wl =
o E_2
O 5 IE2
a m-b Qo
o B
@ 2 (SN
o SEES
&
WALL ¢ ROOF FRAMING CONFIGURATION WALL ¢ ROOF FRAMING CONFIGURATION 2 % g E »n
N
FRONT WALL LENGTH, FT. FRONT WALL LENGTH, FT. j B e g Z
PROJECTION, FT. . , , : , , . PROJECTION, FT. . , , : , . . o 2, m~8o
|12 14 1) & 20 22 24 |12 14 1) & 20 22 24 n ,Za 2
10 WAPICIRI WAPICIRI WAPICIRI WAPICIRI WAPICIRI WAPICIRI WAP2-CIRI 10 WAPICIRI WAPICIRI WAP2-CI-R| WA-P4CIRI WAP5-CIRI WB-P6-CIRI WB-P6o-Cl-R2 nl Z . <Z‘1 =
I WAPI-CI-RI WAPI-CI-RI WAPI-CI-RI WAPI-CI-RI WAPI-CI-RI WAPI-CI-RI WA-P2-CI-RI I WAPI-CI-R| WAPI-CI-RI WA-P2-CI-R| WA-P4-ClR2 WA-P5-C -2 WB-P&-CI-R3 WB-P&-C|-R3 z 5 g n
12 WAPI-CIRI WAPI-CIRI WAPICIRI WAPICIRI WAPICIRI WA-PI-CI-RI WA-P2-CI-R| 12 WA-PI-C IRl WA-PI-CI-R2 WA-P2-CI-R2 WA-P4—CIR3 WA-P5-CIR3 WB-P6-CIR3 WB-P6-CI1R3 O HO®
13 WAPI-CIR| WAPICIR| WAPICIR| WAPICIRI WAPICIRI WAPICIRI WAP2-CIRI 13 WAPICI-R2 WAPI-CI-R2 WA-P2-CIR3 WA-P4CIR3 WA-P5-CIR3 WB-P&-C I3 WB-P&-C I3 Q EmES
14 WA-PI-CI-RI WA-P-C IR WA-PI-CI-RI WA-PI-CI-RI WA-PI-CI-RI WAPICIR2 WAP2-C|-R2 14 WAPICI-R2 WA-PI-CI-R3 WA-P2-C|-R3 WA-P4-CIR3 WA-P5-CIR3 WB-P&-C |13 WB-P&-C |3 o BRZO
6 WAPICIRI WAPICIRI WAPICI-R2 WAPICIR2 WAPICIR2 WAPICIR2 WA-P2-CI-R3 6 WAPI-CIR3 WAPI-CIR3 WAP2-CIR3 WAP4CIR3 | WAPSCI-R4 | WBP6-CI-R4 | WB-P6-CIR4 n oG M
B WAPICI-R2 WAPICI-R2 WAPICI-R2 WAPICI-R3 WAPI-CI-R3 WAPICI-R3 WA-P2-C|-R3 B WAPI-CI-R3 WAPI-CI-R3 WA-P2-C|-R4 WAP4-CIR4__ BEEWADSC I -ROTIWE P6-C RO = ST 7
20 WA-PI-CI-R3 WA-PI-CI-R3 WA-PI-CI-R3 WA-PI-CI-R3 WA-PI-CI-R3 WA-PI-CI-R3 WA-P2-C|-R3 20 WAPI-CI-R4 WAPI-CI-R4 | WA-P2-CI-R4_ APAC I RS WA-PSC. 6C |-R53 g S A o
2 WA-P [-C|-R3 WA-PI-C|-R3 WA-PI-C|-R3 WAPICI-R3 WA-PI-CI1-R3 WA-PI-CI-R3 WA-P2-C R4 2 “WAPI-CI-R4_ WAPS-C | R5% AP4-C.| 5 LEEE WAPE-C, |- HoC I -RBY o @
24 WAPI-CI-R3 WAPI-CI-R3 WAPI-CI-R3 WAPI-CI-R4 WAPI-CI-R4 WAPI-CI-R4 WA-P2-C R4 24 T WAB -G | RS St WA-P 4-C. |- RO SRS WA PG 6-C I o

LOAD: 40 PSF / V3s |10 MPH WIND LOAD EXP. C 2012 IRC
LOAD: 40 PSF / Vult 140 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) IBC/IRC ¢ (2019)/(2022) CBC

LOAD: 80 PSF / V3s |10 MPH WIND LOAD EXP. C 2012 IRC
LOAD: 80 PSF / Vult 140 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) IBC/IRC ¢ (2019)/(2022) CBC

WALL ¢ ROOF FRAMING CONFIGURATION WALL ¢ ROOF FRAMING CONFIGURATION Y
FRONT WALL LENGTH, FT. FRONT WALL LENGTH, FT. < >
PROJECTION, FT. , , , : , , , PROJECTION, FT. , , , : , , ,
12 14 16 1& 20 22 24 12 14 16 18 20 22 24 v
10 WA-PI-CI-RI WA-PI-CI-RI WAPI-CI-RI| WA-P2-CIRI WAP3CIRI WA-P4CIRI WAP5CIRI 10 WAPI-CIRI WA-P2-CIRI WA-P4CIRI WAP6CI-R2 | WAP6CI-R3 | WB-PT-CI-R3 | WB-P7-CI-R3
0 WAPI-CI-RI| WAPI-CI-RI WAPI-CIRI WAP2-CIRI WAP3CIRI WAP4CIRI WAP5-CIRI 0 WAPI-CIRI WAP2-CI-R2_| WA-P4CIR3 | WAP6CIR3 | WAPGCIR3 | WBPICI-R3 | WB-PI-CIR3
2 WAPI-CIRI WAPI-CIRI WAPI-CIRI WAP2-CIRI WA-P3-CIR2 WA-P4-CIR2 WA-P5>CI-R2 2 WA-P1CI-R2 WAP2-CIR3 | WAP4CIR3 | WAP6CIR3 | WAP6CIRS | WePICIR3 | WB-P/CIR3 -
3 WAPI-CI-RI WAPI-CI-RI WA-P1-C1-R2 WAP2-CI-R2 WAP3-CIR2 | WAP4CIR3 | WAP5CIR3 3 WA-P1-CI-R3 WAP2-CI-R3 | WAP4CIR3 | WAP6CIR3 | WAP6CIRE | WB-PTCIR3 WB-P7-CI-R4 <C
14 WAPI-CIRI WA-P1-CI-R2 WA-PI1-CI-R2 WAP2-CI-R2 | WAP3CIR3 | WAP4CIR3 | WAP5CIR3 14 WA-PI-CI-R3 WAP2-CI-R3 | WAP4CIR3 | WAP6CIR3 | WAP6CIR4 | WBP7-CIR4 WB-P7-Cl-R4 v
6 WA-P1CI-R2 WA-PI-CI-R3 WA-P1-CI-R3 WAP2-CI-R3 | WAP3CIR3 | WAP4CIRE | WAP>CIR3 6 WA-PI-CI-R3 WA-P2-CI-R3 | WAP4-CIR4 | WAPLCIRA BEWAPELLCI RoRBRaWBPT-C RS 52 /@YX ¢
8 WA-PI-CI-R3 WA-PI-CI-R3 WA-PI-CI-R3 WAP2-CI-R3 | WAP3CIR3 | WAP4CIR3 | WAP5-CI-R4 8 WAPI-CI-R4 : WA PB-C I RoRa s WA D6 C I RO SRR PG |-Rot n o
20 WA-PI-CI-R3 WA-PI-CI-R3 WA-P1-CI-R3 WAP2CI-R4 | WAP3CI-R4 | WAP4CIR4 RBWAP5.CI-R5E 20 WAPI-CI-R4 WA Pb-C |- RB A WA PE-C-B5 e WB-B 7-C RS wl| X o
2 WA-PICI-R3 WAPICI-R4 WAPI-CIR4 | WAP2CIR4 B WA P4 C | R WAPS-C RS, 2 WAPICI 85 TWAPG-C I-ROTBEE WA PO-C IR e WB-P /-G 1-B5 | = <
24 WAPI-CI-R4 WAPI-CI-R4 WAPI-CI-R4 _EBWAP2-C I BoBRh WA P5-C|-Ro i R WA-PA-C |-RE S AE WA Po-C 1-RS 24 WAP|-Cl-B5% IWAPB-C 1-R5 B WAP-C | R e R WB- B 7-C. -85 | < T
=l O O
\_
O W A
CONNECTION OPTIONS ROOF PANEL SELECTION > Q<
OPTION SILL TO FDN POST TO SILL EAVE TO POST | PANEL TO EAVE |RIDGE TO PANEL | RIDGE TO POST | RIDGE TO BLDG. Pl § <I( 8
" P2 <C \})
(2) 3/8" DIA. AT (B8 CORNER POST (4) 3/8" RIDGE TO "
cl EACH POST ¢ 3/8" | (o6 LITE posT | (@M0 CORER POST | 414 9 o Grronm) M8/ PANEL (T) “) 3/8 RDGE TO P3 SEE SEPARATE EVALUATION | &
DIA. AT 16" OC. OM8 UTILITY POST | (o™ 0 v posT #14 @ 12" (SIDE) (6¥8/ PANEL (B) 4 3/8" CLIP TO SEE DRAWING "(3" REPORT Q
MAX. (4) 3/8" TBP POST POST P4 FOR ALL ROOF PANEL SIZING % =
P5 @)
(2)3/8" DIA. AT | (B#10 CORNER POST 1/4" @ 9" (FRONT) ) 3/8" RIDGE TO ) NS Bt
c2 EACH POST ¢ 3/8" (é;);’*o'% HITE POST (522;;) SR T | 174" @ 12" (DB éb);lo; PANEL g)) cLp ©) 3/€7 RIDEE TO P6 o —
DIA. AT 16" 0C. (HIGH WIND 610/ PANEL ) 3/8" CLIP TO "o p7
MAX. ) 3/8" TeP PosT | OWI0 UTILITY POST CONDITION) POST SEE DRAWNG 13 Q)
(9 RIDGE BEAM SELECTION N
2] p— REV. No.| DATE | BY
WALL FRAMING OPTIONS R2 7TB WITH STEEL TUBE INSERT o
oo DESIGNATION R3 12w o118 R
R4 I2LW-4RSB
WA CORNER COLUMN LITE H" LITE "H" UTILITY H' UTILITY "H/78P | ADJUSTABLE EAVE | UTILITY EAVE 20 R
W CORNER COLUMN | _LITE "H'/4R%B LITE *H" UTILITY "H/78P | _UTILITY "H'/78P | ADJUSTABLE EAVE | _UTILITY EAVE RS STEEL BY OTHERS \
/A\
Notes:

The ultimate (Vult) wind loading are as per 2012 IBC, 2015/2018/202 1 IBC/IRC and 2019/2022 CBC. REVIEWED BY: AS

I

2. The V-3s wind loading are as per 2012 IRC. DWG. BY: RD
3. Shaded areas represents that steel ridge beam and post (to be designed by others) 1s required. DATE: 1—=10—11
4. H-beams to be 74RB. :

5. aluminum alloy 15 6005-t5, panel alloy 15 31 05-H25. JOB#:

E This summary pertains to the structural integrity of our unit up to, but not including, the connections to the existing structure and/or any new
construction. All substructure design requirements, and connections to the existing structure are not included in the scope of work for the four

SHADECATH-21

seasons product and must be designed by a local design professional.
7. The values indicated on the chart are for uniform loads and do not include special load conditions created by attachment to the existing structure.
These may include snow drifting or unbalanced snow loading. Any special loading conditions must be evaluated by a local design professional.

21w 22



AutoCAD SHX Text
WALL & ROOF FRAMING CONFIGURATION

AutoCAD SHX Text
FRONT WALL LENGTH, FT.

AutoCAD SHX Text
PROJECTION, FT.

AutoCAD SHX Text
12'

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
10

AutoCAD SHX Text
14'

AutoCAD SHX Text
16'

AutoCAD SHX Text
18'

AutoCAD SHX Text
20'

AutoCAD SHX Text
22'

AutoCAD SHX Text
24'

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
16

AutoCAD SHX Text
18

AutoCAD SHX Text
20

AutoCAD SHX Text
22

AutoCAD SHX Text
24

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P2-C1-R2

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P2-C1-R4

AutoCAD SHX Text
WA-P2-C1-R4

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WALL & ROOF FRAMING CONFIGURATION

AutoCAD SHX Text
FRONT WALL LENGTH, FT.

AutoCAD SHX Text
PROJECTION, FT.

AutoCAD SHX Text
12'

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
10

AutoCAD SHX Text
14'

AutoCAD SHX Text
16'

AutoCAD SHX Text
18'

AutoCAD SHX Text
20'

AutoCAD SHX Text
22'

AutoCAD SHX Text
24'

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
16

AutoCAD SHX Text
18

AutoCAD SHX Text
20

AutoCAD SHX Text
22

AutoCAD SHX Text
24

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P2-C1-R2

AutoCAD SHX Text
WA-P2-C1-R2

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P3-C1-R3

AutoCAD SHX Text
WA-P3-C1-R2

AutoCAD SHX Text
WA-P3-C1-R2

AutoCAD SHX Text
WA-P3-C1-R1

AutoCAD SHX Text
WA-P3-C1-R1

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R2

AutoCAD SHX Text
WA-P4-C1-R1

AutoCAD SHX Text
WA-P4-C1-R1

AutoCAD SHX Text
WA-P5-C1-R3

AutoCAD SHX Text
WA-P5-C1-R2

AutoCAD SHX Text
WA-P5-C1-R1

AutoCAD SHX Text
WA-P5-C1-R1

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P3-C1-R3

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P5-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P2-C1-R4

AutoCAD SHX Text
WA-P2-C1-R4

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P3-C1-R3

AutoCAD SHX Text
WA-P3-C1-R4

AutoCAD SHX Text
WA-P3-C1-R5

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R4

AutoCAD SHX Text
WA-P4-C1-R5

AutoCAD SHX Text
WA-P5-C1-R5

AutoCAD SHX Text
WA-P5-C1-R4

AutoCAD SHX Text
WA-P5-C1-R3

AutoCAD SHX Text
WA-P5-C1-R5

AutoCAD SHX Text
WA-P5-C1-R5

AutoCAD SHX Text
WA-P4-C1-R5

AutoCAD SHX Text
WA-P3-C1-R5

AutoCAD SHX Text
WA-P2-C1-R5

AutoCAD SHX Text
WALL & ROOF FRAMING CONFIGURATION

AutoCAD SHX Text
FRONT WALL LENGTH, FT.

AutoCAD SHX Text
PROJECTION, FT.

AutoCAD SHX Text
12'

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
10

AutoCAD SHX Text
14'

AutoCAD SHX Text
16'

AutoCAD SHX Text
18'

AutoCAD SHX Text
20'

AutoCAD SHX Text
22'

AutoCAD SHX Text
24'

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
16

AutoCAD SHX Text
18

AutoCAD SHX Text
20

AutoCAD SHX Text
22

AutoCAD SHX Text
24

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P2-C1-R2

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P4-C1-R1

AutoCAD SHX Text
WA-P5-C1-R1

AutoCAD SHX Text
WB-P6-C1-R1

AutoCAD SHX Text
WB-P6-C1-R2

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P2-C1-R4

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R5

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R5

AutoCAD SHX Text
WA-P1-C1-R5

AutoCAD SHX Text
WA-P2-C1-R4

AutoCAD SHX Text
WA-P2-C1-R5

AutoCAD SHX Text
WA-P2-C1-R5

AutoCAD SHX Text
WA-P4-C1-R2

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R4

AutoCAD SHX Text
WA-P4-C1-R5

AutoCAD SHX Text
WA-P4-C1-R5

AutoCAD SHX Text
WA-P4-C1-R5

AutoCAD SHX Text
WA-P5-C1-R2

AutoCAD SHX Text
WA-P5-C1-R3

AutoCAD SHX Text
WA-P5-C1-R3

AutoCAD SHX Text
WA-P5-C1-R3

AutoCAD SHX Text
WA-P5-C1-R4

AutoCAD SHX Text
WA-P5-C1-R5

AutoCAD SHX Text
WA-P5-C1-R5

AutoCAD SHX Text
WA-P5-C1-R5

AutoCAD SHX Text
WA-P5-C1-R5

AutoCAD SHX Text
WB-P6-C1-R3

AutoCAD SHX Text
WB-P6-C1-R3

AutoCAD SHX Text
WB-P6-C1-R3

AutoCAD SHX Text
WB-P6-C1-R3

AutoCAD SHX Text
WB-P6-C1-R4

AutoCAD SHX Text
WB-P6-C1-R5

AutoCAD SHX Text
WB-P6-C1-R5

AutoCAD SHX Text
WB-P6-C1-R5

AutoCAD SHX Text
WB-P6-C1-R5

AutoCAD SHX Text
WB-P6-C1-R3

AutoCAD SHX Text
WB-P6-C1-R3

AutoCAD SHX Text
WB-P6-C1-R3

AutoCAD SHX Text
WB-P6-C1-R3

AutoCAD SHX Text
WB-P6-C1-R4

AutoCAD SHX Text
WB-P6-C1-R5

AutoCAD SHX Text
WB-P6-C1-R5

AutoCAD SHX Text
WB-P6-C1-R5

AutoCAD SHX Text
WB-P6-C1-R5

AutoCAD SHX Text
WALL & ROOF FRAMING CONFIGURATION

AutoCAD SHX Text
FRONT WALL LENGTH, FT.

AutoCAD SHX Text
PROJECTION, FT.

AutoCAD SHX Text
12'

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
10

AutoCAD SHX Text
14'

AutoCAD SHX Text
16'

AutoCAD SHX Text
18'

AutoCAD SHX Text
20'

AutoCAD SHX Text
22'

AutoCAD SHX Text
24'

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
16

AutoCAD SHX Text
18

AutoCAD SHX Text
20

AutoCAD SHX Text
22

AutoCAD SHX Text
24

AutoCAD SHX Text
WA-P1-C1-R1

AutoCAD SHX Text
WA-P1-C1-R2

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WA-P1-C1-R3

AutoCAD SHX Text
WB-P7-C1-R3

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R4

AutoCAD SHX Text
WA-P1-C1-R5

AutoCAD SHX Text
WA-P1-C1-R5

AutoCAD SHX Text
WB-P7-C1-R3

AutoCAD SHX Text
WB-P7-C1-R3

AutoCAD SHX Text
WB-P7-C1-R3

AutoCAD SHX Text
WB-P7-C1-R4

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P2-C1-R2

AutoCAD SHX Text
WA-P2-C1-R1

AutoCAD SHX Text
WA-P2-C1-R4

AutoCAD SHX Text
WA-P2-C1-R3

AutoCAD SHX Text
WA-P2-C1-R5

AutoCAD SHX Text
WA-P2-C1-R5

AutoCAD SHX Text
WA-P2-C1-R5

AutoCAD SHX Text
WA-P4-C1-R1

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R3

AutoCAD SHX Text
WA-P4-C1-R4

AutoCAD SHX Text
WA-P4-C1-R5

AutoCAD SHX Text
WA-P4-C1-R5

AutoCAD SHX Text
WA-P4-C1-R5

AutoCAD SHX Text
WA-P4-C1-R5

AutoCAD SHX Text
WA-P6-C1-R2

AutoCAD SHX Text
WA-P6-C1-R3

AutoCAD SHX Text
WA-P6-C1-R3

AutoCAD SHX Text
WA-P6-C1-R3

AutoCAD SHX Text
WA-P6-C1-R3

AutoCAD SHX Text
WA-P6-C1-R4

AutoCAD SHX Text
WA-P6-C1-R5

AutoCAD SHX Text
WA-P6-C1-R5

AutoCAD SHX Text
WA-P6-C1-R5

AutoCAD SHX Text
WA-P6-C1-R5

AutoCAD SHX Text
WA-P6-C1-R3

AutoCAD SHX Text
WA-P6-C1-R3

AutoCAD SHX Text
WA-P6-C1-R3

AutoCAD SHX Text
WA-P6-C1-R3

AutoCAD SHX Text
WA-P6-C1-R4

AutoCAD SHX Text
WA-P6-C1-R5

AutoCAD SHX Text
WA-P6-C1-R5

AutoCAD SHX Text
WA-P6-C1-R5

AutoCAD SHX Text
WA-P6-C1-R5

AutoCAD SHX Text
WA-P6-C1-R5

AutoCAD SHX Text
WB-P7-C1-R3

AutoCAD SHX Text
WB-P7-C1-R3

AutoCAD SHX Text
WB-P7-C1-R3

AutoCAD SHX Text
WB-P7-C1-R4

AutoCAD SHX Text
WB-P7-C1-R4

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WB-P7-C1-R5

AutoCAD SHX Text
WALL FRAMING OPTIONS

AutoCAD SHX Text
DESIGNATION

AutoCAD SHX Text
OPTION

AutoCAD SHX Text
1

AutoCAD SHX Text
CORNER COLUMN

AutoCAD SHX Text
WA

AutoCAD SHX Text
LITE "H"

AutoCAD SHX Text
UTILITY "H"

AutoCAD SHX Text
WB

AutoCAD SHX Text
ADJUSTABLE EAVE

AutoCAD SHX Text
UTILITY EAVE

AutoCAD SHX Text
CORNER COLUMN

AutoCAD SHX Text
LITE "H"/4RSB

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
LITE "H"

AutoCAD SHX Text
LITE "H"

AutoCAD SHX Text
UTILITY "H"/7BP

AutoCAD SHX Text
ADJUSTABLE EAVE

AutoCAD SHX Text
UTILITY EAVE

AutoCAD SHX Text
CONNECTION OPTIONS

AutoCAD SHX Text
OPTION

AutoCAD SHX Text
SILL TO FDN

AutoCAD SHX Text
(2) 3/8" DIA. AT EACH POST & 3/8" DIA. AT 16" O.C. MAX.

AutoCAD SHX Text
C1

AutoCAD SHX Text
POST TO SILL

AutoCAD SHX Text
(8)#8 CORNER POST (6)#8 LITE POST (6)#8 UTILITY POST (4) 3/8" 7BP POST

AutoCAD SHX Text
EAVE TO POST

AutoCAD SHX Text
PANEL TO EAVE

AutoCAD SHX Text
#14 @ 9" (FRONT) #14 @ 12" (SIDE)

AutoCAD SHX Text
RIDGE TO PANEL

AutoCAD SHX Text
RIDGE TO POST

AutoCAD SHX Text
(4) 3/8" RIDGE TO CLIP (4) 3/8" CLIP TO POST

AutoCAD SHX Text
(8)#8 CORNER POST (6)#8 LITE POST (6)#8 UTILITY POST

AutoCAD SHX Text
(6)#8/ PANEL (T) (6)#8/ PANEL (B)

AutoCAD SHX Text
(2) 3/8" DIA. AT EACH POST & 3/8" DIA. AT 16" O.C. MAX.

AutoCAD SHX Text
C2

AutoCAD SHX Text
1/4" @ 9" (FRONT) 1/4" @ 12" (SIDE) (HIGH WIND CONDITION)

AutoCAD SHX Text
(8)#10 CORNER POST (6)#10 LITE POST (6)#10 UTILITY POST

AutoCAD SHX Text
(6)#10/ PANEL (T) (6)#10/ PANEL (B)

AutoCAD SHX Text
ROOF PANEL SELECTION

AutoCAD SHX Text
8

AutoCAD SHX Text
P1

AutoCAD SHX Text
P2

AutoCAD SHX Text
P3

AutoCAD SHX Text
P4

AutoCAD SHX Text
P5

AutoCAD SHX Text
P6

AutoCAD SHX Text
P7

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
6

AutoCAD SHX Text
9

AutoCAD SHX Text
8

AutoCAD SHX Text
3

AutoCAD SHX Text
UTILITY "H"/7BP

AutoCAD SHX Text
UTILITY "H"/7BP

AutoCAD SHX Text
RIDGE TO BLDG.

AutoCAD SHX Text
(4) 3/8" RIDGE TO CLIP (4) 3/8" CLIP TO POST

AutoCAD SHX Text
RIDGE BEAM SELECTION

AutoCAD SHX Text
9

AutoCAD SHX Text
R1

AutoCAD SHX Text
7TB

AutoCAD SHX Text
R2

AutoCAD SHX Text
7TB WITH STEEL TUBE INSERT

AutoCAD SHX Text
R3

AutoCAD SHX Text
R4

AutoCAD SHX Text
R5

AutoCAD SHX Text
12LW

AutoCAD SHX Text
12LW-4RSB

AutoCAD SHX Text
STEEL BY OTHERS

AutoCAD SHX Text
(8)#10 CORNER POST (6)#10 LITE POST (6)#10 UTILITY POST (4) 3/8" 7BP POST

AutoCAD SHX Text
SEE SEPARATE EVALUATION REPORT FOR ALL ROOF PANEL SIZING

AutoCAD SHX Text
FOUR SEASONS SUNROOMS 230 SUN & SHADE CATHEDRAL DESIGN

AutoCAD SHX Text
V3s 110 MPH WIND LOAD EXP. C 2012 IRC

AutoCAD SHX Text
Vult 140 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) IBC/IRC & 2019/2022 CBC

AutoCAD SHX Text
ROOF PITCH : 4 ON 12 

AutoCAD SHX Text
LOAD: 20 PSF / V3s 110 MPH WIND LOAD EXP. C 2012 IRC

AutoCAD SHX Text
LOAD: 20 PSF / Vult 140 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) IBC/IRC & (2019)/(2022) CBC

AutoCAD SHX Text
(4) 3/8" RIDGE TO CLIP SEE DRAWING "13"

AutoCAD SHX Text
(6) 3/8" RIDGE TO CLIP SEE DRAWING "13"

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
LOAD: 40 PSF / V3s 110 MPH WIND LOAD EXP. C 2012 IRC

AutoCAD SHX Text
LOAD: 40 PSF / Vult 140 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) IBC/IRC & (2019)/(2022) CBC

AutoCAD SHX Text
LOAD: 60 PSF / V3s 110 MPH WIND LOAD EXP. C 2012 IRC

AutoCAD SHX Text
LOAD: 60 PSF / Vult 140 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) IBC/IRC & (2019)/(2022) CBC

AutoCAD SHX Text
LOAD: 80 PSF / V3s 110 MPH WIND LOAD EXP. C 2012 IRC

AutoCAD SHX Text
LOAD: 80 PSF / Vult 140 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) IBC/IRC & (2019)/(2022) CBC

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-21

AutoCAD SHX Text
21

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
230 SUN & SHADE CATHEDRAL

AutoCAD SHX Text
110 MPH LOAD CHARTS

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD


FOUR SEASONS SUNROOMS 230 SUN ¢ SHADE CATHEDRAL DESIGN

AAAAA V3s 120 MPH WIND LOAD EXP. C 2012 IRC

LOAD: 20 P5F / V3s 120 MPH WIND LOAD EXP. C 2012 IRC
LOAD: 20 PsF / Vult 150 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) IBC/IRC ¢ (2019)/(2022) CBC

ROOF PITCH : 4 ON 12

Vult 150 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) ¢ 2019/2022 CBC

LOAD: 40 PSF / V3s 120 MPH WIND LOAD EXP. C 2012 IRC
LOAD: 40 PSF / Vult 150 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) IBC/IRC ¢ (2019)/(2022) CBC

|APMO

UES ER-110

WALL ¢ ROOF FRAMING CONFIGURATION WALL ¢ ROOF FRAMING CONFIGURATION
FRONT WALL LENGTH, FT. FRONT WALL LENGTH, FT.
PROJECTION, FT. PROJECTION, FT.
12 14 B B 20 22 24' 12 14 B B 20' 22 24'

10 WB-P1-C2RI WB-P|-C2-RI WB-P|-C2-RI WB-P|-C2-RI WB-P2-C2-RI WB-P3-C2-R| WB-P4-C2-R| 10 WB-P|-C2-RI WBP|-C2-RI WBP|-C2-RI WB-P2-C2-RI WBP3-C2RI WB-P4-C2RI WB-P5-C2R|
1l WB-PI-C2-RI WB-P|-C2-RI WB-P|-C2-RI WB-P|-C2-RI WB-P2-C2-RI WB-P3-C2-R| WB-P4-C2-R| 1l WB-P|-C2-RI WB-P|-C2-RI WB-P|-C2-RI WB-P2-C2-RI WB-P3-C2-RI WB-P4-C2-R| WB-P5-C2-R|
12 WB-PI1-C2RI WB-P|-C2-RI WB-P|-C2-RI WB-P|-C2-RI WB-P2-C2-RI WB-P3-C2-R| WB-P4-C2-R| 12 WB-P|-C2-RI WBP|-C2-RI WBP|-C2-RI WB-P2-C2-RI WB-P3-C2R2 WB-P4-C2-R2 WB-P5-C2-R2
13 WB-P1-C2RI WB-P|-C2-RI WB-P|-C2-RI WB-P|-C2-RI WB-P2-C2-R2 WB-P3-C2-R2 WB-P4-C2-R2 13 WB-P|-C2-RI WB-P|-C2-RI WB-P|-C2-R2 WB-P2-C2-R2 WB-P3-C2-R2 WB-P4-C2-R3 WB-P5-C2R3
14 WB-P1-C2-RI WB-P|-C2-RI WB-P|-C2-R2 WB-P|-C2-R2 WB-P2-C2-R2 WB-P3-C2-R2 WB-P4-C2-R2 14 WB-P|-C2-RI WB-P|-C2-R2 WB-P|-C2-R2 WB-P2-C2-R2 WB-P3-C2-R3 WB-P4-C2-R3 WB-P5-C2-R3
16 WB-P|-C2-R2 WB-P|-C2-R2 WB-P|-C2-R2 WB-P|-C2-R3 WB-P2-C2-R3 WB-P3-C2-R3 WB-P4-C2-R3 16 WB-P|-C2-R2 WB-P|-C2-R3 WB-P|-C2-R3 WB-P2-C2-R3 WB-P3-C2-R3 WB-P4-C2-R3 WB-P5-C2R3
18 WB-PI-C2R3 WB-PI-C2R3 WB-PI-C2R3 WB-PI-C2-R3 WB-P2-C2-R3 WB-P3-C2-R3 WB-P4-C2-R3 18 WB-PI-C2-R3 WB-PI-C2-R3 WB-PI-C2-R3 WB-P2-C2-R3 WB-P3-C2-R3 WB-P4-C2-R3 WB-P5-C2-R4
20 WB-P|-C2-R3 WB-P|-C2-R3 WB-P|-C2-R3 WB-P|-C2-R3 WB-P2-C2-R3 WB-P3-C2-R4 WB-P4-C2-R4 20 WB-P|-C2-R3 WB-P|-C2-R3 WB-P|-C2-R3 WB-P2-C2-R4 WB-P3-C2-R4 | WB-P4-C2-R4 T P5-C2-R5:
22 WB-PI-C2R3 WB-PI-C2R3 WB-PI-C2-R4 WB-P-C2-R4 WB-P2-C2-R4 WB-P3-C2-R4 WB-P4-C2-R4 22 WB-PI-C2-R3 WB-P|-C2-R4 WB-P1-C2-R4 WB-P2-C2-R4  EEWB-P3-C2-R5aaa WB-P4-CI-R5 P5-C2-R53
24 WB-P|-C2-R3 WB-P|-C2-R4 WB-P|-C2-R4 WB-P|-C2-R4 WB—PZ-G2—E5%%—PS—CZ—%%WB—PMZ—%@ 24 WB-P|-C2-R4 WB-P1-C2-R4 WB-P|-C2-R4 %2—62—25 IR WB-P4-C2-R5 P5-C2-R5

LOAD: 30 PSF / V3s 120 MPH WIND LOAD EXP. C 2012 IRC
LOAD: 30 PSF / Vult 150 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) IBC/IRC ¢ (2019)/(2022) CBC

LOAD: 50 PSF / V3s 120 MPH WIND LOAD EXP. C 2012 IRC
LOAD: 50 PSF / Vult 150 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) IBC/IRC ¢ (2019)/(2022) CBC

WALL ¢ ROOF FRAMING CONFIGLRATION WALL ¢ ROOF FRAMING CONFIGURATION
FRONT WALL LENGTH, FT. FRONT WALL LENGTH, FT.
PROJECTION, FT. . , , : , , . PROJECTION, FT. . . . : . . ,
|2 14 12) & 20 22 24 |2 |4 |6 & 20 22 24
10 WB-PI-C2RI WB-PI-C2RI WBPI-C2RI WBPI-C2-RI WBP2-C2RI WB-P3C2RI WBP4-C2RI 10 WBPI-C2RI WBPI-C2-RI WBP2-C2RI WBP3C2RI WBP4C2RI WBP5-C2RI WB-P6-C2RI
I WB-PI-C2RI WB-PI-C2-RI WB-P|-C2-RI WB-PI-C2-RI WB-P2-C2RI WB-P3-C2RI WB-P4-C2R| I WB-PI-C2-RI WB-P|-C2-RI WB-P2-C2-RI WB-P3-C2RI WB-P4-C2R| WB-P5-C2R2 | WB-P6-C2R2
2 WB-PI-C2RI WB-PI-C2-RI WB-PI-C2RI WB-PI-C2-RI WB-P2-C2RI WB-P3-C2R| WB-P4-C2R| 12 WB-PI-C2-RI WB-PI-C2-RI WB-P2-C2-R2 | WeP3C2R2 | WeP4C2R2 | WeP5C2R3 | WeP6-C2R3
3 WB-PI-C2RI WB-PI-C2-RI WB-P|-C2-RI WB-P|-C2-RI WB-P2-C2RZ | WB-P3C2RZ | We-P4-C2-R2 3 WB-P|-C2-RI WB-P1-C2-R2 WB-P2-C2-R2 | WB-P>C2-R3 | WB-P4-C2R3
14 WB-PI-C2RI WB-PI-C2-RI WB-P1-C2R2 WB-PI-C2R2 WB-P2-C2R2 | WB-P3C2R2 | WB-P4-C2R2 14 WB-PI-C2-R2 WB-PI-C2R2 | WB-P2C2R3 | We-P3C2R3 | WBP4-C2R3
B WB-PI-C2R2 WBPI-C2R2 WBPI-C2R2 WBPIC2R3 | WeP2C2R3 | WeP3C2R3 | WeP4-C2R> 6 WBPI-C2R3 WBPI-C2R3 | WBP2C2R3 | WeP3C2R> | WBP4-C2R>
B WB-P|-C2R3 WB-P|-C2R3 WB-P|-C2R3 WBPI-C2R3 | WB-P2-C2R3 | WB-P5C2R3 | WB-P4-C2R3 B WB-P|-C2-R3 WBPI-C2R3 | WB-P2-C2R3 | WB-P3C2R3 | WB-P4-C2-R4
20 WB-PI-C2R3 WB-P1-C2R3 WB-P|1-C2R3 WBPI-C2R3 | We-P2C2R3 | WB-P3CoR4 | WB-P4CoR4 20 WB-P1-C2-R3 WB-PI-C2R4 WB-P3-C2-R4 B-PACo-Bo
22 WB-P|-C2-R3 WB-P1-C2-R3 WB-P|1-C2-R4 WB-PI-C2-R4 | WB-P2-CoR4 | WB-P3.CoR4 | WB-PAC2R4 22 WB-P1-C2-R4 WB-P|-C2-R4 P A-Co-05
24 WB-PI-C2R3 WB-P|-C2-R4 WB-P|-C2-R4 WB-P1-C2-R4 PR WB-P2-(o-Ro G e B Pa (00 St B D43 ot 24 WB-PI-C2-R4 B WB-P|-CoRo% B-P4-C2-R5
CONNECTION OPTIONS ROOF PANEL SELECTION
OPTION SILL TO FDN POST TO slLL EAVE TO POST | PANEL TO EAVE |RIDGE TO PANEL | RIPDGE TO POST | RIPGE TO BLDG. Pl
P2
(2) 3/8" DIA. AT (Y8 CORNER POST (4) 3/8" RIDGE TO "
el EACH POST ¢ 3/8" (6¥48 LITE POST (e’z‘;’;’#m‘;ﬁ:g” #14 @ 9" (FROND) €8/ PANEL (T) cLP “) 3/8 RDGE TO P3 SEE SEPARATE EVALUATION
DIA. AT l6" 0C. | (W8 UTILITY PosT | (OH8 LITE POST_ #14 @ 12' (5IDE) (6)48/ PANEL (B) 4) 3/8" CLIP TO SEE DRATING 13" REPORT
MAX. (4) 3/8" TBP POST POST P4
P FOR ALL ROOF PANEL SIZING
(2) 3/8" DIA. AT | (B#I0 CORNER POST /4" @ 9" (FRONT) (4) 3/8" RIDGE TO ;
2 EACH POST ¢ 3/8" | (W10 LITE POST RO SRNER ST | /4" e 12" opB) (eMio/ PAEL (1 cLP (©) 3/8 RDCE TO P6
DIA. AT 16" O.C. 610 UTILITY POST HIGH WIND 6¥10/ PANEL ) 3/8" CLIP TO " p7
MAX. 4) 3/8" TBP posT | (OMIO UTILITY POST CONDITION) POST SEE DRAWING I3
(9 RIDGE BEAM SELECTION
RI 7B
WALL FRAMING OPTIONS R2 7TB WITH STEEL TUBE INSERT
oPTION DESIGNATION R3 [2LW
R4 |2LW-4R5B
WA CORNER COLUMN LITE ' LTE "W UTILITY & UTILITY "H'/78P | ADJUSTABLE EAVE | _UTILITY EAVE
WB CORNER COLUMN | _LITE "H'/4R%B LITE H" UTILITY "H/78P_|_UTILITY "H/7BP | ADJUSTABLE EAVE| _ UTILITY EAVE RS STEEL BY OTHERS

Notes:

1. The ultimate (Vult) wind loading are as per 2012 IBC, 2015/2018/2021 IBC/IRC and 2019/2022 CBC.
2. The V-3s wind loading are as per 2012 IRC.

3. Shaded areas represents that steel ridge beam and post (to be designed by others) 15 required.
4. H-beams to be 74RB.

5. aluminum alloy 15 6005-t5, panel alloy 15 3105-H25.
6. This summary pertains to the structural integnity of our unit up to, but not including, the connections to the existing structure and/or any new
construction. All substructure design requirements, and connections to the existing structure are not included in the scope of work for the four
seasons product and must be designed by a local design professional.
7. The values indicated on the chart are for uniform loads and do not include special load conditions created by attachment to the existing structure.
These may include snow drifting or unbalanced snow loading. Any special loading conditions must be evaluated by a local design professional.

FOUR SEASONS SOLAR PRODUCTS, LLIC.
5005 VETERANS MEMORIAL HIGHWAY
HOLBROOK, NEW YORK 11741
DESIGNERS AND MANUFACTURERS
OF FOUR SEASONS SUNROOMS

|
<C
(074
[N
Y N
W e <
| < T
=l O O
o B e
Z<O
= T
<C| O
mwg
(A
- =
)
(®)
O XN
o =
o)
(Q\]
REV. No.| DATE |BY

/5\7—18—22 RD

REVIEWED BY: AS

DWG. BY: RD

DATE: 1-10-11

JOB#:

SHADECATH-22

29 o 22



AutoCAD SHX Text
WALL & ROOF FRAMING CONFIGURATION

AutoCAD SHX Text
FRONT WALL LENGTH, FT.

AutoCAD SHX Text
PROJECTION, FT.

AutoCAD SHX Text
12'

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
10

AutoCAD SHX Text
14'

AutoCAD SHX Text
16'

AutoCAD SHX Text
18'

AutoCAD SHX Text
20'

AutoCAD SHX Text
22'

AutoCAD SHX Text
24'

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
16

AutoCAD SHX Text
18

AutoCAD SHX Text
20

AutoCAD SHX Text
22

AutoCAD SHX Text
24

AutoCAD SHX Text
WALL FRAMING OPTIONS

AutoCAD SHX Text
DESIGNATION

AutoCAD SHX Text
OPTION

AutoCAD SHX Text
1

AutoCAD SHX Text
CORNER COLUMN

AutoCAD SHX Text
WA

AutoCAD SHX Text
LITE "H"

AutoCAD SHX Text
UTILITY "H"

AutoCAD SHX Text
WB

AutoCAD SHX Text
ADJUSTABLE EAVE

AutoCAD SHX Text
UTILITY EAVE

AutoCAD SHX Text
CORNER COLUMN

AutoCAD SHX Text
LITE "H"/4RSB

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
LITE "H"

AutoCAD SHX Text
LITE "H"

AutoCAD SHX Text
UTILITY "H"/7BP

AutoCAD SHX Text
ADJUSTABLE EAVE

AutoCAD SHX Text
UTILITY EAVE

AutoCAD SHX Text
CONNECTION OPTIONS

AutoCAD SHX Text
OPTION

AutoCAD SHX Text
SILL TO FDN

AutoCAD SHX Text
(2) 3/8" DIA. AT EACH POST & 3/8" DIA. AT 16" O.C. MAX.

AutoCAD SHX Text
C1

AutoCAD SHX Text
POST TO SILL

AutoCAD SHX Text
(8)#8 CORNER POST (6)#8 LITE POST (6)#8 UTILITY POST (4) 3/8" 7BP POST

AutoCAD SHX Text
EAVE TO POST

AutoCAD SHX Text
PANEL TO EAVE

AutoCAD SHX Text
#14 @ 9" (FRONT) #14 @ 12" (SIDE)

AutoCAD SHX Text
RIDGE TO PANEL

AutoCAD SHX Text
RIDGE TO POST

AutoCAD SHX Text
(4) 3/8" RIDGE TO CLIP (4) 3/8" CLIP TO POST

AutoCAD SHX Text
(8)#8 CORNER POST (6)#8 LITE POST (6)#8 UTILITY POST

AutoCAD SHX Text
(6)#8/ PANEL (T) (6)#8/ PANEL (B)

AutoCAD SHX Text
(2) 3/8" DIA. AT EACH POST & 3/8" DIA. AT 16" O.C. MAX.

AutoCAD SHX Text
C2

AutoCAD SHX Text
1/4" @ 9" (FRONT) 1/4" @ 12" (SIDE) (HIGH WIND CONDITION)

AutoCAD SHX Text
(8)#10 CORNER POST (6)#10 LITE POST (6)#10 UTILITY POST

AutoCAD SHX Text
(6)#10/ PANEL (T) (6)#10/ PANEL (B)

AutoCAD SHX Text
ROOF PANEL SELECTION

AutoCAD SHX Text
8

AutoCAD SHX Text
P1

AutoCAD SHX Text
P2

AutoCAD SHX Text
P3

AutoCAD SHX Text
P4

AutoCAD SHX Text
P5

AutoCAD SHX Text
P6

AutoCAD SHX Text
P7

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
6

AutoCAD SHX Text
9

AutoCAD SHX Text
8

AutoCAD SHX Text
3

AutoCAD SHX Text
UTILITY "H"/7BP

AutoCAD SHX Text
UTILITY "H"/7BP

AutoCAD SHX Text
RIDGE TO BLDG.

AutoCAD SHX Text
(4) 3/8" RIDGE TO CLIP (4) 3/8" CLIP TO POST

AutoCAD SHX Text
RIDGE BEAM SELECTION

AutoCAD SHX Text
9

AutoCAD SHX Text
R1

AutoCAD SHX Text
7TB

AutoCAD SHX Text
R2

AutoCAD SHX Text
7TB WITH STEEL TUBE INSERT

AutoCAD SHX Text
R3

AutoCAD SHX Text
R4

AutoCAD SHX Text
R5

AutoCAD SHX Text
12LW

AutoCAD SHX Text
12LW-4RSB

AutoCAD SHX Text
STEEL BY OTHERS

AutoCAD SHX Text
(8)#10 CORNER POST (6)#10 LITE POST (6)#10 UTILITY POST (4) 3/8" 7BP POST

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P2-C2-R1

AutoCAD SHX Text
WB-P1-C2-R2

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R2

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R4

AutoCAD SHX Text
WB-P1-C2-R2

AutoCAD SHX Text
WB-P1-C2-R2

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R4

AutoCAD SHX Text
WB-P1-C2-R4

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R4

AutoCAD SHX Text
WB-P1-C2-R4

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R2

AutoCAD SHX Text
WB-P2-C2-R1

AutoCAD SHX Text
WB-P2-C2-R1

AutoCAD SHX Text
WB-P2-C2-R2

AutoCAD SHX Text
WB-P2-C2-R2

AutoCAD SHX Text
WB-P2-C2-R3

AutoCAD SHX Text
WB-P2-C2-R3

AutoCAD SHX Text
WB-P2-C2-R3

AutoCAD SHX Text
WB-P2-C2-R4

AutoCAD SHX Text
WB-P2-C2-R5

AutoCAD SHX Text
WB-P3-C2-R1

AutoCAD SHX Text
WB-P3-C2-R1

AutoCAD SHX Text
WB-P3-C2-R1

AutoCAD SHX Text
WB-P3-C2-R2

AutoCAD SHX Text
WB-P3-C2-R2

AutoCAD SHX Text
WB-P3-C2-R3

AutoCAD SHX Text
WB-P3-C2-R3

AutoCAD SHX Text
WB-P3-C2-R4

AutoCAD SHX Text
WB-P3-C2-R4

AutoCAD SHX Text
WB-P3-C2-R5

AutoCAD SHX Text
WB-P4-C2-R1

AutoCAD SHX Text
WB-P4-C2-R1

AutoCAD SHX Text
WB-P4-C2-R1

AutoCAD SHX Text
WB-P4-C2-R2

AutoCAD SHX Text
WB-P4-C2-R2

AutoCAD SHX Text
WB-P4-C2-R3

AutoCAD SHX Text
WB-P4-C2-R3

AutoCAD SHX Text
WB-P4-C2-R4

AutoCAD SHX Text
WB-P4-C2-R4

AutoCAD SHX Text
WB-P4-C2-R5

AutoCAD SHX Text
WALL & ROOF FRAMING CONFIGURATION

AutoCAD SHX Text
FRONT WALL LENGTH, FT.

AutoCAD SHX Text
PROJECTION, FT.

AutoCAD SHX Text
12'

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
10

AutoCAD SHX Text
14'

AutoCAD SHX Text
16'

AutoCAD SHX Text
18'

AutoCAD SHX Text
20'

AutoCAD SHX Text
22'

AutoCAD SHX Text
24'

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
16

AutoCAD SHX Text
18

AutoCAD SHX Text
20

AutoCAD SHX Text
22

AutoCAD SHX Text
24

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P2-C2-R1

AutoCAD SHX Text
WB-P1-C2-R2

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R2

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R4

AutoCAD SHX Text
WB-P1-C2-R2

AutoCAD SHX Text
WB-P1-C2-R2

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R4

AutoCAD SHX Text
WB-P1-C2-R4

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R4

AutoCAD SHX Text
WB-P1-C2-R4

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R2

AutoCAD SHX Text
WB-P2-C2-R1

AutoCAD SHX Text
WB-P2-C2-R1

AutoCAD SHX Text
WB-P2-C2-R2

AutoCAD SHX Text
WB-P2-C2-R2

AutoCAD SHX Text
WB-P2-C2-R3

AutoCAD SHX Text
WB-P2-C2-R3

AutoCAD SHX Text
WB-P2-C2-R3

AutoCAD SHX Text
WB-P2-C2-R4

AutoCAD SHX Text
WB-P2-C2-R5

AutoCAD SHX Text
WB-P3-C2-R1

AutoCAD SHX Text
WB-P3-C2-R1

AutoCAD SHX Text
WB-P3-C2-R1

AutoCAD SHX Text
WB-P3-C2-R2

AutoCAD SHX Text
WB-P3-C2-R2

AutoCAD SHX Text
WB-P3-C2-R3

AutoCAD SHX Text
WB-P3-C2-R3

AutoCAD SHX Text
WB-P3-C2-R4

AutoCAD SHX Text
WB-P3-C2-R4

AutoCAD SHX Text
WB-P3-C2-R5

AutoCAD SHX Text
WB-P4-C2-R1

AutoCAD SHX Text
WB-P4-C2-R1

AutoCAD SHX Text
WB-P4-C2-R1

AutoCAD SHX Text
WB-P4-C2-R2

AutoCAD SHX Text
WB-P4-C2-R2

AutoCAD SHX Text
WB-P4-C2-R3

AutoCAD SHX Text
WB-P4-C2-R3

AutoCAD SHX Text
WB-P4-C2-R4

AutoCAD SHX Text
WB-P4-C2-R4

AutoCAD SHX Text
WB-P4-C2-R5

AutoCAD SHX Text
WALL & ROOF FRAMING CONFIGURATION

AutoCAD SHX Text
FRONT WALL LENGTH, FT.

AutoCAD SHX Text
PROJECTION, FT.

AutoCAD SHX Text
12'

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
10

AutoCAD SHX Text
14'

AutoCAD SHX Text
16'

AutoCAD SHX Text
18'

AutoCAD SHX Text
20'

AutoCAD SHX Text
22'

AutoCAD SHX Text
24'

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
16

AutoCAD SHX Text
18

AutoCAD SHX Text
20

AutoCAD SHX Text
22

AutoCAD SHX Text
24

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R2

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R2

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R2

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R4

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R4

AutoCAD SHX Text
WB-P1-C2-R4

AutoCAD SHX Text
WB-P1-C2-R2

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R4

AutoCAD SHX Text
WB-P1-C2-R4

AutoCAD SHX Text
WB-P3-C2-R1

AutoCAD SHX Text
WB-P3-C2-R1

AutoCAD SHX Text
WB-P3-C2-R2

AutoCAD SHX Text
WB-P3-C2-R2

AutoCAD SHX Text
WB-P3-C2-R3

AutoCAD SHX Text
WB-P3-C2-R3

AutoCAD SHX Text
WB-P3-C2-R3

AutoCAD SHX Text
WB-P3-C2-R4

AutoCAD SHX Text
WB-P3-C2-R5

AutoCAD SHX Text
WB-P3-C2-R5

AutoCAD SHX Text
WB-P5-C2-R1

AutoCAD SHX Text
WB-P5-C2-R1

AutoCAD SHX Text
WB-P5-C2-R2

AutoCAD SHX Text
WB-P5-C2-R3

AutoCAD SHX Text
WB-P5-C2-R3

AutoCAD SHX Text
WB-P5-C2-R3

AutoCAD SHX Text
WB-P5-C2-R4

AutoCAD SHX Text
WB-P5-C2-R5

AutoCAD SHX Text
WB-P5-C2-R5

AutoCAD SHX Text
WB-P5-C2-R5

AutoCAD SHX Text
WB-P2-C2-R1

AutoCAD SHX Text
WB-P2-C2-R1

AutoCAD SHX Text
WB-P2-C2-R1

AutoCAD SHX Text
WB-P2-C2-R2

AutoCAD SHX Text
WB-P2-C2-R2

AutoCAD SHX Text
WB-P2-C2-R3

AutoCAD SHX Text
WB-P2-C2-R3

AutoCAD SHX Text
WB-P2-C2-R4

AutoCAD SHX Text
WB-P2-C2-R4

AutoCAD SHX Text
WB-P2-C2-R5

AutoCAD SHX Text
WB-P4-C2-R1

AutoCAD SHX Text
WB-P4-C2-R1

AutoCAD SHX Text
WB-P4-C2-R2

AutoCAD SHX Text
WB-P4-C2-R3

AutoCAD SHX Text
WB-P4-C2-R3

AutoCAD SHX Text
WB-P4-C2-R3

AutoCAD SHX Text
WB-P4-C2-R3

AutoCAD SHX Text
WB-P4-C2-R4

AutoCAD SHX Text
WB-P4-C2-R5

AutoCAD SHX Text
WB-P4-C2-R5

AutoCAD SHX Text
WALL & ROOF FRAMING CONFIGURATION

AutoCAD SHX Text
FRONT WALL LENGTH, FT.

AutoCAD SHX Text
PROJECTION, FT.

AutoCAD SHX Text
12'

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
10

AutoCAD SHX Text
14'

AutoCAD SHX Text
16'

AutoCAD SHX Text
18'

AutoCAD SHX Text
20'

AutoCAD SHX Text
22'

AutoCAD SHX Text
24'

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
16

AutoCAD SHX Text
18

AutoCAD SHX Text
20

AutoCAD SHX Text
22

AutoCAD SHX Text
24

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R2

AutoCAD SHX Text
WB-P1-C2-R2

AutoCAD SHX Text
WB-P1-C2-R2

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R1

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R4

AutoCAD SHX Text
WB-P1-C2-R4

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R3

AutoCAD SHX Text
WB-P1-C2-R4

AutoCAD SHX Text
WB-P1-C2-R4

AutoCAD SHX Text
WB-P1-C2-R5

AutoCAD SHX Text
WB-P3-C2-R1

AutoCAD SHX Text
WB-P3-C2-R1

AutoCAD SHX Text
WB-P3-C2-R2

AutoCAD SHX Text
WB-P3-C2-R3

AutoCAD SHX Text
WB-P3-C2-R3

AutoCAD SHX Text
WB-P3-C2-R3

AutoCAD SHX Text
WB-P3-C2-R3

AutoCAD SHX Text
WB-P3-C2-R4

AutoCAD SHX Text
WB-P3-C2-R5

AutoCAD SHX Text
WB-P3-C2-R5

AutoCAD SHX Text
WB-P5-C2-R1

AutoCAD SHX Text
WB-P5-C2-R2

AutoCAD SHX Text
WB-P5-C2-R3

AutoCAD SHX Text
WB-P5-C2-R3

AutoCAD SHX Text
WB-P5-C2-R3

AutoCAD SHX Text
WB-P5-C2-R3

AutoCAD SHX Text
WB-P5-C2-R4

AutoCAD SHX Text
WB-P5-C2-R5

AutoCAD SHX Text
WB-P5-C2-R5

AutoCAD SHX Text
WB-P5-C2-R5

AutoCAD SHX Text
WB-P4-C2-R1

AutoCAD SHX Text
WB-P4-C2-R1

AutoCAD SHX Text
WB-P4-C2-R2

AutoCAD SHX Text
WB-P4-C2-R3

AutoCAD SHX Text
WB-P4-C2-R3

AutoCAD SHX Text
WB-P4-C2-R3

AutoCAD SHX Text
WB-P4-C2-R4

AutoCAD SHX Text
WB-P4-C2-R5

AutoCAD SHX Text
WB-P4-C2-R5

AutoCAD SHX Text
WB-P4-C2-R5

AutoCAD SHX Text
WB-P2-C2-R1

AutoCAD SHX Text
WB-P2-C2-R1

AutoCAD SHX Text
WB-P2-C2-R2

AutoCAD SHX Text
WB-P2-C2-R2

AutoCAD SHX Text
WB-P2-C2-R3

AutoCAD SHX Text
WB-P2-C2-R3

AutoCAD SHX Text
WB-P2-C2-R3

AutoCAD SHX Text
WB-P2-C2-R4

AutoCAD SHX Text
WB-P2-C2-R5

AutoCAD SHX Text
WB-P2-C2-R5

AutoCAD SHX Text
WB-P6-C2-R1

AutoCAD SHX Text
WB-P6-C2-R2

AutoCAD SHX Text
WB-P6-C2-R3

AutoCAD SHX Text
WB-P6-C2-R3

AutoCAD SHX Text
WB-P6-C2-R3

AutoCAD SHX Text
WB-P6-C2-R4

AutoCAD SHX Text
WB-P6-C2-R5

AutoCAD SHX Text
WB-P6-C2-R5

AutoCAD SHX Text
WB-P6-C2-R5

AutoCAD SHX Text
WB-P6-C2-R5

AutoCAD SHX Text
SEE SEPARATE EVALUATION REPORT FOR ALL ROOF PANEL SIZING

AutoCAD SHX Text
FOUR SEASONS SUNROOMS 230 SUN & SHADE CATHEDRAL DESIGN

AutoCAD SHX Text
V3s 120 MPH WIND LOAD EXP. C 2012 IRC

AutoCAD SHX Text
Vult 150 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) & 2019/2022 CBC

AutoCAD SHX Text
ROOF PITCH : 4 ON 12 

AutoCAD SHX Text
LOAD: 20 PSF / V3s 120 MPH WIND LOAD EXP. C 2012 IRC

AutoCAD SHX Text
LOAD: 20 PSF / Vult 150 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) IBC/IRC & (2019)/(2022) CBC

AutoCAD SHX Text
(4) 3/8" RIDGE TO CLIP SEE DRAWING "13"

AutoCAD SHX Text
(6) 3/8" RIDGE TO CLIP SEE DRAWING "13"

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
LOAD: 30 PSF / V3s 120 MPH WIND LOAD EXP. C 2012 IRC

AutoCAD SHX Text
LOAD: 30 PSF / Vult 150 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) IBC/IRC & (2019)/(2022) CBC

AutoCAD SHX Text
LOAD: 40 PSF / V3s 120 MPH WIND LOAD EXP. C 2012 IRC

AutoCAD SHX Text
LOAD: 40 PSF / Vult 150 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) IBC/IRC & (2019)/(2022) CBC

AutoCAD SHX Text
LOAD: 50 PSF / V3s 120 MPH WIND LOAD EXP. C 2012 IRC

AutoCAD SHX Text
LOAD: 50 PSF / Vult 150 MPH WIND LOAD EXP. C (2012) IBC, (2015) (2018) (2021) IBC/IRC & (2019)/(2022) CBC

AutoCAD SHX Text
DESIGNERS AND MANUFACTURERS

AutoCAD SHX Text
5005 VETERANS MEMORIAL HIGHWAY

AutoCAD SHX Text
OF

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JOB#:

AutoCAD SHX Text
DWG. BY:

AutoCAD SHX Text
REV. No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
HOLBROOK, NEW YORK 11741

AutoCAD SHX Text
BY

AutoCAD SHX Text
%%UFOUR SEASONS SOLAR PRODUCTS, LLC.

AutoCAD SHX Text
REVIEWED BY:

AutoCAD SHX Text
DRAWING TITLE

AutoCAD SHX Text
OF FOUR SEASONS SUNROOMS

AutoCAD SHX Text
SHADECATH-22

AutoCAD SHX Text
22

AutoCAD SHX Text
22

AutoCAD SHX Text
1-10-11

AutoCAD SHX Text
RD

AutoCAD SHX Text
AS

AutoCAD SHX Text
230 SUN & SHADE CATHEDRAL

AutoCAD SHX Text
120 MPH LOAD CHARTS

AutoCAD SHX Text
1

AutoCAD SHX Text
2-16-14

AutoCAD SHX Text
RD

AutoCAD SHX Text
2

AutoCAD SHX Text
12-31-15

AutoCAD SHX Text
RD

AutoCAD SHX Text
3

AutoCAD SHX Text
10-1-18

AutoCAD SHX Text
RD

AutoCAD SHX Text
4

AutoCAD SHX Text
9-24-19

AutoCAD SHX Text
RD

AutoCAD SHX Text
5

AutoCAD SHX Text
7-18-22

AutoCAD SHX Text
RD


	Sheets and Views
	SHADECATH-1
	SHADECATH-2
	SHADECATH-3
	SHADECATH-4
	SHADECATH-5
	SHADECATH-6
	SHADECATH-7
	SHADECATH-8
	SHADECATH-9
	SHADECATH-10
	SHADECATH-11
	SHADECATH-12
	SHADECATH-13
	SHADECATH-14
	SHADECATH-15
	SHADECATH-16
	SHADECATH-17
	SHADECATH-18
	SHADECATH-19
	SHADECATH-20
	SHADECATH-21
	SHADECATH-22




